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PREFACE

' This volume is intended for students of Advanced
Russian, who are presumed to have a functional knowledge
of eSsential structures and a sufficient command of basic
‘wocabulary to attempt the mastery of more sophisticated
patterns,

Thé main emphasis is on syntacticél structure,
stylistics of both the written and spoken language, general
semantics, and the use of idioms. The subject of morphol-
ogy is confined to unusually troublesome cases, and the
end-glossary is limited to items deemed essential to the
expeditious working-out of exercises,

The form of the present book is that of a statement
of an item of grammar, followed immediatély by exercises
which exemplify it and test the student's comprehenéion of
the point explained, Thus, it can be called a.combination
text and workbook or a "self-contained workbook,'
| All but the final exercise of each unit is expected
to be completed in the course of oﬁe class period of sﬁper-
vised study, Exercises are self-corrected at the end of the

hour, when the instructor explains and verifies the answers,

The last exercise, consisting of sentences to be translated

into idiomatic Russian, is to be done at home,
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UNIT 1
SUBSTANTIVES
1

Item: Many nouns in Russian are derived from verbs and end
in -aH#e and -eHue. Many such nouns have antonyms of similar
derivation, Identification of such antonyms will help build your
vocabulary.

Exercise: Match the verbal nouns in column 1 with their
antonyms in column 2 by placing the numbers of column 1 in the
corresponding parentheses of column 2, Example: the antonym of the
first word has been identified by placing the number '1" in the
parentheses preceding the antonym, Column 2 has more items than
column 1, because several non-matching nouns have been added as
distractors, When called upon by the instructor, read a phrase
from column 1 as directed, then substitute the appropriate antonym,
€eSe

3aMelJeHNe Xoza 1oesza. - chogenne X0Za moe3na,

8) HacTymrenue Boiick.

BHAHXaHHAE
9) CHHXeHMe L8H Ha pHHKe.,
ocJaalbJeRue
10) HeoxuZaHHOS NOSIBJAGHHE.

NOUN ANTONYM
{ ) mouTexnme
1) 3amenseHHe xoza [O63ZAa,
( ) ncue3HOBOHHe
2) MezsenHOe BIHXAHME,
( )  noBmmenne
3) BuYXMTaHMe YuCeJ.
( )  caoxenme
4} VYcurewne BeTpa.
: ( 1) yexopeuue
5) JYayuuenue 340DPOBBA.
( )  npasaHOBaHHe
6) PacwupeHHe KPOBEHOCHEX
COCYZOB, ( ) OTCTYILIOHRS
7) BhesanHoe IOXOJOLAHME.
( ) .yxymmesme
)
)
)

(

Reference: : « { ) cyxeume
1 siowing down; 2 inhaling; 3 subtractiony 4 growing stronger;

<

< improvement; 6 dilation; 7 drop in temperature; 8 offensive;
9 reduction; 10 appearance, ,

IIoTenJ eHue



in column 2 as

Ey)
2)
3)
k)
5)

6)

7)
8)
9)

10)

" 11)

12).

Reference: 1 fatherland; 2 agreement; 1
profession; 4 appearance, exterior; 6 cunning, ruse; 7 superiority,

predominance; 8 order; 9 use; 10 surprise; 11 amusement; 12 wish.

Item .

Exercise: Match the nouns in column 1 with their synonyms
directed in Exercise 1,

NOUNS

MH BCce CAYXHM OTEYECTBY.

Corsalnenre NOANHCAHO.

Nloayueno Baxmoe _cCooSmexue.

Kaxana Bama cne

¥ Hero npuaTHAT HADYRHOCTb.

B ee raaszax CKBO3HT XHTPOCTh,.

Ham ¢uror saxpenma cBoe mpe-

AJAHHOC TS ?

BOCXOACTEBO HA MODe.

OamaxoMpTeCH C pacropaxeHHeM

navajapcTBAa,

Yro BH 3HaeTe 06 YnoTpeGse HRH

3THX MATepPHaJOB?

On BEpasma cBoe kpalinee

YANBAGHHS ,

B aroM ropoze mano passieuvenmif,

5 3HA® O ero WOeJAHHH CTAaThH
KOCMOHABTOM,

vvvvvvvvvvvwvv

The ability to find synonyms for known words is an
important step in mastering a language,

SYNONYMS

CHMIIATHS
npodeccHs
JAYyKaBc TBO
ncﬁoasaohanne
nHbPOPMALHST
Tpesora
pozZuHa
ZOroBop
H3YMJAOHAS
YZOBOJILC TBHE
CcTpeMae HHe
NIpRKas3aHue
BHEWHOCTH

nopeobaagaHre

3 communication; 4 specialty,



tive traits.
"N" for negative.

3

Item: Many characteristic traits of.human behavior have
either a positive or a negative connotataion,

Exercise: Test your recall or ''feel" for the @egning of the
words below by indicating whether they denote positive or nega-

In the spaces provided write "P" for positive or
For example, JANGO3HATEXBHOCTHL, 'wish to learn,’

'thirst for knowledge,' has been identified as positive, and
ADGONHTCTBO, ‘'curiosity,' 'prying' or 'being nosy,' as negative,

1)

2)
3)

L)

5)

- 6)
7)

8)

9)
10)

1)

12)
13)
14)
15)

OTOT Yy4Y6HHH CO WKOJBLHHX JeT NPOSBALA COZRIYD
JANGOSHATOABHOCTH,

BH mposBJisIeTe M3JUITee JIGOMHTCTBO,

B nponsBeAeHHAX ITOINO NHCATENS OTpPalsKaach ero
raysorass 0Gpa30BAHHOCTD.

OTOT Y6JIOBOK BCOM HaZ06J CBOAM IIOCTOSHHHM
XBac TOBC TBOM,

HyxHO CcTpOro cJeZATH 38 TeM, YTOOH B AOTIX He
BHPaGATHBANACH JXHBOCTD.

MHOrHMe CcUNTaHT TPYCOCTh CAMHM XYMUXM X3 IIOPOKOB,

YacTs, XOTOpOo# KOMAHAYET IOJKOBHZK JIYKHH, OTAXTIRETCH

cBoeit AMCHHIIEHIDOBAHHOCTHI o

B ceneltwoii xM3HHM Hall HAYAJABHAK IIPOABJSAET NOJAHYH
6eCXaDAKTEeDHOCT b, -

B aTO¥ name MHe HpaBHATCS BCE, KpoMe o8 GOATIHUBOCTH.

OcnoBaTesp 3TO# dmpMH GHX M3BecTeH cBoelt
NIPOLNPHEAMIABOCTHD o

CTHx®m 3TH He OY6eHh XOPOUIX, HO NOAKYNAnT cBoeii
HCKPSBHHOCTHN o

Ham zapyr sapaxaeT Bcex cBoeit EXHB3HOPALOCTHOCTHL ¢

HagasrscTBO JOCHT HCHOJAHATEJALHOCT B CJIYRAIMX.

B pa6oTe Gyxraxrepa HyxHa AKKYPATHOCTH,

Y Hero He XBATHJO CMOJOCTHE NOoHTHE Ha Taxoit prnﬂﬂﬁ
PHCK,

(P)



4

Item: In Russian, sentences involving motion or the location
of persons or objects with respect to each other, a reversal of
direction or change in location, brings about not only a change
in verbs, but also in prepositions and in the morphological form:
of the nouns involved,

Exercise: Read the following sentences and then make up new
ones of opposite meaning.

Example: HmxeHep yexas Ha 3aBOX, - ﬁnxenep opEexas ¢ 3aBoza.
1) Koxxossmkm ezyr Ha pasoTy.
2) PaGoTHuna BO3BpamaeTcs ¢ aCpuKH,
3) Ma&ban HeCE&T KHUI'M B CHCAHMOTOKY.
4) IHepex momom pacnoxoxer cax.
5) Croamk cTouT 3a auBaHOM.
6) D5TO CTEXOTBOpeHHe BamOMMHAETCH ge3 TpyZaa.
7) { Dosoxmx Bemm B uemozaH.
8) Jerz BosBpaTmamCH ZoMO#t ¢ uBeTawm.
9) XyzoxHWK NOBECHN KAPTHHY HA CTeHY.

10) Tpozapen CHAJ MafBTO ¢ BEmAJKH.

11) Mo#i ApPYr yexa: paGoTaTh Ha NEJHHY ¢ corJacus

pozrTeseii,

12) mpexTop yexan B oTunyck Ha Kaskas.



Item: Word combinations are an important feature in the
system of a language, Knowledge of habitual associations of
nouns used in the target language to express different shades of
thought is indispensable to achieving fluency of speech, Some-
times several variants of combinations are possible, :
Exercise as The following four words have a partitive meaning:

1, JoMTHK (slice)
2, YacTs (part)
3. TMopums (serving, order, portion)

4, /[o3a (dose)

Match them with the nouns below by placing their numbers (1 to 4)
in the parentheses provided,

Example: 1In the case of 'ice cream' the choice has been identi-
fied as 3 and marked accordingly, Occasionally more than one
number will fit,

1) (3 ) MODOXEHOTO 8) ( ) cﬁoraopnoro
2) « ) Gopita 93 « ) Msaca

3) ( ) xJe6a - 10) ( ) xapeHO¥ pHOH
4) C ) aoMma 11) « ) BeTYRHH

5) ( ) apéysa 12) ( ) Teasa

6)  ( ) ZeHer 13) ( ) pocT6uda

7) ( ) CHPY 14) ( ) JexapcTBa



Exercise b: Match the following words with those appearing in
the column below, '

1, LUexs . (aim, goal)
2, Hneax (ideal, aspiration)
3, Hasravenme (purpose, mission)

4, Ipeamer (subject, theme)

Example: In the case of 'life' the choices have been identified
as 1 and 2,

1) (1,2) KUIHE

2) ( ) O6GCYXAOHHUS

3) « ) YeJ0BOKA

4 C ) MoJonEEH

5) « ) anmapara

6) « ) B3y4YeHUs

7) « ) ONHTA

8) «¢ nyTellec TBHs
9) « ) nejarora
10) « ) NnOoe3AKH
11) « ) criora
12) « ) npuéopa



Exercise c:

1)

2)

3)

4)

5)

6)

7)

2)

1)

Combine

1. @poyHocTs (solidity, durability)
2. TeépmocTs (hardness, firmness) and

3. HazéxwoeTs (reliability)

with .the words given below.

~ Ayxa 8) « ) JNOZKA
TTOC TPOHixH 9) ( ) TKaHA
TOBapuua 10) ( ) MeTaJLIa
XapaxTepa 11) ( ) MOCTa
MMOMOUHUKE . 12) ( ) o6yBH
IIPOBOAHUKA .13) ( ) KaMHS
COOpYXeHus 14) ( ) MHOHHAS
15) ( ) wmaTepmnaaa



Exercise d:

1)

2)

3)

4)

5)

<))

7)

8)

9)

10)

(1)
( 2)
« D
« )
«
« )
« )
« )
« )
« )

Combine

-

1. YysctBo  (feeling,

2, Cocrosrue (state, condition)

with the words below.

6oau
GeaaeiicTBES
%aJOCTH
BOJHE HUS
cTpaxa
BOUHH

TOCKH
pPazocTH
38aBHCTH

JAr0BH

1)

12)

13)

14)

15)

16)

17)

18)

19)

20)

3Z0pOBBS
wMopa
COGCTBEHHOI'O
AOCTO¥HCTBA
roJgozna
HEeYBEPEeHHOCTH
BOBOYXAOHUA
HeHaBHCTHR
(hatred)
3JOO6H
BOCTODIa

(elation)

PABHOAYUIHNSA



Exercise e: The following words mean break, recess, or
intermission, Each has its own area of usage,

1. lepemera is used for recesses in elementary and high schools,

2e llepepuB refers to recesses between lectures in institutions
of higher learning and, in general,interruptions in
activities or work,

3. AmrTpakT is used for intermissions in films and playse.

Match them with the words in the column below.

1) (3) B LIupKe

2) ( ) MEXAY JAOKUHAMHU

3) ( ) B TeaTpe

4) ( ) B SaHATUAX

5) ( ) B padoTe

6) ( ) B~mkoae

7) ( ) MeXZy NepBHM ¥ BTODHM OTZASJeHHeM
KOHILepTa X

8) ( ) MexZY YporaMu

9) ( ) B 3acelaHuu

10) ( ) B XKYypCe JedYeHUs



6

At home make a written translation of the following sentences
* into idiomatic Russ;an.

%

1) The disappearance of these important documents causes me 2
great deal of worry.

2) He was awarded a medal for bravery in coﬁbat.

3). There is a matked‘improvement in the condition of the patient,
4) This young man got married without ﬁis parents' consent,

5) I learned this poem by heart without difficulty..

6) This event will be the subject of conversation for a long
. time to come,

7) This businessman is known for his spirit of enterprise,

_ 8) 1 ordered a cup of soup and a serving of fried fish.

9) Be careful not to take too strong a dose of that medicine,

10) How many slices of ham did you buy?

11) This man has a well-developed sense of humor,

' 12) After the first act of the play there was a short intermission,

13) He did it only out of pity.
14) There is a marked change in her feelings towards us.

15) We found our friend in a state of great excitement,

10



UNIT 11
ADJECTIVES
1l

Item: The adjectives xpenxmii and cmasuu# are both translated
into English as ‘'strong.‘ TEe;r usage sometimes overlaps, but in
most cases it goes along the following lines: xpenkmif is applied

to beverages, solutions,and to such items as to%acco, cigarettes,
sleep, etc., cmapunif iS used in speaking of feelings and sensations,
atmospherics,and wherever physical manifestations of strength are .
implied, '

Exercise: Match the adjectives
1, Kpenkni
2. Cnasuui
with the nouns appearing in the column below, by placing numbers
1 or 2 in the parentheses provided, Example: The first two words
in the column have been matched with the ad jectives as follows:

Kgnxoe nMAaBo - CuamHass 6O0Jab

1) (1) I¥BO 11) «( ) Kode

2) (2) 6oas 12)_ ( ) TedeHHe
3) «( ) xoJaon 13) ( ) XesaHne
L) ( ) HaMATOK ) ( ) BHHO

5) ( ) xapa 15) « ) coH

6) ( ) GyNBOH 16) «( ) XapaxkTep
7) ( ) 3HO# 17) ( ) | uait

8) « ) Raxaa 18) « ) 6yps

9 ( ) BeTep : 19) ( ) MeTean
10) ( ) pacTBOD 20) ( ) yparan

11



: Item: The adjectives cumAbHHH and MOUHHE are both trans-
lated as 'strong' or ‘powerful,"CuasHuif 1s mostly used when
speaking of thé strength of living beings or with reference to
natural phenomena and abstract nouns, MouwHHH is mostly applied
to technological and industrial items,

Exercise: Match the adjectives
| 1, CmapaHA
2, Mommui

with nouns listed in the column below and proceeding
as in Exercise 1, The first 2 items have been

identified,

1) (1) JAomaznb 9) ( ) CTAHOX

‘é) ( 2) TYp6UHa | 10) ( ) TpoTecT

3} (. )  npoummremsocTs 11) ( ) BeTep

L) ( ) YeJOBeK 12) « ) ABUATaTeNb

5) ( ) vamyHa 13) ( ) Boxam

6) ) « ) MYCKYAH ) ( ) aen(xg:;rggg:::ee)
7) ( ) aJleKTpocTARUMS  15) ( )_ XHBOTHO®

8) « ) xapakTep 16) « ) AOXLB

12

#



Item: The adjectives gpywnm# and Apyxeckail, although
derived from the same root, now mean quite different things,
IpyxEni is used to describe well-concerted activities, marked

Y goo

team work, or a closely-knit family, etc, Apyxeckuit
on the other hand, means *'friendly,! 'emanating from a friend,!'
as for instance, in 'friendly peop e,''friendly advice.!'

Exercise: Match
l, Ipyxuuh
2. - Jpywxecxnif

witbh nouns appearing in the column below, same -
as you did in the preceding exercise,

1) (1)  cmnopruemau xomamza 7) ( )  ceuss

2) (2) ITHC BMO 8) « ) coBerT

3) ( ) padoTa 9) (. ) yermmsa

L) ( ) I puBeT | 10) ( ) 6ecexna

5) ( ) KOJLIEI{ THB 11) ( ) npoTecT
60 ()  nowmom 12) ()  orsomemme

13



4

1tem: The adjectives TB&pau# and xgcTkmi# both mean 'hard.'
However, TBépauf#f may also mean 'firm,' whereas x¥cTxkulii is some-
times translated as 'rough,! 'stiff,' The relative degree of
hardness conveyed by these adjectives may be illustrated by the
following examples: TBEpAsif MeTaJl, XECTKHME BOJOCH, XECTKOS MSICO.
In some instances TBEPAHA and XECTKHA are used interchangeably,
as, for instance, in speaking of articles of furniture; €eLe
XECTKOG HAN TBEDPAOE KPECJHO, Note that on Soviet railroads there
are two types of cars: - uArKkd# BaroH and TBEpaHi BaroH -
'upholstered seats'or 'wooden benches,®

Exercise: As in preceding exercises match
1, Te8paul
2, XEscrkuit

with the nouns listed below, °

1)  (2)  xoxa 7) ( )  xawens
2) (1) Mex 8) - ( ) PO3UHKA
3) « ) AHB&H 9) « ) Kapauzam
L) « ) TKaHb 10) ( ) nocreas
5), ( )  wepers 1) () xapaxrep
6) ( ) 3emast 12) ( ) HaMepeHre

14



5

Item: Mosono# and HOBHY are closely related in meaning, refer-
ring as they do to somebody or Something that has lately come
(or been brought) into existence. Mosozo# is applied to anything
that lives, human beings, animals and even plants (moxozoit
xaprodesnr for 'new potatces'); HoBu# qualifies all the rest
(voBOe nxaTre, 'new dress'), With nouns expressing a profession or
a function both adjectives are being used (moxozo# yumrTean, HoBEY
yuuTeJas),

Exercise: With this in mind, proceed to match

1. Moxonoit
2, HoButt

with nouns listed below, using the same procedures
as before,

1) (2) rox 9) ( )  wexomex
2) ( 1) TpaBa ' 10) « ) nIaTnLe

3) « ) ropoA 11) « ) HAYAJABHUK
Iy ( )  nepeso 12) ( ) KHUTR

5) ( ) xnsbraoe 13) ( ) 3aKOK

6) ( ) rocyzaspeTBo 14) ( ) ZeBymKa
7) ( ) oM | 15) ( ) cexpeTaps
8) ( ) PyuKa

15



6

Item: The adjectives xaprr# and ropaum#f both mean 'hot.® The
first one is used when speaking of weather conditions, In most
other cases involving physical objects the adjective ropaumit

. is used (xaprmif noanems, but ropsyas Boza).

Exefcise: Match
1, mapKKﬁ
2. lopaunit

with the nouns appearing in the column below,

1) (2) xope
2) (1) gems
3) « ) cocmekn
L) « ) moroza
»»»»» i ) ( ) Gymson -
6) « ) JeTo
7y ) BeTep
8) ( ) xapTodess
’ - - 9) ( ) 3aBTpaK
10) ¢ ) MOJIOKO
11) « ) 3aKyCcKH
| 12)‘ ( ) neys

16



7

Item: T¥umu# (*dark') and wpaumuli ("gloomy') convey ideas akin
to one another. The first is mostly used in cases where the
stress is on color; the second is used to qualify mood, thought
or feeling, In some instances only one is applicable (T8M
KOCTKM, MPayHHe AYMH); in other cases both may describe the same
noun, (TEMHAS HOYb, MpadHas HOYB).

Exercise: Match
l. TemumHit
2., Mpauunii

with the nouns below,

1) (1) Boaocw 9) ( ) uBer

2) ( ) ©pxasa 10) ( ) paccyzzenme
3) ( ) B3rasax Ha Beuwwu 11) | ) uucawm

)y ( ) mrarse 12) ( ) meSo

5) ( ) wmupoBosspenue 13) ( ) mnacTpoemme
6) () xowxara W) () mow

7) () Bua 15) ()  axuunocTs

8) ( ) nepcrnexTuBH 16) ( ) noroaa

17



8

Item: Some adjectives assume different meanings, depending
on the word they modify. Therefore these adjectives sometimes have
different equivalents in English, e.g. TOJKOBHH 4YeJOBOK
tefficient, smart man'; TOJXOBHi cJOBap:,'explanatory dictionarye.!

“Exercise: Translate the following items, taking care to find
the correct English equivalents,

1) Bausxoe paccTOAHHO, BuMBKHHE ApPYr.
2) Henaxsxzi nyrs. Hesanénmil uesoBeX,
3) Cupas nmoroza. CHpoe Geabd., CHpOe M:CO.

L) Xryuee coxrume. Xryuuii Baraan. Xrysas 60Jb .
Xryuas OGRZA8.

5) JIoGONHTHHE Magpuuk, JoSonuTHaY caysait,
6) Msarkas mepcTh. MAPKO® zaka3anie.
7) TIpy6uit matrepran. I'pyGHit uesoBex.

8) Cnexu# BeTep. CBexuMe NPOAYKTH, C(Bexee JHULO,.
CBaxme HOBOCTH,

9) Peaxxit yec., Penkmit cayzait.
10) IZoporze Bemu., Jloporse cepiAuYy JOAH.
11) Opeauit apSys. 3peJaHid yM.

12) Tourm# aén. ToHKHUI MOD.

18



Item: Many adjectives have antonyms which are as widely
used as they are, Knowledge of such antonyms is an essential step
in acquiring mastery of a language,

Exercise: Test your recall or 'feel'" by substituting antonyms
in the following phrases, following the pattern shown in the
first item,

1) TIpouxn# roxoc { Tuxuz ) roJaoc
2) Boaswoid caa ( ) can

3) CaeTanii xopmzmop ( ) KOPHAOD
L) Beceaoe HacTpoeHme ( ) HaC TPOSHHRO
5) Cyxme apoma ( ) ZpoBa
6) BoawpuHO# 3Y6 ( ) 3y6

7) THosauas ocens ( ) OCeHB
8) Crapufi zomM ( ) oM

9) Crapuii vesaoBex ( ) YeJN0BOK
10) Tynas GpursBa ( ) 6puTBa
11) UmeTas Tapeaxa ( ) Tapeaxa
12) MeasorHOe TeueHHme ( ) Tevemnme
13) TI1yGoxoe 038po ( ) ozepo
14) JZoGpul cTapuk ( ) CTapHK
15) ToacTHE ampoM ( ) anrb60M
16) Xyznas nama ( ) xaﬁa
17) W¥arkas noaymxa ( ) MOAYIIKE.
18) Huxmnit srax ( ) aTax

19



g~ -

19) Topsymii cyn ( ) cyn

20) XoxozHas morozns ( ) moroaa
21) TemuH# KOCTIM ( ) KOC TIOM
22)' Caacuit waii ( ) yaii

23) CmabHHH# xapaxTep ( ) XapakTep
-24) Cxa6uii moTop ( ) MOTOD
25) Marxmi# kapanazam ( ) Kaparzai
26) Yunmas coGaxa ( ) so6axa
27) TIoasHi cTakax ( ) cTaxaH
28) Illoporas kHura ( ) KHHTa
29) BeceaHii Beyep ( ) Bevuep
30) limpoxas yauna ( ) yaue
31) JuumEn# Koxaan ( ) ZOKJSL
32)F TéMHas KOMHATa ( ) KOMHATA
33) Moxpoe nosoTexHle ( ) IOJIOTHIIe
3lj) Bucokroe zepeso ( ) 2epeBo
35) XenaTHli ueJsoBex ( ) YeJOBEK
36) Tpyanu# ypox ( ) JPOX

37) Jérkuit wemonaH ( ) YeMoLaH
.38) TlpocToe 3azauue ( ) 3azaHue
39) Xoxaoauul waik ( ) gaii

4LO) Crapmmz cum ( ) CHH

41) Tuxoe mexue ( ) IeHKe

20



42)

Liy)
45)
46)
47)
48)
49)
50)
51)
52)
£3)
54)
55)
56)
57)
58)
59)
60)

Nonoxurensuuéi barkrTop

lIpaBasa pyxka

ForaTHid pozcTBeHHHK
Marxkoe nakasaxmue
MEpTBRE a3mx
[lepenxee koxeco
Nocaeaunit paa
BuyTpeHHsss TOprosas
[lroxoi#t pouwan

CBox neHsIM
TFosoanu# waaAbYMK
danpIMEas MOHeETA
Bauskoe paccToaxnue
CeBepuuili nmoawec
llpecraa BOAa
Bamxxmit BocTok
ilncsMeHERE DKBaMeH
BpezrHass kH4DA

floste3Han nmia

21

ﬁ/\’\’\’\ﬂ’\’\’\’\ﬁ’\’\/\f\ﬁ’\’\f\

vvuvvwvvvvwvvvvvvvy

darTop
pyka

POAC TBOHHNK
HaKa3aHue
ABHK
KoJeco

pas
TOPIroOBAS
poyan
AeHHIH
MaJdbYuK
konera
raccTossHue
TCIRe

BOZA
Bocrok
SK3aMeH
KHUDPA

mua



o av—tan

10

At home make a written translation of the following sentences

1§

2)

3
.
5)
6)

7

8)."

9)

10)

1)

12)
13)
14)

15)

into idiomatic Russian,

This wine is too strong for me,

We tried to cross the river at a ford, but the current

proved to be too strong,

It is pleasant to see such a close-knit family,

I am accustomed to writing with a very hard pencil.,

The fruit trees in our garden are stiil vefy young,.

A new five-story building is going up on our street.

It would be nice to have some hot tea now,

He seems to be in a somber mood today,

In my opinion, this young man has a remarkably mature mind,
1 consider this to be a very mild punishment for what you did,
You can always get fresh eggs at this store,

His arrival is a real holiday for us,

We have both oral and written exams,

In my opinion, he is a man of limited intelligence,

Give me aﬂothe; knife, This one is quite dull,
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UNIT 111
ADJECTIVES
1

l1tem: Qualitative adjectives have two forms: the usual long
form and a short one:zo6puii and Zo0p. The use of short adjectives
in modern Russian is ra?ﬁer restricted; they are never declined
and appear only as a part of the predicate., The long form ad jec-
tives, of course, may also appear in the predicates; e.g, Hall
HaYaNbHAK O9YeHb_CTpPOr Or OYeHb cTporuh. In the vast ma jority of
cases the short form of ad jectives is easily arrived at by removing
the suffixes u#f or B, as seen in the above example, However, in
the case of adjectives with the stem ending in k or H, the fugitive

vowels o and e appear, for reasons of euphony, in the masculine
form only, '

jo

appears when the final X is preceded by a hard consonant
SIDRAR, SPOK, sHpPKA

appears when the final k is preceded by X,4 or a soft
consonant TI'OpbKHRif, rOpexk, ropskxa

also appears when the stem ends in H

HanéxHH{, HagExeH, HaAExHA .

a2 notable exception is noxaunit, nmoJo=n,

I

jo

Exercise: On the basis of the information given above, form
short adjectives taking into consideration fugitive vowels,
Follow the pattern set for the first item of each column,

Fugitive o
1) G-HHSKKﬁ, 6“301(, 6anaxa 10) Markni 00000 0s00000cs0o0r
2) HR3KAH ee000c000cs0ssccess 11) TOoRKRH tec0v0000000000000e
3) yoxmit ©0000000ccvc0ccene 12) xcapxnﬁ ®0e00c0s000svcecene
)-I-) JOBKRHY ev0000000c0s00000e 13) xnaxnit 00000000000 cscrsoee
5) JAErKuUU e00e000esessesesseo 1)4-) JOMKR% 000000 cs000000000000
(fragile) -
6) MeJaxn i 00000ceco0sccosene

15’ raazaxei 80 0cccecssessccnsec
7) peaxult ss00c0s0c0cs00sese (smooth)
(harsh, sharp)
16) pooxrnit s00c000000c0cccccoce
8) RaNKHA ®00000ce0000c000000 (timld)

9) cJ‘[anKKﬁ R R Y Y YYYYes 17) I‘pouxﬂﬁ e0 0000000000000
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1)
2)
3)
L)

1)
2)
3)
L)
5)
6)

7)

8)

9)
10)
11)
12)
13)
14)
15)

16)

Fugitive e

taxkuit, Thmer, Taxki (heavy,grave)

¢

Goiixmit, 6bex, co#ix4 (smart, pert)

cTodrni

ropekni

Fugitive e
CEOGOAHHI,
ZOBOJBHHH
CTnOKOHHHH
Gexnuuii,
GoJaBbHOH
GaenHuR
ppezasnit

ronHui

..O............l.".....‘..(steadfast)

cBOGOZOH, CBOGOAHA

cecesereecvacecscacaarona
cesctscrseccessensesances
Genex, GeaHa

cesccsccssscesssecoceeses
ceecesesesscescoscscsssss
cecescccssssessssecsssses

0O 0P COCOFOOOOOOOOSISIOISEISIOSOSESOSEDS

(good for, fit for)

Ppsi3HHEN
HOPBHHI

AAAHHEH

. BaxHu#

TPYAHHH
qec THHE
MpadYHHHA

yMBEET

P9 90 0O COSOGOSSOESNOSOOGESIOSOCTOODS
® 00 B 0 0000 0000 0SSO RSOSGS TGS
® 9 0 0 00 00O O OO POSGO PSS OSTODS
® 06 00 S0 QOGPPSO O OO0 OCSODNTOSPOSOES
.0.......0..0.............
O 0 06000 088 0C 000G OO LOEPIOEYS

YMEH, yMHE

2L
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Item: As said before, both long and short adjectives may
function as predicates, Short ad jectives on the whole belong to
a style that is more literary than colloquial, but the short forms
of some adjectives are nevertheless in very frequent use,

Exercise: 1In the following sentences replace long forms of
ad jectives with short forms, Example:

OTOT MaJBYMK OYeHd» HODBHHY u = O3TOT MaABYAK OYeHD HepPBEeH H
poéknii, : poGox,

1) Bosayx cerozus AYUACTHH, cBexHif m moxum# osoma,

2) Ospar 3a AepeBHOH PaAyGorkmi m Mpawwuuil,

3) Houp cBeTsaT M mpoxaanHas.

4) MocTmk wepes pyueit moeraroumo mupoxkui u yeroiumsmii.
5) TIoxoc y nesnua xpacnsgﬁ H Moryumi,

6) ILers ceroans npexpacuui,

7) HeGo uwmecroe.

8) Boaa B pexe Ipo3pavHas,

9) Oxoao namero TOpoZa pexa y3ras, HO TayGoKas,

10) OToT GoabHOi oueHs GuemHHi.

11) Jléx Ha pere em& TomKmi,

12) Oxean ceroxzzs emoxofimuii,
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ltem: While both long and short form adjectives may function
as predicates, only:long form ones are used as modifiers.

Exercise: Change modifiers into short form predicates re-
modeling the sentences according to the pattern set for item 1.

1) D9ro raynsif gesoBex, : 9TOT Y6JOBEK IJyl.

"2) DSrto HanpacHHH rpin. e e 06 6 o o o o o ¢ s o s o o e
3) DTo HeONHTHHH palOTHHK. e o 0 6 0o 6 5 o 6 8 8 ® o e &
}) Dro ovenr mmaas ZAaMa. e o o o6 6 s8-°6 6 8. o o 0 0 o o o
5) 9ro yuuu# Moaozoil wesoOBEK. e o o o 0 0 o o 8 ¢ o 0 o o o »
6) Dro BpesHas mmmua. e 6 0 6 o o s o ¢ & o o e o o o
7) 9To xaaKas TMONHTKA, e e e e e e e o 0 o o e
8) DOTo HyxHas KHAra, 6o o 0 e o o 0 0 e o s s o e . o
9) 23TO cMepTeJbHas GOJNE3Hb, o o 6 6 0 0.6 0o 8 ® o o o o & @

10) 9STo0 onmacHas paHa, c o 6 o o6 o6 0o 0o 0 s 06 0 o o o o

"11) D3To Tynoii HOX,. « o 0o e s o o .,; e o 6 o o o o

12) 3To HeyZadHH! poMmaH, R AR I NN I

13) DTo 60abHOH YeJSOBOeK., - e e e 8 8 o ® o e o 0 & o & e o

14) 9STo BaxHOE ZAeJoO.
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l1tem: Adjectives forming part of phraseological units or being
used in a figurative sense,e.g. Beau#i zoM cannot become predicates
and therefore cannot be put in a short form,

Exercise: Read the following items and determine where the
ad jectives in long form may be replaced by short ones,

Example: Geauit wea; Beauit nou

The substitution is possible only in the first instance where -

GesHii may become a predicate Mea - Geux.

1) Yspuass xoxa. | Yéprass HeGJArOZapHOCTD.
2) TayGoxmii THi. TayGoruit npyx.
3) Kocue yrau. KocHe raasa.
) Tuxm# roaoc. Tuxn# oxeax,
5) HKpacuaa pyGamxa, Rp;cHas nrowmansb .
6) HecuacTumit cayuaii, HecuacTHuH wesoBex,
7) Pay#oﬁ YeJOBEK, Layxas ecrena.
(blind wall)
8) Caemas aomazs. Caemno#t cayuait,
9) TémMHas JHIHOCTS. TéMHass HOYB,

(doubtful character)

10) HKpyraas Gawns, Kpyrane cyrxu,
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Item: Short adjectives expressing size of ten convey the

idea that some object, although not in itself too long or short,
etc., happens to be so in some particular case, Examples:

STOT KOCTIM BeJMK (Man) AJAsS MeHI. - too large or too small for me.

Exercise: In the text given below make up sentences following

the pattern set in item 1.

1)

2)

3)

L)
- 5)
6)
7)

8)

9)

10)

BydeT BHCOKH# = = 3Ta KOMHATA

BybeT BHCOK AJIA 3TO¥ KOMHATH.
o A e ]

Croa Hu3Kn# - raéuHeT
lixad nmpokur# - 3TOT NPOCTOHOK
(stretch of wall between windows or doors)
Yemonay TaxEaAr¥ - s
YynpaxneHHe TPYAHO® - cryﬁenrn

Muaxax ys3kui - épar
KocTioM AnRHEHN - MaJbYUK
[laasTO KOPOTROE - oreu
BopoTHEK Yy3KHii - IeBOYKa
KBapTupa zoporas - MH
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Item: Adjectives in their short forms were in much wider
use in former days, They still exist in many colloquial terms
widely used by speakers of Russian,

Exercise: Read the items in column 1 and match them with
their English equivalents in column 2 by placing numbers in the
parentheses in column 2, Example: the meaning of the first item
has been identified by the placement of the number "i" in the
parentheses preceding its English equivalent, Column 2 has more
items than column 1, several non-matching items having been added
as distractors,

COLUMN 1 COLUMN 2
1) Ha naowasgs BHCHDaJa Bcs
AepeBHS OT Maia zo Besuka, ( 1 ) Young and old,

2) JlaToM ¥ KOJXOSHHUM ¢ ) Bad business,
XJOIOT IOJOH POT.

( ) Big mouth,
3) ¢ Bac apecTyn! - KTo? Bu? :

Ilna aroro y mac DPYKH KODOTKH,
(

) One smaller than the other,

4) Iroxo zeso, moaymax Bpavy,
BHCJAYIINBasT GOXBHOT'O, ( ) Take yourself in hand,

( ) Sticky fingers,
5) Cemss y Hac Goamuas, ReTw

MaJ-MaJi MeHmlie, ( ) That's beyond ysur power.,
6) OH Ha PYKy He UNCT, ( ) She has her hands full,
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Item: Adjectives with the prefix He and the suffix &M
or M usually indicate-.that the word they describe is in a state
that is not subject to change,

Examples:HemameHseMas 9YacTh pPedH. A part of speech that does not
’ change its form,

HeucnpaBEMas ommCkae . An error that can no longer be
corrected,

Exercise: Match the adjectives in column 1 with their English
equivalents in column 2 by placing the numbers of column 1 in the
corresponding parentheses of column 2, The equivalents of
the first items in each set have been identified by the placement
of numbers "1" in the parentheses preceding its equivalent, Several
non-matching nouns have been added to column 2 as distractors.

COCLUMN 1 COLUMN 2
a., 1) HempmemieMoe NpPEANOXEHHE.

( ) indisputable
2). HemccsikaeMHi HCTOYHUK, ( ) inflexible

« 1) unacceptable
.3) .Hemocsraemasi BHCOTAa.

( ) indescribable
}) HemmHyemas Geza. ( ) inevitable

( ) firepfoof
5) Heomuecyemas pazoCTh.

( ) indomitable
6) HenpomoxaeMuii nuaiu, ( ) impenetrable

( ) inimitable
7) Henponmuaemas ThbMa.

( ) inexhaustable
8) Hecropaemu# maTepwmadx, ( ) inaccessible

( ) waterproof

9) HemozpaxaeMOe HCIIOJHEHHS,

10) HempeperaeMuii aBTOPHTOT.
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b.

COLUMN 1

1)
.2)
3)
4)
5)
6)
7)
8)
9)
10)
11)

12)

HeBuHOCHMAas GOJb.,

HeBrmOoJaHMMOE 3afaHHEe.

HenoGeamuuili BoxAs.

He3ameHuMHHE COTPYZHUK,

HeyroMmmMuit paGoTHUK,

Hemaseuwmmass GOJO3HB.

HeumamepuMmoe NpOCTPAHC TBO.

HemcnpaBmMuii MeuTaTesb.

Henpumupmuuii Bpar.,

HeyeTpaummuii J&TYuK,

HeyaxoBumuii pasBezunk,

Hensraanmvoe BrievaTseHue.

31

COLUMN 2

invincible

tireless

incurable

intrepid

unbearable
indelible
impossible
incompetent
irreconcilable
elusive
immeasurable
irreplaceable
immovable

incorrigible



Item: The comparative degree of the Russian ad jective has
two forms: a synthetic one cEabHee and an analytic one GoJjee
cuabHHlE, The first form is used only in predicates, where it is
preferred to the second form, In all oblique cases only the
analytic form is used, Examples: :

OH CEABbEEE® MeHs B IaxMaTax. $§l Aw6ap ErpaTs ¢ 6o0Jee CUJAbLHHME
AP PO KaMH .

Exercise: Keeping this in mind, read the following sentences
inserting the Russian equivalent of the suggested ad jective in
the proper comparative form, '

1) &yTGOAMCTH BOJHOBAAHCEH NPH BCTPOUO C .eseecscecseee KOMAHMOM,
(stronger) ' ' :

2) Tosoca M CMeX B COCeAHE#l KOMHATE CTAHOBUJIHChoseesscscos
- (louder)

3). CecTpe XOTEJNOCH KYNMHTH TYPIM C secececoccoso KACAYKAMA,
" (higher)

}) B 3TOM IOZY KOPaGab OTHPABASACT B seeccesceccss ILNABAHHE,
‘(farther) '

‘5) B meTanmm aucka Moil Apyr ..........;.. yeM 1. (more experienced)
'6) _HoxnbAcraHosnrcﬁ eccesessesces (stronger)

7) MK BHOPAJAH KODSHHY C eeecccccscececse DPYKTAMH, (riper)

8) Mz mMOBTOPHAZ ITOT OMHT TPH eceecscsscces YCAOBAIX,

(more favorable)

9) DOTOT CTYAGHT eeesecscsesss Apyrux, (more capable)

10) [laBaiiTe TIONOBODHM O sesecscsssess Bellax, (more interesting)
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At home make a written translation of the following sentences
into idiomatic Russian,

1) Your friend is always gay and full of energy, (Use short
ad jectives)

2) This coat is too large for me, (Use short ad jectives)

3) A1l our children are home now, and so my wife has her hands
fulil, (Idiom, exercise 6)

4) The plan you proposed is absolutely unacceptable, (Use short
foru) .

5) He is suffering from an incurable disease,
6) Can you recommend a store where 1I can buy a waterproof coat?

7) We'll have to repeat our experiment under more favorable
conditions, g

8) The ice on the river is still very thin, (Use short form of
ad jective)

9) He is undoubtedly very clever., (Short ad jective)

10) They have a lot of children, all of them small,
(Idiom, exercise 6)

11) We had to move into a cheaper apartment,
'12) He speaks in a very sharp tone,

13) 1'11 be free tomorrow afternoon and will be very glad to see
yous (Use short adjectives)

14) He's fit for military service., (Use short form)

15 ?e i% too poor to send his son to the University, (Use short
orm
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UNIT IV
ADJECTIVES AND NUMERALS

. 1
Item: Adjectives in the superlative degree also appear in
. two forms: synthetic and analytic: Taaanranaeﬁmeﬁ oO3T of

camuit TanaHTJAZBHH no3T. The first form is more bookish' and may
have . two meanings, Example: HHTepecHeillas KHAIa may mean either
*the most interesting book' or ‘'a most interesting book.' The
construction with caumulf is used iIn all styles of speech, Cawmas
HHTepecHas KHAra always. means *the most interesting book o all.?!

Exercise: Read the following text replaczng one form of the
=Xercisc
superlative degree by the other,

Example:‘ Cryuneliras xHHra. - Camass CKYYHass KHHIS.

Caunlt cnocoGuuti, - Cnocodnedmul,

1) CrabHelum# maxmaTHCT. 9) Pexvaimas MoHeTa.
2) CaaGetunih yueHmK, 10) Camuif npocTol ONHT.
3) Caumuit xopoumi# pecTOpaH. 11) TIoxesnetmmit coser.

4) Jlervalimee znBUkeHEe BO3ZAyXa. 12) Cawmass cKydYHas JexXOUd.

5) Kparvahuu# cpox. 13) Cawmas noxas zZopora.
' 6) Cauoe BKYCHOE GJAKXAOC. 1}) Mexpualime xeMYyXHHH
(pearls)

7) lpusTreium¥ wesoBex. :
15) CwmunarTuuxeimas nama.

8) Cawmuii Sams3kmit MmarasnH.
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comparative degree plus Bcex,

Item:

BCOX.

2

Sometimes,in order to emphasize the superiority of the
described person or thing over another, the constructions appear=
ing in the previous exercise are replaced by an adjective in the
Example: cauu#t Bmcoxm# - Bume

Exercise: Make the substitution described above,

Example:
1) Cauuii
2) Cawmuii
3) Caunuit
L) Camuit
5) Cawmuii
6) Cawmuif
7) Caumui
8) Camuit
9) Caumui
10) Camuit
11) Caumnit
12) Camnit

Caumuil woxvaampuit,

xyzaoi, -

JAETKRH,

Ayquni,

HHTOpeCHHNH,

YMHHH,

MaJxeHpxuil,

nnoxoii,

MoJaozoit,

cTapHii,

TaNaHTANBNRIL,

HapaauHi .

TAXEJHIt,

MoavaauBee BCcex.

13)

1)

15)

16)

- 17)

35

18)
19)
20)
21)

22)

23)

2k)

Cauuit cmapuuit,

Camuif

Cauuit

Caunit

Cauuit

Camuit

Camuit

Camuit

Caxnit

Cauuit

Camuit

Camuit

cnoxofuuit,
ToacTHIS,

cMyraui,

wucTHi,.
unsxuni,
AoGpui,
GoraTull,
Geanuit,

TepueauBxuii,

crpornmi,

Becé&arit,



3

Item: Constructions involving the pronouns BCETO and BCeX,

although showing some ogutward similarity, express different shades

of meaning, as may be seen from the follow1ng examples: (H paGoTaer
Goxnlle Beex 'more than anybody else.' ~ Boanlle Bcero ox JwGAT UrpaTh

B KapTH, Tmore than anything else, above all!

Exercise: Fill in the blank spaces with BCero or Bcex as

required by the context.

1)

2)

3)

L)
5)
- 6)

7
8).

9)

10)

Kaxoli BHZ cmopTa BH IPEANOYUTAETE? BOJABUIE secccecece T XOOIAD
dyTooa. .

Ha sKx3aMeHe IO MaTeMaTHKe [IeTs pellRaA 38484y DPAHBIIE@ ececccesoe
ZPYI'MX YY6HHKOB,. .

CMarus AeJ26T TeXHHAYECKH® NOPOBOAH JAYTUS ceesceeeese CBOHX KOJJIECI,

OH 3HAOT HECKOJBKO HHOCTPAHHHX SI3HKOB, HO JYYlE seeesscoo I'OBO=
PET no $paHIY3CKH,.

B 3TOM KAACCO MHOI'O CMOCOCHHX YYE@HHKOB, HO 3TOT M&ABIAK, IO~
MOEMY, CIMOCOCHO® ce0svecoc

Kaxoil BHZ JHTepaTYpPH BaC HHTEPECYeT? 51 GOMEBIIE eeeeecsee JANOAD
6ONIAETPHECTHKY o

Bo BpeMsT I'DO3H ONACHEO ceececcsoe CTOSATH NOA BHCOKHM AEGPSBOM.
" Pa6oB OGHYHO NMPHXOZHUT HA PACOTY PAHBIIE ecececcoee
B TBOpYECTBE 3TOrO NOJTA JAYIEO ececceecees JAUPUKA.

Bce Tpe JouepH reHepasa EmaHYWHa KpacaBHUIH, HO ArJas KpacuBee
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Jtem: Expressions involving the use of the pronoun form Bcero
are of }requent occurrence in everyday speech, It is therefore
worthwhile for you to study some of them,

Excrcise: Match the expressions underlined in column 1 with
their Englash equivalents in column 2 by placing numbers in the
parcntheses nrovided in column 2, Example: the equivalent of the
first item has been identified by the placement of the number "1"
in the parenthesces preceding the English equivalent, Some non-
matching items have been added to column 2 as distractors,

COLUMN 1. : COLUMN 2

1) Korau npuesmaoT bam 6pat? ( ) for the most part
Eite To4HO HeusBecTHO.
Cxopee Becero B cpeny.

v ( ) penniless
2) llocoperyifTte, uTo mMHe ZeaaTh?
- llpexse Bcero, odpaTUTechb
K ONHTHOMY 4ABOKATY, C 1) most probably
u /locannee Bcearo, 4ro 4 cam :
L MCHOPTAN JGAO PJIYUeine i ( ) the worst of it is

OULIUGKOHU .

l4) Xyxe Bcero To, YTO B yKpaZeH- ( ) the funny part of it is
HOM Yy MOHs OyMauHUKe GLUIN
O4Y6Hp BAXHHE AOKYMEHTH,
( ) as agreed
5) ADPTUCTH=-KOMUKYM vaue BCOro
OUBAKT [1GYAALHLMU JAxAbLMA B
CHOBH noMalel xHUskrM, ( ) first of alil

6)  Kark Mue noemaarn, CTpaxopa?
kEro uuroraa ner asoma, ( ) the best thing to do
= lpexse bceruy, suaigm x
HEMY HA CAYXGY.
( ) the most aggravating
1) ilocae BOAHE MU OCTUIACD part of it is coo
CoOL BCLI'G,
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Item: Expressions of time are very frequent in Russian as =~

they also are in other. languages, The word 'year' is very often
a part of such expressions, The thing to remember is that in
" Russian after 2, 3 and 4 we use the form roga, whereas with 5 or
more JeT is called for, Example:

ABa roza, ABaAllaTh YOTHpE roza,AATs KT, TPUHAALATH JeT

Exercise: Read the following sentences, 1nsert1ng, as you go,

the equavalent of the word ‘'year(s)' in the form required by the

text,
1) B8 ceeee S XRI B AEPOBHE y POAHHX,
2) TPH eeeee TOMY ﬁaaan ITHOHOPH NocazZnam agecs_¢pyxronne BepPeBbs.
3) Mue ¥ THaZANATSH ;.... , & MOeMYy 6paTy ABAALATE ZLB& seees
L) IepBas aBraamHust B CoBeTckoM Cox3e OHJIa OTKPHTA TPHAULATDL NSTH
' eceee HaABAZI,
5) 'Hymxnn yMep, Korza éuy GHAO TPUAUATE BOCEMb eossoe
6) 4Yepes veTHpe ..;.. nocsae cwepTH [IymxHHa GHI YyOHT Ha AYIJIHR
JIopMOHTOB B BO3DPACTE ZABAZLUATH COMH seecee
' 7) Topbru# 6mx Moaoxe YexoBa Ha BOCEMb ;....
. 8) JleB ToxcTo#t NMPOXUI BOCOMBAECAT ZBA cescse
9) C Tex MOp NPOILIO YK€ MHOI'O ecseee
10) $§ nDpoxma B 3TOM I'OpPOZe TOMXBKO NIOJTOPA seeccee
11) CKOJBKO eeeeee BH IPOXHAY B KuTae?
12)° ¥ npoxmn TaMm NATH C NOJOBHHOE ceseces
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1tem: If the numerals 2, 3 or 4 happen to be in the genitive
case, they require the usage of the word JeT. Examples: S xmn
Tam TpU IOA&,but S XWX TaMm Goaee Tpex JeT. On the other hand, if
these same numerals, or any others, occur in the dative, instru-
mental or prepositional cases, they combine with rozaM, IrozaMu
© ... rosax whichever form is required, Example: OH TpeMsi MOLaMu
MOJIOXe MEHA. '

Exercise: Read the following text filling in the blank spaces
as andacated above,
1) UYepe3 ZBA seceee MH OKOHYAM IIKOJY.
2) 51 Haval SAHAMATHCS CIHOPTOM 60J6€ IATH eeeeee TOMYy HA38Z,
3) B HHCTHTYTe HYXHO YIATHCSA HO MEHO6 HYOTHPYX cececee
4) [posomkmTesbrocTs 3amaTmii Ha kypcax oT ZBYX AO TPYX cewccsee
5) Oxcneamums nposesa Ha Taus-llame OKOJZO rp&k cecses

6) Y4acTHHKM SKCHOAWONE BCIOMMEAJIH O TPEX seeeees TPYAHO, HO
HHTepecHO# paGoOTH,.

7) MaTepnasiu, ZOGHTHe SKcneAuuKel, Hayzainch B TeUeHHMe ABYX C
IIOJXOBHHEOH escoeeee

8) OH OKOHYAN YHHBOPCHTET ABYMST oeeo. DAHEIG MOHT.

9) C TPeMHT eceeo NPpaKTHKH, KOTOpPHe y Bac ecTh, BH J6IKO HalizeTe
padoTy no cnenmaSbHOCTH,

10) On ne Ja6HAT TOBOPHTH O YOTHPEX ceeesey IIPOBOAGHHHX UM B
KORILIArepe.

11) Ha memmuWHCKOM daxyrsrTeTe HYXHO YYHTBHCS HO MOHEO YOTHDEX ceeee
12) OH ORI NPHTOBODPEH K ZGCATH eoco.c.. TOPEMHOIO 3aKJIOYEeHHS .

13) Mo#t 6PaAT COMBD cesees CTaplle MOHS.

14) Mol 6paT cTapile MEHS HA COMB eeve..

15) 3a zBa .... JUTepPATYDHEY# KpPYROK HOY3HaBaeMO BHPOC,
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Item: The so=-called 'collective Russian numerals' zBoe,
e, YyeTBe YeTBEpo, IATEpO, mécTepo, cemMepo, etc. are used in the
owing anstance5°

a,. With nouns denoting male human beings, In this case
usual forms zBa, Tpu, etc. may also be used, Example:

' nBoe coJaaaT!oOr #ima coxgarat

b. With the words zeTn, pebsTa, JAWAH, they are mandatory.

Example:
IBoe neTeil, Tpoe JwLeH

c. They are also in mandatory use with all words which
have only the plural form, Example;

ZBOe HOXHMI  (scissors)
d., In combination with personal pronouns, Example:
Ux GrTO ¥eTBepo There were four of them,

e. They are used alone without a noun. Examples:

ggoe CTOSIT H& YDJIY. Three men are standing at the corner.

These numerals are never used with nouns of the feminine
gender, with inanimate nouns, or with nouns denoting animals,

Note: Whenever the word 'pair' or ‘couple' is applicable

the following construction is currently used: nmapa 6pik, napa OYKOB.

Exercise: Read the following sentences supplying the
numerals as required by the context,.

1) B namem xBope ( 2 ) BOpOT,

2) Hac B cempe 5).

3) Y cocena ( L4 ) mereii.
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L)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

B nmrece nmpmummany yvactme ( 6 ) pedar.
Han odopurenmem cnexTawss Tpyaares ( 2 ).
Beora Gywesasa ( L ) eyrox.

W ( 3 ) Apy3eits

B zoMe { 3 ) crewmmx wacosm.

( 7 ) ozHoro me %zyT.

Y ( 7 ) uanex nmTs Ges raasa.

Y wero ( 7 ) naTHmu m=a Hezese,

( 7 ) pas npmMeps,o0zun pas oTpexb.

5i Bceraa HMex ( 2 ) wacos, Ha cayuaii ecam ozum
OCTaHOBATCS .

¥ wmoero zeana owro ( 6 ) cumoseit u ( 3 ) ZO4Y6epH .

llocne snuzemMu B 3TOM noceske OCTaIRCh B XUBHX TOABKO
( 4 ) awzeii.
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Item: When precision is not required in time expressions
Russians are wont to use the following expressions:

instead of s Bepuyeb B 8 ¥, 15 M, it is usually said g Bepayes B
ZeBITOM 4acy or B Hadaje ZeBATOro. CofpaHue KOHYWIOCH B B 9, 55 Mo

Co6paHHe KOHYMJIOCH OKOJO 9=TH.

Exercise: In the following sentences, replace expressions
giving exact time by less precise colloquial forms, Example:

3emneTpsiceHHe NPORIOLLEO B L4 vaca 3eMJIeTpPSICOHHE® IMPOH3IOIIO B
10 w, HavaJe IATOrO.

1) Mu xoH4YaeM paGoTaTh B L waca 45 MEHYT.

' .2) [leaerauns npudwia B 3 qaéa 10 MHUHYT.

3) Kxacc Havajacsi B 8 wacoB 5 MHHYT.

L) _Cnexrawas oxomuwica B 11 4acoB 5 MHHYT.

5) Moi 6paT yXOAHT Ha paéory B 6 qacosVSO MHAHYT.
6) TMo&sa mpuwéx B 11 wacosB 58 MmHYT.

7) Mu o6muHO caxmMes OGenaTh B 5 4acoB 10 MUHYT.
8) TMoxap mavaxaca B 10 wacoB 50 MUHyT.

9) STOT peaKTABHHI camMOJeT OGHYHO IIpoJeTaeT HaZ HaMm B
3 waca 15 MHHYT.

10) OH mOSBOHMM MHe B 2 Yaca 5 MHHYT.
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1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

At home make a written translation of the following sentences

into idiomatic Russian,
They have five children, three sons and two daughters,

When they meet, they always reminisce about the three years
they spent at the University,

We expect the meeting to start around eight o'clock.
There are three gates in the fence that surrounds our plant,
I'm out of gas, Where is the nearest gas-stationg

He is unable to write the simplest sentence in Russian
without making several mistakes,

Many people consider Alexander Blok to be the most talented
Russian poet of the twentieth century,

I love all of Tchaikovsky's symphonies, but the 5th, in my
opinion, is the best of all,

1 am sure our professor loves his laboratory more than anything
else in the world,

What shall we do now? First of all, let's go to a good restau-
rant and have dinner, (see item 4)

When do you expect an answer to our proposal? - It's difficult to
say, most probably in a couple of weeks, (see item 4)

This is a most interesting novel. I recommend it to you.
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13) I work best in the morning,

14) He knows English better than any of us.

15) 1It's the most boring play I ever saw,




to show that the action des

pronoun whenever the sentence ex

fi

UNIT V
REFLEXIVE PRONOUNS AND REFLEXIVE VERRS
. .

1tem: The reflexive pronoun ce6a (ce6e, coboit, o_cede) is used
cribed in the sentence is undertaken

for the performer's benefit, concerns and affects him, The English
equivalent is 'myself, yourself, himself' etc. Examples: BH ce6a

co?ceu He xaJjeeTe-'you do not spare yourself! § 3Haw ce6a '1 know my-
se - :

Exercise: In the following sentences introduce the reflexive
presses the type of action described

above, 1If, on the contrary, the action is not self-centered but

involves other people,

OH mHOrO PACCKASHBA ¢e0ee O O MHOINO paccxalHBag HaM O
esceoee cefe,

1)
2)
3)
L)
5)
6)
7)
8)

Coceznn HMKOITZA He CCODHINCDH MOKZY oseceo

ToBapmil IACTO NPHUTIANIAN seeee K cecees

MH NpPOCHAM SHAMOHWUTOTO YYEHOT'O DACCKA3ATDH UTO=HEGYAD O seeee.

CneKTaKab NPOUSBENT H2 eeeees CHIBHOS BHOYATIGHHE
MH c HUM Z2BHO SHAKOMH; ST IIOMHI0 ececee C BeTCcTBAa,

Sl xoTes1 NOPaZOBATEL OTHA M IIPHBES eeeeee HOBHEO KHATH,
losoBuTe ZeTeil; NMYCTL ORM BOSBEMYT escees rouder,
5paT A&l ececee CAOBO YUUTHCS OTJIHYHO.

ME B3SJH €I'0 C ceeeee B TeaTp,

Bu oYeHb IIOXO BHIVITAMTE. OYEBUAHO, BH COBCOM 38 eeeeee
cJennTe, '

51 He BHa, YTO CO MHO{ NPOMCXOAMT; S CEM .ee.. He yo3HAD.
Bce pacxoan mO 3TOMY €Ny S BOSBMY HE eeoeee

TO, YTO BH CAENAIM, T seeess HAKOTAA He IIPOIY.

CBOD OUHUOKY ST HEKODPZAS eceeeee HE IIPOWY
B 2Toli pa6oTe BH MOXOTO eceees IOKAZATH,
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Item: The reflexive pronoun ceéa enters into quite a
number of idiomatic expressions frequently used both in colloquial
and literary Russian, ‘' It is important for a student of Russian
to familiarize himself with such expressions.

Exercise: Match the Russian items in column 1 with their
English equivalents in column 2, by placing numbers of column 1 in
the corresponding parentheses in cclumn 2, Example: the equivalents
of the first Russian items in each set have been identified by the

placement of the number 'l1' in the parentheses preceding the English
translation, Some non-matching items have been added as distractors.

COLUMN 1 COLUMN 2
a, 1) BHTB ¥y cebs,. ( ) to behave.

( ) to be willing
2) Vit B cels,
( 1) to be at home
3) lpniita B cebsa.
( ) to lose one's temper
l}) Bulitm a3 ceéba. ( ) to come to one's senses
( ) to be beside oneself with ..
5) BHTH BHE €66 (OT eeee)
( ) to be confused
_ 6) Bect: cels. |
( ) deportment

7) Cyaurs mo cete, ( ) to withdraw.into oneself

_ ( ) to judge other people by
8) IZepxaTp cebs. one's own standards
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COLUMN 1 COLUMN 2

b. 1) UyscTBOBaTH CeOGH. ¢ ) +to imagine

2) BsaTp Ha ce6Gs OTBeTCTBEH= ( ) to grieve

HOCTb,
3) Brazers codoii, () to assume responsibility
4) IpencTaBasTes cede, ( ) to walk on air
5) IpeacramasTs coGoil, ( ) self- control
6) He u4yseTBOBATH HOT' NOA ( ) to amount to

coGoil,

(1) to feel
c. 1) Mnue He no cede. ( ) sure of himself
2) Xopom co6oit, ( ) always has something up
his sleeve ’

3) Camo co6oif pasymeercs., ( ) handsome
4) HKaxoBa coGoii? ( ) it goes without saying
5) CeGe na ywme. (1) I'm vt of scrts,
6) . Huwero ceGe, ( ) so=-so
7) Taxk ceGe, ( ) Thow is she looking?

. ) not so bad
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Item: The reflexive pronoun ¢o6s8 we have just now been
studying is also an integral part of so-called Russian 'reflexive?
verbs, Such verbs are for the most part formed by adding c¢c#

(a contracted form of ce6a) to the infinitive of transitive verbs,

‘- Example;MHTh ce6si, MHTbCH ' to wash oneself:' The reflexive verbs

~are many and display varying degrees of reflexibility, from ac-
tions falling right back on the agent to less pronounced agent-
centered actions and to actions taken in common, Example:
BCcTpeyaTscad *to meet each other, to forgather.'

-Exercise: Four different sets of transitive and reflexive
verbs are here presented to you, Use them in appropriate form
" for fill-in purposes in the sentences that follow, using their
English equivalents as a guide,

a, List of verbs to be used,
MHTDH, BHMHTb, HOOMHTB (KOro?uTO),MHTBCS, BHMHTBCS, HOMHTbeS (dem?rae?);
NpEIECHBaTh, NpUIecarTh (ITO?KOro?),npHYSCHBATHCS, NpUYEcaThCA {uyeM?);
6PHTBH, NOGPHTH (4UTO? KOro?), GpUTBCS, NOCPUTHECS (YeM?);
pasBieKaTs, pasBiaeds (Koro?), pasBaexaThCs, pasBreuscs (9eM?); to have
, ) ' fun, to entertain
Fill-in Exercise
1) Kax wacro BH (wash) Baw aBTOMOGHAB?
2) $§ (wash) cBo# aBTOMOGHA®L, MO KpailHeili mMepe, pas B HeZeJan.
"3) llocxenuTe, YTOOH MaALINK He 3aCHI (to wash) nepesa CHOM,
l}) 4Yem Bu (shave)?
5) 4§ o6muno (shave) axzexTrpoGpuTBOi,
6) Bu, xaxeTcs, saémam (to shave),
7) IMapuxmaxep (shaves) cBoux KJAMGHTOB.

8) Maxpumx TmaTesabHO (combed) BOJOCH.

9) Baum BOJOCH B GecHopsZxe. BaM Hazo (comb your hair).

10) 4Yro6u (entertain) rocTeii, 1 noxkasan UM QUABM, CHATHI BO BpeMs
NOe3AKH,

11) Y MeHs macca paloTH u MHe Hexorza (to have fun),

12) Iloiiaute (entertain) my6auxy, moka He HAYHETCH CIEKTAKIb,.
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be List of verbs to be used,

CCOpHTH, noccopuTs (xoro?) to embroil (other people)
CCOPHTBCHA, HmOcCOpPUTBCA (¢ kKem?) to quarrel

BCTpevYaTh,BCTpeTUTE (KOTO? YTO?)
BCTDEYATECSH ,BCTPOTUTECH (C kKeM? ¢ uem?)

MHDHTE, NOMHDUATH (KOIO?) to reconcile
MUTETHCS, nouupurhes (¢ xem?) to make it up, to be reconciled

OGbACHATb, OOLACHHTH (4YTO?) to explain :

OCbACHATBCH, OOLACHMTBCA (¢ kKeM?) to have it out with somebody,
: ' to become intelligible

1) Mu noaro Gwianm APY3BSAMU, HO HeZaBHO (quarrelled) ma=-3a OYCTAKOB,

2) ¥ Hero ecTs oAHA OYeHH Hexopomas'qepra; OH Jap6HT (embrbii)
aAnzeil Mexay eoGoii.

3) Mme ovexs maam, UTO MOH ApPysss (had quarrelled); HyxHO 6yzeT
ux (reconcile),

4) M moaro He BHzeaMCH C NeTpoBHM, HO Temeps MH (made it up).
5) THoxaxrydieta, (meet) MeHs 3aBTpa Ha CTaHIHEH.

6) Mz wacTo (meet) ¢ 3TUM yuHTeseM B Gncaﬁorexe.

7) (Don't quarrel)us-3a TAKMX NYCTAKOB.

8) 4 Coch, YTO CCOpPa HX 3alLI& CJMIKOM A2JIeKO ,B HX OOJblle HeJAbS3S
(reconcile).

9) Ecax BN YTO-HHGYZLb He moliMeTe B 3TOM TexcTe, I (will explain)
BaM, '

10) On moxer (make himself understood) IO-PYCCKH,
11) B croe BpeMs BRCce 3TO HEMOHATHOE LeJO (will become intelligible).

12) lloce Toro, 4TOo CAYYHJIOCH MOXAy HaMH, HaM HeoGxozmmo (to have
it out, to have an explanation), . ‘
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‘ce List of verbs to be used,

RynarTs, BHEynars (xoro?) to bathe
KynmaTscs, BHKynarses (rae?) to take a bath, to swim

6pocaTs, GpocuTs (uTo?) to throw, to abandon, to quit doing some-
T 6pocaTncs, G6pocuThes (kyaa?) to throw oneself, to rush thing

poaBpamaTh, BO3BpaTATh (1TO?) tO return
BO3BpPAllaTHCS, BO3BPATHTHCH (kyza?oTkysa?) to come back

oTmpaBAsTH, oTmpaBuTh (3To?) to send, to dispatch
OTHpaBASATHCH, OoTHpaBuThCA (KyAa?) to set out , to go

1) ¥ze mecTsr wacos: mopa (give a bath) peGéuka.

2) Koraa uMH moezeM B anu, MH GyZeM kaxAni# aAems (swim) B mope.
3) Cum coceza (thrOW)‘usqux X pasCha CTORJIO Moel cnaabHH.

}) Jerrop coperyer mme (to quit) xypurs.

5) YsmaB,4TO B ropsmeM AOMeé OCTAJIACH AETH, MOXApHUK (rushed)
HCKATH HX.

6) Bu poxxmm (return) sTH KHHPE He NO3AHEee HNOHENGJABHHKA,.
__7) Korza Bu (come back) ms pamell moe3sKu, IO3BOHHTO MHE.

'8) MoroamTe MHHYTY, & Toxsko (throw, drop) nmesmo B noYToBHMY
SUAK o

9) OrEx xetom a (will send) wmom ceMbO Ha KI.
10) Bosaymwas moura (goes out) zsa pasa B HeZeJaw.
11) Hazo mockopee (send) aTO MHUCHMO.

12) dena Bu (set out) B nyTs?
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d. List of verbs to be used,

YyAUBAATL, YAHBATHL (koro?) to astonish, to surprise
yamBasiTees ,yaueurbes (zemy?) to be astonished, amazed

TOPOOHUTL, moTocponurhess ( xoro?) to hurry (someope)
TOpPONHTLCH, moToponuThes (c weM? xyza?) to be in a hurry

GecnoxonTs, moGecnoxouTs (xoro?) to disturb, to bother
GecnoxonTsea (o kom?, o wem?) to get worried

cepAuTh, paccepanTs (Koro?) to make angry
COepPANTLCA, paccepAnuTsca (Ha Koro?) to get angry, to be mad at
somebody -

1) [Iovemy aTo Tax (astonishes) Bac?

2) Ora HOBOCTH OYeHb MeHs (surprised),

3) 4 ouens (was amazed), yBHAEB ero 3szecs.

L) A o6mr owens (surprised) mamwmm orTBETOM.

5) (Don't hurry me), a TOo s HaZesan OWHGOX,

6) Ipocture, (I'm in a great huiry). |

7) Hawaasmmk mpocuT (to hurry) ¢ rozZoBmM OTYSTOM.
8) 9 ne xoiy Bac (disturd), '

9) 4 smopos, (don't worry) o6o Mme.

10) Ox (makes me angry) cBOUME HEYMOCTHHMHE IIyTHaMH.,
~11) Ero orBer (made me very angry).,

12) 51 Ha Hero ouwens (got mad) W B pesyasraTe MH (quarrelied),
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Item: The possessive pronoun cBct normally presents quite a
problem to American students, mostly because there is no analo=-
gous situation in the structure of English, To recapitulate: cBO}
'my own, his own, etc.' is used to qualify a person or thing ‘'be-
longing' to the agent, subject of a sentence. You can say: On

AKGHAT c¢BOX ceMbo. but OH B ero cembas yexaJH Ha Kr'.

It should also be noted that cBoy is interchangeable
with wmoii, TBo#f, mam and Bam but not with ero and EXx. Example:

OH KYIWJI KHEATY IJIST CBOEro SpaTra shows clearly that he acquired
the book for his own brother, whereas nJs _ero 6para would mean

somebody else's brother,

Exercise: Read the following text filling in the blank spaces
with cBOU or other possessive pronouns as called for by the
sentence,

Example:
OH Telmeppr HMEET eo0o0oe COGCTBEHHYD OH Temephb HMMeeT CBOKX COCCTBEH=-
MalRY o HYD MalliHY .

1) OKOHYHB WKOJY, MO# ApPYyr OTHpaBUJCA pPaGoOTaTh
B eseeee POAHOU xONXO03, OH BHIIOJNHUI seeee
oGemanue ¥ AOGUJICS GOJBIIMX YyCNEeXOB B paloTe,
S ¢ HHTOPECOM YHTAN seeeecee AJAHHOO IHACHEMO,.

2) BepHyBUHCH H3 AOMa OTAHXA, MO cecTpa
YBIEKaTeJbHO PACCKASHBANA O eococeoe XKNSHH
TAM. ocooeeo PACCKABH HAC OYEHb HHTEPECOBAXU,

3) 4§ naunnamnmui noaT. Buepa S YHTAT ececeee
CTEXY B IIKOJBHOM JUTEPATYPHOM KDPYXKEe scecese
CTHXH OYeHb NOHPABWINCL ToBapuiulaM. IJloTOM
MOSI CcecTpa BHCTYIHIA CO seeeee OIGDKOM,
essses OUGDK IMPOUBBEJ Ha BCceX OOJBlIOE BIO=
YaTJeHBe, 1 J06Ja0 UKOAY ¥ HUKOrZa HE 380YAVeesee
ToBapHlleii.
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L)

5)

6)

7)

8)

OxoHYHWB BOeHHYWL CayxCy, IllauxoB Bepmyxecs

B eseees pozHO# roposa. Ox 3apanee cooG-
IAX eeeeee POORTOAIM O npre3ne, svecee

CTapHe POZUTeJaH CHIU pPazH IIPHOBAY eessee
CHHA W NpUIUIE BCTPeYaTh ero Ha BOK3aJ.

El"OpOB OTANIHHYU padorr-mx H XOpomo 8HaeT
eecoee ZJOJSO, eeseeee HAYAJIBHHK OYEHD
IJeHNT ero,

A% cecceo APY3BS pPelldJIY NOpPOBEeCTH HAW
OTHyck Ha Gepery mopa. Mu npmBean cssee
ILJIaH B HCIHOJHEGHHEe #U OTJAHYHO npoBeJan
BpeMsi,

Y UBauea Soarmas cemps, Oxn XOpOomo
BOCIIMTHBAGT eeeese ZBTECH, cescee
AeTH OTJIHYHO YyYaTCH B IIKOJE,

HeznaBno x Canmuy npuexan cTapmuii Gpart.,
Buepa C2HHH IDHBEN ecoco.. 6paTa KO MHe,
S 6mx pam nmosmaxkoMuTBCS C scceee

dpa'l‘OM .
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Item: We saw from the preceding exercise in what cases
possessive pronouns can be replaced by ¢BO¥ and in what cases
such substitution is impossible,

Exercise: Read the following text and determine whether
not the underlined pronouns can be replaced by cBOH.
1) Ero oGHYHO® CIOKOUCTBHE HIMEHHJO eMy.
2) ¥x HacTOHYMBOCTH HNOHDABHIACH MHE,
3) EE aoowMull npeaMeT - HCTOPHST.
}) Hame HacTymJaeHHe GHAO YAATHHEM,.
5) _Ero azpec oxacaics HOTOWHHM.
6) Bo Bpewms ormycxa s MOAY K MOMM pohnreﬁsu.
7) [oxaxyiicTa, BepHHTe MHEe MOH KHHIH,

8) B e& Gpuraie Bce pPaCOTaAX OTAHTHO.

9) Bamp 3aMeYaHHS NpaBUAbHH,.

\

10) [IlpaBAa AH 4YTO BH MOTepsasn Bally paGoTy?

11) TIipuexaxn TBOi 6paT?

12) Tu SBHO He yMeellb pacrnopaAXaThcs TBOMMH AEHBIAMH.
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At home make a written translation of the following sentences
into idiomatic Russian,
1) He bought two tickets for his wife and himself,

2) 1t is obvious that our new friend is extremely pleased with.
himself, :

3) How do you feel today? Better than yesterday, but still not
completely well,

4) 1 cannot assume responsibility for what you did without
consulting me,

5) Did you tell your assistant about his new assignment?
Yes, and he was beside himself with joy,

6) Don't get excited, You must learn (to exercise) self-
control, (item 2)

7) He was greatly surprised by what I told him,

8) The drawing (Tmpax) of the lottery tnok place yesterday and,
imagine, I won a (motor)scooter, (item 2)

S 9) How was yesterday's concert? = So so, Itcould have been
3 better, (item 2)

10) They used to be close friends but quarrelled some time ago
over a trifling matter,

11) Friends are coming to see us next week. We must figure out
how to entertain then,

12) Are you mad at me?- No, I am just surprised at your behavior.
13) 1 do not want to disturb you,

14) He takes good care of his old parents, His parents are
presently staying with him,

15) Don't judge other people by your own standards, . (item 2)
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UNIT Vi
PRONOUNS AND VERBS
1

Item: The pronouns Beakmii m KaxaH# are very close in mean-
ing, which is 'each' and ‘every.' In that meaning they may be
interchangeahie. However, Besaku# happens to have another meaning
as well, which is 'various,' 'of all kinds.' In that meaning it
is interchangeable with pas3zHi.

Exercise: 1In the following text replace BCSKEH with either
KaxAH# or pasHHi according to meaning, Example:

NoapayiiTech BCAKUM YAOGHHM cJayuaeM, [loxp3yiiTech KaXAHM YZAOGCHHM

4YTOGH POBOPHTH HO=DYCCKH, cJaydaeM, YTOGH INOBOPHTH HO=PYCCKH.
B oTOM smEKe Yy MeHS JexaT B 3TOM AmMRKe Y MEHA JexaT
BCSIKMEe MHCTPYMEHTH. pa3HHE HHCTDYyMeHTH.

1) Besixasgs paGoTa TpeSyeT YyNopeTBa M TDYZAa.

2) Moii oTel oueHb HHTepecyeTcss GOTAHHKOH#, M mO3TOMY ¥ Hac B cazy
PacTyT BCSIKHe ZA6peBbi,

2) Besikas reorpadmueckas KapTa GyAmaa BO MHE XeJaHHEe NMyTeUleCTBOBATH.

L4} ¥ nac B wxose MMeTCS BCAKHE reorpadMvyeckue KapTH.
5) Beskoe ABHXEHHE NMPUINHAJO GOJb DAHEOHOMY .

6) Bo BpemMa I'MMHACTHYECKMX YNPaXHEHH! NPUXOAMTCH AeNATH BCAKHE
OBWXEHAS o

7) ¥ mac B GHGIMOTEKe eCTH BCSKMO KHUIH,
8) Beskxas kHHUPa TpeGyeT K ceGe GepeXHOI'o OTHOWSeHHUd.

9) B aTOM yHMBepMare ecTh BCIKMHi TOBap = B Zoporoi, m Zew€swii.

10)
11)
12)

BcsiKOe pacnoOpsaAXeHHe HEeMOAJEeHHO BHIIONHAXOCH.

-Boskui#f M3 HAC MOCTYNHA GOH TaK X6,

Ha moe# pa6oTe MHe NIPHUXOAUTCS BCTDEYATHCH CO BCSIKAMH JWOABMH.
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ltem: Sentences involving the use of negative pronouns
HEKTO and HHITO ‘*nobody' and 'nothing! are always negative i,e,
with the verb appearing in a negative form, Example: IHKTO He
opmuéa ='nobody came,’?

On the other hand, the pronouns HSKOro and §§22£2)
which look very much like the preceding pair in form, are useéd
in quite different types of structures involving the logical
subjects in the dative case and the infinitive of a verb without

negation, The meaning of the two structures is, of course, quite
affferbnt. Example: OH HwW4Yero He umraeT, 'He reads nothing,

Euy Hedero 4mTaTh, 'He has nothing to read,'

Exercise: Change the following sentences so as to replace
one of the above patterns by the other, Remember, though, that
the patterns are not semantically equivalent as shown above,
Example:

O HEYero He ZeJsaJ. EMy Heuero GHIO AeJaTh.

1) 5 HEROMy He mnmcaa.

2) EMy He K KOMYy OGPaTHTHCS .

3) OH HA ¢ keM He ADYXHT,

4) Mr HAYero me ckasaam emy.

S) ¢ Hm Ha KOT'O He cepxych.

6) Mne He ¢ xeM mOCOBeTOBaTHCS

7) JeTsM Heuero ecTs.

'8) Oum mM o uy&m He s3acormTes.

9) MHe He ¢ KeM OHIO BHZLETBCS B MockBe.

10) Ero cHH HMU4YEro He YHTAaeT.
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Item: BcE& 'everything' and HAYErO ‘*pothing® produce sentences
diametrically opposed to each other in meaning, Example:

OH BC€ 3HaJ. - On HmYero He 3HaJX.

Exercise: Follcwing the pattern presented above change positive
statements into negative and vice versa,

1)

.2)
3)
L)

5)

)

7).

8)
9)
10)
11)
12)
13)

14)
15)

-B§§ KYIJIOHO,. | HR9ero He KYIJISHO.
Hugero He H3BOCTHO. BcE& #®3BeCTHO.
Bc& orocxaaHo, e 6 ¢ 6 o o 8 5 o o o o
Bc& BmaHO, ©« o e s o 0 8 0 0 o o 0
Huzero He CJHIIHO. | e o o s 06 6 06 0 0 e s o
51 BcE& noraA, e 0o ¢ 06 o o & o 0 o o o
OH Bc& nepenyTaJe © 6 6 6 06 0 & & o & & @
OH HM4Yero He pPacCKaxeT, e o o o6 0 o 0o s s s o ;
My #p4yero He BHZEJH, o 6 6 o 6 8 & 6 0o o o o
_H HAYero He 3a0HI, e o o o o o { e o o o o
OH BCE€ IIOMHHUT. e o o o e o & o ® & o o
.Bcé YJAOXOHO, e ¢ 6 06 o 0 0 06 o o o
Bcem OH [OBOJEH, e o 6 6 o o o & & o 0 o
Bc& y Hac ecThe e o o o 2 o 0 o o & o o
Ona anéuy 376CH HO YIOUBAAOGTCH e o o o o o ¢ ¢ o o o o
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l1tem: The same degree of opposition exists between Bce
'everybody 'all' and HMXTO 'nobody,' Example: Bce mpmumad,
HuxTO He mpumen. Note the shift from plural to singular in the
negative sentence,

Exercise: Following the pattern set above change positive
statements into negative and vice versa, '

1) 5 mxoro He BuAeJ. 51 Bcex Bmaea.

2) OH HHKOroO 3mech He 3HaeT. R I IR B
3) Bece paau ewy. - HUKTO He pazx emy.

ll) Bece HoBoaBHH enmexTakiem. © e 6 e 6 e 06 0 0 s 0 0
5) HuxTo ero He npmrJaamaer. e e o 0 06 06 06 06 06 0 0 0
6) Bce MO3APABAIN MOHS, ® o o ¢ o 6 06 0 06 06 0 0 o
7) Bee 3HawT Bac. ' ® s e e 0 0 0 0 0 s 0 s e
8) On o6o Bcex‘aacSo'rm"cs. © o o o o s 0 e 0 s e o e

9) Mom cTuxm HAKOMY HE TIOHPABHJIMCDEs ¢ o o o o o o © o o o o o

10) Mm TOBODHJAN OCO BCEX, ¢ e o o o o 0 0 0 0 o o o
11) OHa co Bcemm APYXHT, ® o e o © 6 0 o & o & 9 o
12) BceM BHAAJIW XEHBI'H. © e o o o e 0 o e e e s
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Item: Russian verbs of motion usually present a number of
difficult problems to students of the Russian language., A brief
review of them will be given below starting with the indefi-
nite~definite pairs of imperfective verbs:

COLUMN 1 COLUMN 2
XOAUTH - BATH
e3AUTH - exaTs
éeraTs - 6exaTh
JerTars - JETOeTh

_ Verbs in column 1 describe repeated motion, motion
there and back and motion without a set goal, Those in column 2
describe actual progression towards a precise goal, Examples:

Sl xoxy mO HapKYy. 1 am strolling in the park,
S HAy Ha TMOYTY. . I am going (now) to the post
office,

Exercise: Complete the following sentences using the pairs
of verbs singled out for each separate item,

8, XOIXTH = HATH

Kyza BH coH7aC seevsesee? 5 cceceseoce B
Gnd#zorexy. BH 98CTO TYZA2 ececcccscesc?

1 eeecesesee TYZAA OGHYHO pasa TPH B HELOJN.
Korzia S BYODA eeescccece IO YIHEE B OCHOIROTO=
Ky, $ OKasaJcsi CBHAETEJOM aBTOMOGUJIBHOM

raracTpodH.

60



. 82 LAT ~ CXaTh

MH ¢ Bamm cocezm no kyne. JHasaiite
SHAKOMHTBCH « KYlIa BH seseeee?

escecee HA HaBrABe I cecccosce TYRa

Kaxz0e JeTO, KOorza s TYAA eceeccee B

OpOUIOM I'OAY, Hall NMoe3Z com¥s ¢ peJaBCOB,

c. 06é6rarsr - GoxATh

YpOK KOHURACH, M AOTH COHYAC ccevccocss
Ha CHOPTHBHYI ILIOWAAKY. Tam OHEm MODyT
NIOJIYAcC8 HI'PATD ¥ eeeceee B34 H BNEPOZA,
Byepa 6Hn HenpmaTHHHE caywall, Korza

OZNH U3 MAJBYHNKOB ceeeeeee HA CNOPTHBHYW

IIOWAaAKY, OH yINaJa X pasCua coe6e KOJOHO,

d, JxeTaTp - JeTeThH

3aBTP& S eeseseses B Boarorpaz mo nexy.
Most cayxCa 4acTO 3acTaBRiaseT MOHST soee0cccvee
Mecsil TOMY HA3aZL, KOTZA T eeececsecee B

TawrkeHT, nmoroza GCWIA OTBPATHTOJNBLHAR.
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Item: So=-called 'carrying®' verbs will now be considered,
They are: B : :

COLUMN 1 COLUMN 2
o /  HocHTh - HecTH o
Indefinite / BoO3¥TH - Bearg / Definite
/  Boz#Th - BecT® /

Verbs in columns 1 and 2 function exactly as motion
verbs in corresponding columns, Example:

g waxaH¥ neH» BOXYy ZeTeil B mxoay. cefiuac Besy zeTe#f B mroJy,

Exercise: Proceed as in the preceding exercise,

&e HOCHTH =~ HOCTH

Yo 9TO 38 NAKOT TH eescccsccs?
ecscssssss NOCHIKY HA HIOUTY. 'Tede
YaCTO IPHXOANTCS eeeecesscer TAKHAO
TAxeJHe NnocHIrku? K cvacThp, HeT, HO
KOrZa S HOZOJIO HA3BAA eceseececcece TAKYD
IOCHIKY; S YPOHHJ 66 K BCS YIaAKOBKAa

pasopBafach.
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b, BO3ATE - BesTH

Kyna stor aBTOCYC COHYAC seeeececs
ZeTOH? OH eeeeseeee HX B My3eil,
O6HYHO MH .;....... HalMX YYOHHKOB B
Mysell HeCKONIBKO pas BO BpeMs y4eeGHOrO
rosa., Korza mm mpomauit pas cecscssce
IIKOJIBHHKOB B My3e#l, ¢ camum ua aBTOGY~

COB IOPOH3OILIA ABADHS,

Ce BOINMTE -~ BOCTH
R S

Kyza BH ceeeeeces 2THX Boennbnxenxux?
A ceeeeceess HX B Jaareps. Mu Bceraa
eecccccees HX no 3TO# nmopore, Korza s
OPOWLIHY P53 eeeeccess B Jareps napTED
BOOHHOILIGHHHX , OZAHH M3 HAX NHTAJCH

0exXaTh,
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the motion verbs and the carrying verbs.

COLUMN 1

7

Item: The following verbs, which are less known tu studeiits
than those we have been rev;ew;ng so far, operate exactly like
They are;

COLUMN 2

JAABATDL . JAe3Th (raxy ,=-smu)
o (nesy,-ews)
naéBaTh ILIHTB (nauBy ,-&mws)
néx3aTh OJI3TH (moxsy,~&mn)
6pOAATH 6pecTh (Gpeay,~&us)

(past t.6péa)

POHATH PHaTH (roun,=uwsn)

1)

2)

3)
L)
-5)
6)
7)

8)

9)

10)
11)
12)
13)

to
to
to

to

. to

to

climb,

swim,

crawl
)

roam,
saunter,

drive,

to clamber
to float
to creep

to stroll,

Exercise: Read the following text substituting Russian
equivalents for the English verbs in parentheses, '

Sl BUXY, KaK MAaJBYMK U3 cocefHero goma (climbs ) Ha ZepeBo 3a

S0aA0KaMH .

OGe3bsTHH B TPONHMYOCKOM J6CY OYeHb JOBKo (climb) mo JepOBBSIM,

Mue npmurocs (climb) ma wepmar (attic), wro6m ZocTaTs Yemozax.

Bu yxeeTe (swim)?
Ox (swims) xax puGa,.

Kyza (float) naoTm?

Mo#t cHumuka eme He XOAHNT, HO (crawls) ouenp SHEPIHIHO,

CMorpTe! Ilo aBopy (crawls) amef!

ME Tax ycTaam Ha TporyJaxke, 3To eJte (dragged ourselves along)

Zowmoii,

MHe Heuero GHIO ZeJaaTh, M S HOCKOJABKO 4YacoB (roamed) mo yJauuam,

Yepes 3TOT Ayr macTyx vacTo (drives) c¢Tazo K pexe.

HurTo Bac oTerzs o {chzsesde SHARTE CHOJLBRKO XOTHTS.

CxaxHUTe eMy, YTOOH OH He ciamuxoM (drive hard) maumnuy,
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Item: A person, when using his two feet as a means of loco=

motion, may proceed:

leisurely
at a normal gait
at a run

Three Russian verbs express these shades of meaning:

1, 6pecTh#
2e HIATH
3. GexaTs

Exercise: Insert the appropriate verbs in the blank spaces

left in the text below,

1)
2)
3)
L)
5)
6)
7)
8)
9)
10)
11)
‘12)

JeTH ceeeeeo B WIKOXYy, OHE GOaTeS ONIO3AAaTh,.
JIeHUBO cee0e0e CTAAO JOPpes3 JAYTe

Ceronts MH seeesee B My3eif,

MHE HYXHO eseeeeee HR IOUTY,

YeTanHid pHOQJIOB MEAJOHHO ceeeeee MO Aopore,
KepeU€HOK (colt) GHCTPO seseese K MATODH.
Kouxosumrkn seecsees B NOJE,

o yrune eceeoeo ZEMOHCTPAETH,

CKOpPOO! .veecese 32 AOKTOPOM,

YTo ¢ Bamu? IloyeMy BH T&K MEIISHHO ecsccsee ?
OH BCerZ8 sece.c. HA CAYXROY COADHM LIAT'OM,

OmosAaBUlUil NACCAXUD seesees 38 ABTOSYCOM.
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item: Some of the verbs we have studied in this unit are used
in a figurative sense, far:-removed from their literal meaning.

Exercise: In the following sentences, determine whether the
verbs are used in their basic meaning or in a figurative sense.
Examples

OH BenET BOGHHOIJIGHHHX B Jareps, =~ literal meaning

OH naoxo Ben¥T ce6s, ~ - figurative meaning

1) Topapmiy YA&JIOCH COGDATH HCKANYUTEABHYY KOJAOKNHL KaMuel;
OH BE3ET HX ZAOMOH LIS WKOJBRHOIO MY36s. .

2) Exy Bcerza Be3¥T.

3) Mx zoaro CpOARAM MO 3akiaM BHCTABKH K HAKAK HE MOIJIHK yiiTu,
) Camue nmpoTMBOpeYnmBHEe MHCJH CDPOAHJAH Y MEHA B I'OJOBEe.

5) Taasa NAeHHONoO G6CNOKOHHO GeranHd.

6) OH cmabHO 0396, MO TeXy Geraim Mypawku., (shivers)
7) Boxpyr MeHs Ha BOK3&JI6 CYSTHINCE K GOISJH JADAH.
8) Mue cerozns BcsKasa Yenyxa B I'OJOBY JXe36T.

9) Bezr cuacThe CAMO BaM B DYKH MANBET, & BH He BHIHTE.

10) JapaliTe nJaHTL K TOMY Gepery.
11) Om neauii zeHs JOAHPS r'oHgeT. (to loaf)

12) dopBapZ IHAA MAY K DOJY.
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l1tem: The verb HATH is involved in a number of bound phrases
some of them highly idiomatic. ’ '

Exercise: Test your recall or 'feel' by matching the Russian
items in column 1 with their English equivalents in column 2 and
placing the numbers of column 1 in the corresponding parentheses
in column 2, Column 2 has more items than column 1, several non-
matching items having been added as distractors, -

The equivalent of the first item has been identie
fied as 'go down' and marked accordingly,

COLUMN 1 _ COLUMN 2
( ) follow one another

1) Boma WAET Ha yOWAb.

2) Ha azexTpocTaHnum pacoTa
RAET 663 nepeloeB,

(1) go down

) ( ) without a hitch
3 B oneprHOM TeaTpe HAET
"EBrenu#i Omerns,*
( ) to step it up
4) Korza HMAYT ypokm, B mKoxe

O4Y8HP THXO,

5) HKax GHcTpo HASET BpeMs.

6) Jleaa oveHr MEHOrO, roJosa ( ) is showing

HAET KPYI'OM,

7) $ BrAex samMevaTeNbHHH (EABM; ( ) things are looking up

OH 70 CHX NOp He HAET ¥
MOHSI U3 DPOJOBH,

8) Jam AAYT CBOMM YEDPOZOM.

9) Moxsozase paGoYHe GHCTPO ( ) classes are in session
OCBOBJHE IpPOH3BOACTEO; :

ZeJO RAET Y HEX HA Xan.

( ) in a whirl

( ) to back down

¢ ) time goes by

( ) cannot forget it
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1)

2).

3)

L)

5)

6) .

11

Item:In the phrases given below some expressions are purely
idiomatic,

COLUMN 1

OTAHYHO II&BATDh.

IlnaBaTh Ha JF3aMOHe,

'Xognrb 38 GOJABHHEM,

XOZHTH 3a JOKapCTBOM,.
BoaHTE aBTOGYC.

BogATe 34 HOGC.

68
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Exercise: Proceed as in the preceding exercise,

COLUMN 2
to fool somebody
to go and get something

to cure

"to swim

to tend '
to drive

to flounder



12

At home make a written translation of the following sentences

1)

2)
3)

4)
5)
6)
7)
8)
9)
10)

11)
12)

13)
14)

15)

into idiomatic Russian,
1 have been told that you know everything about that case,
You're mistaken, I know nothing at all, ‘
What is playing tonight at the Bolshoi Theater? (item 10)

Now that the rains have stopped, the water in the river
will go down, (item 10)

Everybody knew about his being in a difficult situation,
but nobody came to his help,

Each of the fifteen Soviet Republics has, in theory, the
right to secede from the Union,

Do you ever speak Russian at home? - Never. There is nobody
to speak Russian to,

Today the teacher will take his class to the Museum of
Natural History, He takes his pupils there several times a
year,

Give me an interesting novel. 1 have nothing to read,

Look at the way the boat is being carried away by the current.
This man is fooling us, Be careful with him, (item 11)

Time goes fast, 1In July, I'11 have been here 20 years,

We are very pleased with the new director, Under his guidance
the work at the plant goes without a hitch, (item 10)

You are always lucky, (item 9)

Our train is just crawling along)and it stops at every
station, '

We spent the summer in Crimea, on the Black Sea,and my children
learned to swim,
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. Item:
phrases

The verb BecTH

UNIT Vi1

VERBS

. 1

is very frequently used in”bound

far removed from the original meaning of the verb, .
When used figuratively, it usually has no corresponding indefinite
form BOZAXTH, which normally is its twin verb,
neperoBopH 'to conduct negotiatiénsﬂ has no corresponding structure
with BOAXTL, which is always present when the verb is used in a

lateral sense, BecTn - BOAHTH POTY Ha cTpeJabCHIe,

Exercise:

Translate the following items and determine when

substitution of BecTr by BoAMTs is possible,

1)
2)
3)
L)

5)

6)
7)
8)
9)
10)
1)
12)
13)
14)
15)

BecTn
BecTH
BecTn
BecTn

BecTn

" BeeTH

BecTn
BecTn
BecTn
BecTH
BecTn
Bécrn
BecTH
BecTH

BecTmH

KeJIo. .
deceny.
cJenoro.
ZHEBHUK,
yudr,

ad PYKY .
XYpHaX.
rocteif B caxn.
MalmHy »

CIIOD.
HalJAKZeHHe,
conaaT,
CTPeABLOY »
IIPOTOKOJ COCPaHHES,

S8HATHA o
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l1tem: The same variety of meaning prevails in the prefixed

(perfective) forms of BecTH.

Freceding exercise, these pref
orm corresponding to BOAWUTH.

'to translate,' 'to transfer.

Exercise:

parenthesesin column 2,
2 as distractors,

But, contrary to what we saw in the
ixed verbs have ap imperfective

Example: NepeBOANT: - IepeBecTH

Determine the meanin
by matching them with their En
your choice by placing the number of co
Several items

The equivalent of the first item has been iden-

g of RusSian items in column 1
glish equivalents in column 2, Mark
lumn 1 in the corresponding

have been added to column

tified as 'to conduct' (the meeting) and marked accordingly,

COLUMN 1

1) YaadHo mpoBecTH coGpaHue.

2) IlepeBecTH yueHwmka B Apyroi

KJIAacCC o

3) BuBecTH HOBHe COPTA SIGJIOK.

4}) BuBecTH naTHO €O craTepTH.

5) BHBeCTHM U3 TeprneHus COCTPY.

6) D3BaBecTH HOBHe MOPSAKH.

7) IipuBecTH npmuep.
8) IlepemecT: npeasmoxeHue c

PyCCKOro Ha pPOAHO# ABHK,

9) 3aBecTH 3HAKOMCTBO,

10) BeBeCTM Ha 4YHCTY® BOAY.
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COLUMN 2

to
to
to
to
to
to
to
to
to
to
to
to

translate
cite
transfer
conduct
remove (a stain)
transfdrm
exasperate
introduce
wind up
expose
strike up

grow



Item: The verb Bec¢Tm has no monopoly on figurative mean-

ings, The verb HecTH has a good share of them, too.

Exercise: Read the text below and determine where actual
tcarrying® 1is involved and where the verb is being used in a
figurative sense. .

Example:
BHecTH 4YewoAaH B BaroH. ‘'literal meaning!

BHOCTH TNPELJOREHHE . 'figurative'

1) BuuecTE MeGesbh K3 KOMHATH,

MyxeCTBOHHO BHHOCTH GOJb,

" 2) CHeCTHE BeWH B KJIAZOByD.

CHOCTH ZAOM.

3) BuHeCTHE KOMHATHHE LBEeTH B Cale.

BHHECTH IIOPHIAHEO,

l}) BumecTH pemwsexme,
BuHOCTH MaJiHlla HA BO3AYX.

BrHOCTH I PHIOBOD,
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of motion are widely used by speakers of Russian,

4

Item: Many of the Secondary meanings expressed by the verbs

Knowing them

is therefore important for students of that language,

items in column 1
ceed as in precedi

1)
2)

3)
L)
5)
6)
7)
8)
9)
10)
11)
12)
13)
14)

Exercise: Test your recall or ffeel!

COLUMN 1

lo Kopore 3aHecTy KHUDY GoxbHOMY
TOBApHILY .

SaHOCTH B NPOTOKOJ pelleHHe
co6parus,

Boilre B 3nanme.,

Bolity B zmoBepue.

b Y

BuiTH H3 poux,

3arHaTh KOpoBY B XJIEeB,
3arsHaTh I'BO3Ab B CTBHY,
[lpoBecTr ToBapmma xo BOpOT,
HuTepecHo IIPOBOCTH BPOMS,

Coiitr ¢ secTHRON,

Coiitm ¢ yma,

HanecTr mopaxenwme,

HaxnecTn Bm3AT,

HanecTr zoporm Ha RapTY.
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by matching Russian
ents in column 2,

COLUMN 2

to
to
to
to
to
to
to
to
to
to

to.

to
to
to
to
to

to

come out
escort

spend (time)
come down
surprise

pay a:call
bring

map the roads
walk in

make an entry

gain somebody's
confidence

go crazy

mislead

.pen (cattle)

drive in a nail
put on

defeat

Pro-



5

. Item: The prefix IO, when used with verbs of motion, affects
these verbs in a different way, depending on whether they are in-
definite or definite, Example: adding the prefix OO to ghhe pair
XOHMTH--BATE -~ results in the following - OOXOAHTH Will

mean 'walk for a while' (without directed motion).
. Ho#TH will mean 'start going somewhere,?! This will be true of all

motion verbs and 'carrying' verbs,
Exercise: Read the following sentences determining, as you go,
the meaning imparted to verbs by prefixation,

1) Pa3BeAYHKH NPHCJAYMAIACH ¥ OCTOPOXHO IONOJSJAE NO Kpak OBpara.

2) VBmneB GOJKY, MAJIBYMKY DONO3JH 3a Hew Ha nepéno, HO OHA yxo
nepenpHrHyJaa Ha ApYyroe.

3) Mu nmoexaxm xparuaiimeit moporoi.

}) OSrexypcanTH HEMHOro HOXOAWIE MO MAPKY, 4 3aTeM IOWAH B AOM=
uyseif,

5) MezBexaTa MOGeraJH Nno Jyxaike, B BepHyJIHCh K GODJAOrse.
6) IaBaft cuavaxs mOmAaBaGM B POKe, a IMOTOM MOXOZMM IOMIIEM I'DHCOB.

7) Cauoa8T noxeTes Ha POBHCKE IKCIOARIEH.

8) Iodep nNoBE3 Ha 3aBOA HOBOE OGOPYNOBAHME.
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Item: With verbs of other categories the effect of the
prefix OO is less predictable, although, on the whole, it operates
on the same lines., It serves to express:

l. Action of short duration: Hemmoro OOryASTh 1O ehnyQ

2. Beginning of an action: Ioumx CEABHHY noxzs,.

3. Result of an action: Hocrgonrn ZLOM

Exercise: Read the following sentences, marking your choice
as to the category of meaning conveyed by the verbs by placing a
number in the parentheses provided, Motion verbs are included for
the sake of comparison, Example: the verb in the first sentence
has been identified as expressing the beginning of an action and
marked as '2°',

1) IHoseTex Ha cauoxere "TY-104" (2)
2) Hemmoro mowmrex mocaxe oGexa. ( )
3) Horymmn cper. « )
L) Hocrasur savmy ma erou, «( )
5) Hocnax noxwacmka mocae paGorTs, ( )
6) Hosgx YIOHHKOB Ha SKCKYpPCHD. «( )
7) Howmr pyxm. «( )
8) Hoexax B ropoz. ( )
9) Hocrpoma maaensxm# rapax. « )
10) Hezoaro noxmi, ( )
11) IlroTEo moy=mmar. « )
12) Homoxyax IOATH MEHYT. «( )
13) HouyscTmoBax Goxs, «( )
14) Homax B mexs. ' « )
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" Item: The prefix OpPE in most cases stands for one of the
following three things:.

1. to approach, to arrive = IDHEXaTh ' o

" 2. to attach, to fasten - NDHIKMTH NYrOBHUY
3. incomplete action -~ NPHOTKDHTH ABEP>D
~ Exercise: Read the following sentences, classifying the verbs
in the same manner as in the preceding exercise, '

- 1) [IpEexaTr B AepeBHN, (1)

' 2) IDpmBecTn TOBapHMma K SHaKOMEM. ( )-

3) IpmBCTaThL C MecTa. | « )
)4) [IpUnOAHATDH WTAHTY. (v;véight) ( )
5) Hg'nrsoznrb OKHO, - « )
6) I[IpEXOZMTH B HHCTHTYT. | ( )
7) IpErpemnuTs dwrar. « )
8) IIpEKJIGMTD MapKY. _ ( )
- 9) IpavarnTs Kk Gepery. « )
10) IIpemmTHs BOPOTHHIOK, ( )
11) JIlpnIeTeTh HA A3POAPOM. ( )
- 12) [IpHROCTAHOBHTH Manmxy.‘ ( )




I1tem: The opposite of the

signify arrival is the prefix

Exercise:.
changing prefixes,
ponding change in prepositions,

1)
2)
3)
4)
5)
6)
7)
8)
9)
10)
11)
12)
13)
14)
15)
16)

lpuitn Ha cayxly

HEnBearg SUVKHA ,

[IpuckakaTs B cexo,

IpyexaTs B TearTp.

YaieTeTsr u3 Com, Cowm3za,

JXOAUTH B Jec.
llpareTeTs B Jemnurpaz,
YTy na saBsoz.

llpa#ite B cazx,
lpndexaTe B kKowHaTy.

YiTu Ha paGory.

[Ippesxarns Aomoi,.

YexaTv B crosmuy.

[IpEHOCHTH raszeTH.

puBo3nTHr Mamuuu,

8

prefix DDA when it is used to

Y- Example:

Yt CO CJIYXOH,

Reverse the meaning of the following phrases by
That will in

volve in most instances a corres-.

Ypes3Ty sumkm,

..-....00..-0’..0.....
Q..'...’..I....Q.....
..O.....'O..C.O......

MR AR A N R R E R IS
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Some of them are presented below.

cises of this type,

1)

2)

3)

)

5)

6)

7)

8)

Item: Verbs to which the prefix mopx gives the meaning
*to attach,' 'to fasten,' 'to bring close to,' are fairly numerous.

Exercise: Match items in column 1 with their English equivae-
lents in column 2, following the same procedure as in other exer-

COLUMN 1

[IPAKOCHYTBC K II@YKO,
[IpMumMTh TYTOBHLY K MYHAHDY .

[IpucTaTh K Gepery,

[IpECTABUTH KpPECJO K CTOHO.

[IpRIOXATEH PYKY K CepZALY.

[IDEKAGHTH MapKYy K KOHBOPIY.

Hgnssaarb Jomaib K 3a60pY¥e.

[IpEKOJOTH 3HAYOK K CJAy36e.

78

1)

Distractors have been added to column 2,

COLUMNMDN 2

to

to

to

to

to

to

to

to

to

to

tie

pin

sew

twist

touch

stick, to attach
put against

put one's hand

bend

pull into the

shore



Item: With motion verbs the prefix moa usually does not mean
‘arrival’ but rather 'approach' to (movement toward) something or
somebody. For instance, DOABOXAX X TeaT simply means pulling up
to the curb and does not mean entering the building, The opposite
of TOA in this function is the prefix 9T (moving away from),

Change of prefix also involves changing prepositions (X - or).

Exercise: Reverse the meaning of the following phrases by
changing prefixes., Example:

ae [lorrexaTs k¥ TearTpy. - OrnexaTs oT TearTpa.
1) Nozbexary x MOTALTYPIrHISCROMY 38BOAY .
2) IHoArécxaThr X cTaHuEx.

3) [HozoiiTn kK TexeTHABHOH daépuxe,

|

4) TNoaxoamrs x POPOACKOMY cazny.
5) HomGexaTs ® sproit admrke,

6) THoxzGerars x OKOIIKY KACCH, -

l

7) HozvexaTs r Goxammo# naomaznm:.,

l

8) IHomnaurs ® Gepery.

l

b. OTnexaTsr OT pexm. = HoanexaTs Kk pexe.
1) OrwexaTs or oTpoixm.
2) Oroiity oT okx=ma.
3) Ormaurs or Sepera.
}) OrGexars or TOpaIerc ZoMa.

5) Oroiite oT mamTH,

6) OrpexaTs oT OpPeKpecTKa,
7) Orolitm oT wieTKM ¢ TADPPOM,
8) Oroiirm oT npmrasxa, (counter)
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mind

1)
2)
3)
k)
5
6)
-7)
8)
9)

10)

Exercise: Reverse the meaning of prefixed verbs keeping in

11

the difference in their respective functions,

‘nﬁnﬁrn Ha ¢$aGpRKY

Hogpolite k dabpuxe
IpuGexarTe anomoi,
Hpﬁﬁrn B WIKOJAY o
llpuGexaTh B pOLY.
Janererr B Mocksy.
YxozuTy ¢ 3aBozna,
YexaTh ¢ moOJHTOHA,
[IlppexaTs HA CTaAMOH,
YuEn m3 Myses.
[Ilpmexax B ropox.

Yméx u3 pecTOpaHSa,

Yirn ¢ dabpuxu,
Oroiity or daspuxu,

llonGexaTp K ZOMY.
HoxoiiTm ® mKroJe,.
lloaGexaTs K pdme.
OrxzereTsr OT Mocxan.‘
OTxoZuTH OT 3aBOZA.
OThexaTh OT NOJHUIOHE,
lozpexaTh K CTAAHOHY .
OToméan OT My2es.
lloAvrexanr K ropoaye.

OTomésx oT pecToOpaHAa.

8C

Item: As has been shown in preceding exercises, the prefixes
op#? and OOZ mean different things when used with verbs of motion
and have different antonyms, .

Example:



12

Item: With some verbs the prefix OOA shows that the action

described by the verb is aimed at getting ‘under! something,
Example: NOAY6DKHYTH 'underline.’ :

Exercise: Translate the following sentences, The context

will help you to find the correct meaning of the verbs underlined
in the text.

1)

2)

3)

L)

5)

6)

7)

8)

HozsoxuTe GyMaxHy® caideTOIKy NIOX Ball CTAKAH,

Eenrm ero me Gymer moua, IOACYHBTO 3anWCKY NIOA ABepPd 6ro
KBapTHUDPH.

Bama xapTra nopeana: ealnyxno DOAKAGHTD .

llopTHo#t nomuns MHe TEMIYI0 nonnaanny' E naAbTo,
[loncTaBbTe Bam CTAXAH NOA KPaAH: $ HAABO BaM BOAH,
Yauartear ﬁonqegxgxa BCO® MOH ONHMOKE KPACHHM RapaHAANOM,
Hpeacenaréab OOANNCAA HIPOTOKOX codpaxns..

On Bcerza CcHHT, HOAJMORHE DYKY IOZ IOJOBY.
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Item: The prefixes B and BH with verbs of motion, and most
In 'perfective!

13

other verbs, mean *'in' and ‘out' respectively,

verbs the prefix BH is. always stressed: BpexaTs = BHexaTh.

Exercise: Reverse the meaning of the following phrases by

changing the prefix, Example:

Brexars B rapax. - Buexarp #3 rapaxa.

1)
2)
3)
4)
5)

6)

RERTON

7)

8)

9)

10)

11)

12)

BGexaTr B wriacc.,

BHeCTH RpOBATH B CIAABHI,
mn—

Bulite 3 napka.

BfiteTe Th 3 OKHa.

BexounThr B Tpamsail,

BrammTh TexeJaHe Bem: B capaif.

BHTIIOX3TR X3 HOPH,

BuposkTr xJonox,

BBecTH 3aKJIPIEHHOr'O B KaMepy.
BHecTH ZHBAH B KOMHATY.
R

BiHecTH 6arax M3 Bar'oHA.
L )

BresTs B ox=HO,
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14

At home translate the following sentences into idiomatic Russian,

1)
2)

3)
4)
5)
6)

7

8,

9)

10)

11)

13)

14)

Can you sew a button on my coat? (item 9)

Put a stamp on that envelope and drop it in a mailbox;
(item 9)

1f he is not at home, shove this note under his door. (item 12)
The chairman has to sign the minutes of the meeting. (item 12)
Our troops defeated the enemy. (item 4)

He half rose to greet us but was too weak to get on his feet.-
(item 7)

1 must say that your friend, whom we met a few days ago,
bchaves in a very strange way,

iie ibas veen keeping a diary for many years, (item 1)

Our secretary is sick today, Who is going to record the
proceedings of the meeting? (item 1)

Bring the picture here, We'll hang it in this room above the
sofa, ' '

The professor spoke about the historical development of the
Russian language and cited several interesting examples,
(item 2) ‘

In order to drive a bus you must pass a rigotous test,

This road leads to town,

The teacher underlined all my mistakes with a red pencil,
(item 12) .
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UNIT VIII
VERBS
1
Item: The prefix A0 gives the transitive verbs it is attached
to the m meanxng of carrylng an action though to its completion.
Example. Jonmcats ynpaxmemme (zo xonna).

With other verbs, notably w1th verbs of motion, it
conveys the idea of a limit of the motion.

Example: JoexaTh 10 I'OpPOAS.
(Note the preposition ZO, with genitive case,)

Exercise: Read the following phrases and determine which of
the following two ideas they convey,

1. completion of task
2, 1limit of motion

, Examples The first item has been identified by the placement
of the number 'l1' in the parentheses provided, ('completion of
action'),

1) JlomexaTs paGoTY. (1)
2) [JloumTaTs ¢ TPYAOM KEMry ZO moxoBmEH. ( )
- 3) JoYuTaTh KHAPY ZO KOHIE., «( )

4) IlomecTm Beumu ZO BOK3aJAa. « )
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5) JocumTaTs Z0 cTa. (

6) JlonmcaTs nuciMO. (
7) JZoGpecTm zo aouma., (
8) llounmTs maaTwe. (
9) loiitu z0 osepa, (
10) ﬁoxpacnrb 3a60p, (
11) JorpecTm zo Gepera. (
12) [LoecTs mupor. | (
13) lowrpaTs nmapTHo B maxmMaTH. (
1;) Jloxutrsr mo meBsHOCTA JeT, (
15) JlomuT: BANO., (
16) LocaywaTs Jexuumn., | (

17) JloGexaTs Ko Gammaitme# anTerm. (
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Item: The prefix 38 may carry the following meaningss$

1.
2.
3.

Exercise: Read the following text, classifying the verbs within

the above categories, Proceed as in the preceding exercise,

1)
2)

3)
L)

5)
6)

7)

8)
9)
10)

11)
12)

13)
1)

Filling up, closing and related meanings

Example: 38KpHTH OKHO
Beginning of an action

Example: B3aroBOpDHTh> - HAYaTh I'OBODHTH

Temporary interruption of motion

some task)

to accomplish

Example: Ilo zopore zoumo# zalitTh B marasmn.

SacCHIIATh SMY.

ToBapmm zawés 3a mMHOU mo zopore

B WIKOAY o

danevarars KOHBODT.

JeTr 3axpyvaJm OT cTpaxa,.
SaHYypOBATH GOTHHKH,

YeammaB 9Ty HOBOCTB,BCO IDOMKO

SaroBopHuaH,

Ecau noitz8Te B ropoa, 3anecure
KHAPY B GCHOJIRNOTORY .

38BI3aTh PAACTYK,. .
Mo#f 6par HeOxHAAHHO 3adoJeJ.

BH MOxeTe 3a&UMTh ANDPY Ha MOSM
nRAXaKe ?

PecEHOk yrmanr w sansakax.

OR 3axJOOHYJ ABEPH IepeZ MOUM
HOCOM,

3aTBODHTE ABeps!
Cédaxa-aaguaa KOCTh B 36MJIN,
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3

1tem: The idea of crossing or going over is conveyed by verbs
of motion with the help of the prefix mepe. Example: Iepeiira epea
MOCT. The prefix OPO,on the other hand, expresses the idea of
going by or passing something or somebody, Example: lIpoexaTs wmmuo
naMsITHHKS .

Exercise: Read the following sentences filling in the blanks
with the prefixes mepe or npo, as called for. '

1) ByAbTe OCTOPOXHH, KOrZa BH (Iepe)XoZuTe wYepes YAHLY.
2) S5 BHAGN, RAK BH c.e0+0XQTH COIOAHS MHMO HANIOT'O AOMS.

3) /BAHOB COT'OKHS eesel dEX MHAMO MOHS HA yauLne B cAejla) BHA, ITO
HA 3aMeTHnXx, '

) MaxBIEKE ,....J6340 YEpE3 3a60p, UTOGH HadpaTh SGAOK,
5) MH .....COKaR KpacHy® naomaz & Bomar B Kpemas.

6) TaseTa coolmaeT, YTO OAXH GHEUHEY JAETYHKR HOHTAACH oeeeBAHTH
Yepe3 ArsiaHTHYecKri oxeaH B mapycHo# Jozaxe,

7) CKODHE IO63AA oeeeeXOAAT MHMO 3TOH CTAHIANM, He OCTAHABAMBASCD.

-8) B 1799 roay Boi#icka CYBOPOB& ees.l I1X Yepe3 AXrnH B3 Hraxmm
B ABCTDHD,

9) BH YACTO eoceesXOANTEO MHMO HAWlErO ZOMA,HO HHKOTZA K HaAM HO
3aXOAHNTO,. :

10) JIOZOYHAR COINACHACH oese+BE3TH HAC YODPO3 DOKY.
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Item: Sometimes verbs with the prefix nepe convey the mean-
ing of doing something éver again, remodeling, etc. The English
equivalent is the prefix 're',

‘Examples: [IlepeunmTaTs xumry., - to reread a book
JepecTpouTrs foM, = to remodel a house

Exercise: Read the following sentences filling in the blank
spaces,
1) 4 yxe (mpo)umTan 3Ty KHEPYy, HO xowy (nepe)uxurarTs eé._
2) 9to wIaTHe MAOXO CHART, 6ro Haxo ...f.mnrb.
3) Baua paGoTa OYEEDB T'PASBHO .ee..BHCAHA; OF Haﬁo ..;..nncarb.
L) ¥§ennx He NMOHAJ YYHTENT, HO NOGCOLACS ..;..cnpocnrh.
5)- Bawr poxxaz He OYeNHb YOOZMTONeH; BaM CJIOAYET 6T'0  .....PAGOTaTH.
6) B 3TOM POZY MH XOTHM ....KPQCHTH Hall ZOM B Apyro# umseT.

7) Haua ayZHTOpHA CJAMIIKOM MaJaa, Mu COOHPAOMCS €0 oo CTPOHTDH,

8) Bame kypcoBoe coumHenHMe MHe He OYeHb HDAaBHTCs. COBOTY® Bax
@T0 o eeeeslOAATH,

G) .¥ Bac B OTYETEe eCTh OLMGKA. HaZto BCE oeoee¢CIHTATH,

10) Mo aTOMy Zexy OHIC NPHHITC HENPABUILHO® pemenue, Ero wmazno
eoe0eCMOTPOTE,
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Item:

It happens that with

conveys the meaning of 'overdoin
in that meaning is the prefix He

Example: Tlepexaputes Msco,

1)

2)

3)

L)

5)

6)

7)

8)

3)

10)

Exercise:
changing the prefixes as in

overdo)

[lepeBapaTE: xaprodeas.

g.'
A0O.

———

certain verbs the prefix oepe
In direct opposition to it

Hexoxapurs msco,

Reverse the meaning of the followin
the above exampie,

Henoonenurs cuxm IPOTABHUKA,

Henoxapats PHSY o
llepeBunosuuTs nrawu,
[lepecoanTs cym,
HeaonsaTurs no cuéry,
llepesoxXuTHr cMeTaHH B oopit.
CHapsaaH mepeJeTanT.
Bunorpan Hénoapea.

llepexepxaTs cuuMOK,

e

nepeBapnTs also means 'to

underdo)

g phrases py -

Hegoagpnrb raprodeas.
.00..0...0.....0....000;00
0...0.0......0.0........‘.

...Q.....Q............O...

O..0.0....0...............

...00‘.l..O.'.'.......‘...

digest' (food).
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Item:

As we have seen before, verbs are sometimes used to

express thoughts quite rémote from their original meanings.
The following four exercises test your recall or tfeel' for the

meaning of the verbs und
Russian items in column
column 2 by placing the

erlined in the Russian text,
1 with their English equivalents in
numbers of column 1 in the corresponding

Match the

parentheses in colvrn 2, The first item has been thus identified.

As before,

1)

2)

3)
.. OXOTY BCTPeYAThCA C HeH.

L)

5)

6)

7)

8)

Exercise a:

COLUMN 1

Hazewtcs, YTO OH HaC He
nonBOAET,

{1 oT6ux HOCHK y qalirmka,

E8 xanpu2H OTCHJH ¥ MEHH

CuoTpuTe, YTOOH OH HE
OTGHJI ¥ Bac ZeBYiIKY.

OH 4TO=-TO He AOroBapHBa6T.

Yro aTO BaM Tak 3aropeJoch
exaTh,

-BH CJMMKOM 3anycTHJIR CBOK

6OJNe3Hb,

OB ovueHs xOpomo cedd
38pPOKOMEHIOBAM .

90

distractors have been added to column 2,

COLUMN 2

broke off (knocked off)
holds-something back
to turn up one’s nose

take your girl
from you.

away

" let down

why are you so eager?
acquired a good reputa-
tion

neglected your illness

recommend a restaurant

to be discouraged



1)

2)

3)

L)

5)

6)

7)

8)

9)

Exercise b:

COLUMN 1
On ¢ HacsaxzenmeM 3aTSHyJCS
Oannpocoii,

CoGpanne BHHECJO PEII6HHe IIO
3TOMY BONDOCY.

Ha uono noJaw BHIanro GOJBLOS
cgacThee! g O6yAy paloTaThk noA
PYKOBOACTBOM GOJBUOrO YI€HOIO,

On B6ua ce6e B IroJOBY, dYTO
6yneT 3HaMeHMTIM XHPYPI'OM,

Kyaa Bnazaer ara pexa,

Baw zpyr noYemMy-To BmaJ B

JHHE1O,
My BHABHMHYJH er'o KAHARZAATYDY
B 3aBOACKOH KOMHUTOT,

On ymopHO OTCTE&UWBAET CBON
TOUYKY 3peHHs,

liperynpexnaw Bac, YTO OH
6yZeT KOHOCHTH HAYAJABCTBY
050 BCEM, 4YTO 3H ZeJaeTe.
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COLUMN 2

passed a resolution
report

flow into

became despondent
defends

nominated

got intovhis head

to drop in

I.was fortunatg

took a puff, inhaled

to stay away



1_)
2)

3)

L)

5)
6)
7)

8

Exercise cg

COLUMN 1

i He BHAEDXA&J M PaCXOXO-
TajlCS o

[locTeBhTE KHAI'E KaK
OpHAETCS; s NOTOM pasGepych,

Kax BHAHO, OH TaM HO KO
ABOPY IpHIEICH.

fi He awlap npréeraTs K
TaKAM pajHKauibiiHM MEPaM,.

Ban nasern yxe 3axuJ?
Bor & BaM IpPHBEAY NpPHMOD.

Balf ¢HH OYOHbL JEGHHB,

Ero noATAHYTH HaZAO.

KeM OH BaM ngnxonnrca?

(

(

COLUMN 2

to

to

to

to

to

to

to

resort to
be related
take in hand
hold.on

be healed
come running

cite an example

couldn't get along

-

in any odd way, at
random

unable to restrain
oneself



1)

L)

5)

6)

7)

3)

9)

Exercise d;

COLUMN 1

YNOBODUTE GpaTa OCTATHCS
aoMa,

[lepBEM 3arOBOPHTH C

HO3HAKOMHM,
[AOTORODHTE $pas3y ZO KOHUA,
Y¥6paTr KHMIrE B WKad,
CcSpaT: Bemu B AODPOTY.

ngars KOMHATY .

3axuraTh CBOT.

[lpmxHraTs PaHy,.

[lozxuraTsr COJOMY,
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COLUMN 2

to

to

to

to

to

to

to

to

to

to

to

choose

set on firg

talk into

tidy

finish the sentence
put away

address

get ready for fravel
cauterize

turn on

talk over



of the Russian language,

~ Item: The occurrence of verbs in imperfective-perfective
pairs according to 'aspect' is one of the distinctive features

pairs look like very distant relatives,

-

Some of the individual members of the

Exercise: Supply matching perfective verbs to the imperfective

verbs list

1) rosopuTs -
Zi naacfb

3) cazuTrses

}h) 6pars

5) cTaHOBHETBCH
6) rnyckaTs

7) axoxmTmes

8) JoBHTSH

cxrasarTs

[ AN KN KX NN NXNE N ]

2000006000 0CS

0000 060006Q0600

9)

10)

11)

12)

13)

14)

15)

16)

94

IOKYNAaTh

OTHKJAAHBATH

HaEIMATH

COCHEaTsh

oTpe3aTh

OTAHXAaTP

nIOAHEMAaTH

npezaaraTrs

below, following the pattern set for the first item,

00009 QGOCOO0ODO0COO0TS

e®e®TOONDOOO



8

ltem: Both aspects of verbs, imperfective and perfective,
are usually well represented in Russian prose as can be seen from
the following excerpts from a news item,

Exercise: Consider the verbs included in this description of
an incident which occurred in the streets of Moscow and indicate

whether they appear here in their imperfective or perfective
aspects,

Oxoso wacy woum "Mockmmu' TpoexaJ ﬁepexpecrox ¥ HerpoBerux
BOPOT 7 cIal yAaXITBCA B CTOPOHY miomazm Iymxwra, 3a HEM cAeZOB&~
#a "Boara" (raxem). Ona peswro 38TOPMO3MIA HA KPacHH! CHIHaJI cBeTO-
dopa., Nemunit nosazm murunedtcxni nNaTpyALHEHY moTommMKa Jaapaacsa o6

MamuHy n NepeBepHyJacd, BoAnTess MOTOmMKIA MaxcWMOB BEKOMEE Ha HOrwm,

nodexas XK TakcH, KOTOpOe BeJ modep Kapnop m cxomamzosas? "Hpecaényﬁre
Mockemw MOI 31-851, B mem npecTymmwx,"

"Boara" mawaza noromo. “"Mocksmg" nmoMuancs mo yamue Kmposa., 3a
HAM Hecxach "Boara". IpecTymEmK, cmaemmmit sa pyzex "Mocxmmua', ma
Or'POMEOH CKOPOCTE NHTAJCS CKPHTHCS, KPYXHJ OO LeHTDPY,CTApPasICh CKPHTb-
¢ B TeMHHil nmepeysox. JBaxzan BOAUTEJh TAKCH NDHXAMAI X CTOHAM ZO-
MoB "MOCKBHMYA, HO NpPECTYmHEK BCE~-TaKM YXOAWZ OT NOrOHE. COpPOK mATH
MHHYT ODOZOJXXSNACDH MOr'OHST. Haxomen "Mockeuw" BreTex BO ZBOD ZoM&
¥ 43 nmo yamne Kmpoma. Breskas 3a mmM Bo ABOp, "Boxra" mposaamracs
B KamRaBy u OCTaHOBHIach. Kapnos BHGexas #3 Taxem m dpocmacs 3a
NPeCTYNHAKOM, KOTODHY cnacaxcss Gerersom, ITourm TIOJKRJIOMETDE npe-
CXOLOBAN OH BOZHTeJs "MOCKBHYA", ZOPHAX e€ro m ZocTaBmI B OTZAGJeHHO

MR, Ilo neaxy BeasTes paccaenoBanne,
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At home prepare a written translation of the following sentences

1)

2)

3)-

a)
5)

6)

)

8)

9)

10)

11)-

12)

13}

14)

into idiomatic Russ;an.
This building should have been re-done long ago,.
Cﬁt‘across the square and turn to the right,
I am afraid that we overestimated hi; ability,.
1'11 drop in to see you on the way héme.
ﬁe promised not qnly tp fill our quota but to overfill it,

A trolley passes here every ten minutes,

‘This suit has to tzalteared,

At our last meetings we passed several important resolut;ons.
(item 6)

If the situation does not improﬁe, we'll have to resort to
drastic measures, (item 6)

Most of the large rivers in Siberia flow into the Arctic Ocean.
(item 6)

I got this novel from the library, but it was so dull that
I could not read it to the end,

1 haven't sealed the envelope yet, (item 2)
Wé intend to nominate Komarov for Committee Chairman, (item 6)
This book interested me so much that I want to re-read it,
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UNIT IX
VERBS
1

ltem: Some verbs form their perfective aspect by means of the
suffix Hy. Example: TOJKaTh - TOJAKHYTH 'to push, to shove.' Such
perfectives usually convey the idea of 'momentary'! action, '

Exercise: Several verbs of this category are given below,
Which of them are you familiar with? Test your recall for their
meaning by matching Russian items in column 1 with their English
equivalents in column 2, to which a few distractors have been
added, Item 1 has been so identified,

COLUMN 1 COLUMN 2
( ) to nod
1) warHyTs Bhnepex
(1) to step
2) TOAKHYTH JOKTeM
( ) to dive
3) cBepkHYTH raasaumm
( ) to wave
4) HEPHYTBE B BoOAYy
( ) to brake
5) DJIOTHYTH BOAH
( ) to pull, to jerk
6) MaxHYyTH DJIaTHOM
( ) to topple over
7) xuBHYTH roaomoil
( ) to yawn
8) =xaonuyTrs aBepsno
( ) to bang
9) ZnepHyTh> BEepeBKY
( ) to flash
10) rpowMkxo 3eBHYTSH ,
( ) to throw
11) KHHYTH KameH®B :
( ) to swallow
12) Z#BHEYTH CTYA
( ) to push, to shove
( ) to move.

97



R Sl

2

Item. Verbs forming their pe
of the prefix By are frequently u

Exercise: Form perfective asp

rfective aspect wzth the help

sed in spoken Russian,

ects from the followzng verbs,

. using the pattern set for the first item,
1) raorars = TaOTHYTH 'to swallow'
2) marars cesvsssescscce

3) ToaraThe
h)‘ caepnaib
5) mmpaTs

6) wmaxaTs

7) xxomaTp *
8) 3emaTh

9) mnpurars

10) =xmBaTh»

# xaonares is also frequently used

Exaniple:

ApTHCTY ZAOJAIO XJOnanxH,
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in the sense of 'to applaud!



l1tem: The meaning of verbs is best shown by putting them in
a context., Five more verbs using the suffix Hy are presented
below,

. Exercise: Complete the following sentences using the imperfec-
tive and perfective aspects of the verbs presented in éach section
of the exercise, .

8. UBHDATHL - WBHPHYTE 'to throw, to toss®

3TY MANBYMUKE HOCTOSHHO eceseccccccss
KaMHaIMH B call. DBGexaB B kouHaTty, OH
.......;.... noprdesr Ha CTOX B SpocHACH
X TexedoHy. K coxanenmnw, 3TOT uesoBex

C MOJIOAHX JOT HNPHBHK esecceceese AOHBIAMM,

be npurars - npurayrs 'to jump, to bounce!

Bo BpeMa mOXAPA OH sececeeccss CO BTOpOTro
dTaxa H CHJABHO pacliu6c. ITOT CHOPTCMOH

Ce 0OJMECTOTH = GAGCHYTH 'to shine, to flicker'

Bamx CaANnOPR ceeevecosces KAK 3epraJo,
MOJHHS ceveseseeee K Cpasy sarpemeJa

rPpoM. He BCE TO BOMOTO, UTO cececsvescceso
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d, YExXaTh» - YHXHYTH 'to sneeze'

.

OH cmIBLHO nﬁocryxen 7 BCcE BpeMsa
cesssscsenscse BAPYD OH coe0cccssvccsce

E Bce XOpoM ckasaxm: "ByanTe

saopoBH".

e, TpOoraTh = TPOHYTH 'to touch!

NoxaayhcTa ,H® eeesseeeee HHIOIO HA
MOBM CTONES, MOHSI OUYOHD eccececssccne
Bama 3a60TJANBOCTH, 1 NOYYBCTBOBAJL, 4TO
MOHSI KTO=TO ccocsccccsees 328 naeio. L2
XOYy Bam cxaﬁarn, 4TO BYepa MeHs OYeHB

sececoessscoee BEIIO BHAMAHHGO,

.fe 3eBaTH - 3eBHYTH 'to yawn'

Koraa Jawzsaum xo¥eTcs cnaTsh, OHH, OOHYHO,
cecesssssses JIORONT OHAA TAKAS CKYYHES, 4TO
BCO HAYAJAH ...s.e0s000 KOrza BO Bpemss Hamero
PasaroBpopa XO3SHH JOMA TFPOMKO scececsccey

MOHAX, YTO nopa HATH Aouolf.

Note: With a different form of perfective 3eBaThp - npo3eBaTh
means ‘to let slip, to miss an opportunity,'

CuoTpeTe He mposaebalre Takol yzoSmm#t cayuait,
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Item:

A number of Russian verbs, such as

TeaerpafipoBaTh, OPraHH3OBATh, ATAKOBATL, DAHHTH, DACCJAEZOBATE

MHHOBATE ('to pass')HCCJELOBATDH, HCIOJb3OBATEH, etc,, are at the

same time both perfective and imperfective,

This means that their

present tense and perfective future are identical in form and
their aspect is determined by context only, ‘

Exercise:

Translate the following parallel sentences and

determine the aspect in which the verbs are used,

1)

2)

3)

b)

5)

B HacTOSuee BpeMs cHenHasb-
H&sl KOMMCCKSA paceJeiyeT npe-
CTYNHy AESTEABHOCTDH BPOAH-
TeJxeil,

3aBTpa I'eoJiOTH. CIIyCTSATCH
B yueJabe H HCCAGAYDOT I'OPHHO

- IIOPOAH,

B GamxailleM GyayeM TeXHHKAa
HACUOJNBL3YET HOBHE CHHTOTHYOC=
kue BoJokHa (fibres), manpuuep,
HATPOR ZAJS1 BHPaGOTKH IiepcTH

X Mexa.

Moero zpyra Temeps 4acTO HeT

AoMa: OE opraHua3yeT camo-
A6aTeAbHRN KPYXOK B IIKOJX®,

Mu HazeeMcsl, 9TO CAaIlONONYY~
HO MHHYOM ONAacHO® M4ecTo,
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Korzna xoMHGCHSA WOXYYHT Bece
HyXHHe MATOPHAJH H paccaenyer
HX, OHa ONYGAHKRYOT B Ial3eTax
AOCHTHO CBOJAOHHS,

BaxTepnoaor celiwac 2amar:
OH HCCAOAYOT KDPOBb,.

B Haile BpeMmsi TeXHHKE HCHOJAb=
3yeT nepeBO, HedTH, YyroJas B
a3 4a9 BHPaQGOTHKH RCKYOCTBOH=
HOI'0 BOJOKHEa,

Korza paGora B Kpyxke Haxa=-
ANTCSI, OH OPPaHHU3YeT B XOD.

MH eZeM BCE Inasmlle Ha BOCTOK.
lices MUHYET CTAHU®BHO 3a cTau-
nueili ,ropos 32 ropoaox,
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_ Item: In some constructions, a change in the aspect of the verb
may lead to a drastic change in the meaning of the sentence, Thus
in combinations of umoxeT G6HTH with the infinitives of verbs the
" following result are obtained. '

OH MoxXeT He npuexars (perf.) It is possible that he'll not
HA& COGparme, attend the meeting,

OH MoxeT He NpHESxaTh (imp,) He does not have to attend the
Ha cofpaHme, meeting.

Exercise: Read and translate the follbwing sentences,

1) PyroBozuTOXD» KPYXKa 3aloxen,. PeGeHOKX wyBCTBYyeT celss OT=-
' OH MOxeT He npmuirTn Ha pene=- JEYHO: Bpaw MOxXeT HO IpH=-
THIOND . _ , XOARTE. '

2) Mo# Topapmm OYeHb paccesHHHI: ToBapH MOXeT HE NPDHHOCHTH

"OH MOXOeT He NDHHOCTH B3SATOrO BBSTO'O0 YueOHHKA, TAK Kak
Y MeHsa y4YeGHHKAa. Y MeHS eCTh BTOPOH IKUBOM=
: NLAAD.
3) CecTpa CKpDHTHas: OHA MOXeT CecTpa MOXOT HE pPAaCCKalZHBATH
. He_pacckasaTs O cBoel odmae, o cBoell o6mze, NMOTOMY 4TO

S A TaK 3Ha 3TO AGIO.

4) ¥=me HO3ZHO: MAaTh MOXET He MaThp MOXET HO [OoCTaBaTh
JOCTATh OmIeTa Ha MOe3A. : 6uneTra Ha Ioe3s, NOTOMYy €4TO

6BXOeT yXe eCTb,

5) Mu nepeexanm B ApPYyryr Iuc pMOzOCEl MOXeT He IPHHO=-
" KBAPTHPYS: IHCEMOHOC I CHTHh I'a36eT, NOTOMY 4YTO MH
MOXeT He NPHHeCTH raseT yezeM,
ceronHx,
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ltem: The verb HaZoezaTn - magoecTs means 'to be sick and
- - e ——— e ——
tired of something,' 'to be bored with something,' 'to have had
enough of something,' 'to be fed up with something.' 1t is used
in the following constructions:

a, with a verb: M=ee iglcexo pasorTarTs,.

b with a noun: 37a paGora MHe HazoeJ a4,
Mue HaZOex0 aTO oxmAaHwWe.
MHe HazoeX oTOT iIyM.
Mre HazoesHm BamE Xa’MOGH,

Note the difference in structure in patterns 'at and 'b. Note, .
also, that the perfective form HazoecTs is conjugated exactly like
the verb e6Th: ‘to eat' HazoeM, -emp,etc, The Russians use the
past perfective form of tbat verb when they want to say:*'] am
sick and tired of it all!' Mme Bo¥ Hazoexo!Perfective imperative
is not used,

Exercise: Combine MHe Hazoen.., with each of the items listed
to the raght, Example:

Mue HazoeaO XHTb. Mue HaJAoeJa8 XHSHb.

MHO HaZOGMeeeeo XZaTh, MO padoTa, Balll NPOCHOH,
3TOT WyM,CHA6TH (663 zeJa,
3TO CKYYHOe IeJ0, Pa&HO BCTABATSH,
GeCKOHOYHHO CIODPH, 3T4 CKYYHAS
KHHra, BallH DJIYNHe BONPOCH,
CTOATHL B O4Yepeam, Mo cocexn,
4YTeHHe raseT, MHTb HOCYAY,
IIOCTOSHHH® [LOXAM,3TOT I'OPOA,

ACHOOJHATD BAIIM KANPHU3IH,
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Item: The use of the verbs HazoeaaTh - HANOEBCTH involves Some
problems peculiar to that pair, as will be shown in the following
exercise,

. Exercise: Read the text)completing the sentences with either
of the two suggested verbal’ forms,.

1) anhré OPEXOAUT KO MHO KaXIAHHU [OHE X eseecccece (xanoenaer,
HAZOeCT) MHe GBOMMM pa&3roBODaMHU,.

2) KODZA BEM sesocecascs (zanmoecT, Hanoenaer) YRTATH, MH C BAMHA
noﬁaeu DPYJASTh.

3) MHE yX© ZABHO ceccecese (HANROBKO, HAZOOAANO) -aTO0 neao,
HO NPHXOZAMTCS MM 3aHMMATBCS . ,

}) PaHHIe HAM YBCTOecsescssses (HAZOSASAH, HAZOGNH) HANIM CKYHYHHE
. COCeAK, HO TeNneph OHM OCTABHJIN HAC B IIOKOe.,

5) 4§ 6owchb, UTO,eCJHM MH GyZeM HacTO NPHXOLAHUTH K BaM, TO CKODPO
®eeeo00000e0 (GYIIGM HazoenaTh, HaEOenm) BaM,

6) Balm HeyMOCTHHE WYTKE MHO AABHO sececcscses (HAKOOZANH, HAZOOJH).

7) MHE ceeesccsoe (HAZOGNO, HAZOGAAJNO) CJAYNATH, YTO OH I'OBODHEX H
A yues,

8) OHE YEO ececsece. (HAZOGRANE, HAZOGJHM) APYT ADPYIY ® COCHPADTCS
PasSBOAHTHCS o

'9) He ccescscocofimperative) rocTo CBOMME BONPOCAMH.

10) OH MHE [O CMEDTH eseccscsece (HaZOOAAN, HAZOGM)
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Item: Centuries ago the Russian language had many more verb

tenses than it has now, There was, for instance a *pluperfect?
tense, long since defunct, However, traces of it still exist in
the language, namely in the use of the word ORIO with another
verb in the past tense, to describe an abortive action, i.e, an
action attempted and then given up. Example:

fl Havaa OHJIO y9YHATH dpaHLY3CKHAN I3HK, HO CKOPO GPOCHA,

In such a structure the word GHI0 is no longer considered a verb,

but is treated as a particle and is unchangeable in form, unlike

the normal past tense of the verb GHTb.

Exercise: Read and translate the following Russian text & identify

sentences where Ouio is used as a particle,

1)

2)

3)

L)

5)

6)

7)

8)

Ha moake GHAO MHOro KHAr, § B3SX GHAO HCcTOpPHYeCKUH# pomaH,
HO MO€e BHHMAHHO OTBJOKJAa COJhlIag KHHPa ¢ HAANHECHHL "XKA3HB
X¥uBorHHX",

Biepa B 6u46anoTeKe GHIO OGCYXRAOHHE HOROH xHAPU., 51 XOTea Srre
BHCTYNUTL, HO 3aNACABUWHXCSH OKa3ajloCh W 663 MOHS CJMIKOM MHOTO,
¥ NO3TOMY # pellnJ HHYero He I'OBODUTE.

CRI0 oveHb xapro., S mowdx GHIO KynaTscsl, HO 1O ZOpPOre BCTPOTHA
ToBapue#, ¥ OHH HNOPBAJM MOHS C COGOH HA GTAAHMOH.

Tpyauo 6mao yuuTees moemy APYry, OLHO BpOMS OH Z&X6 XOTOX GHAO

OPOCHTH WKOJXY, HO NOTOM BOSA €665 B DYyKM M celivac yumTes ne
Xy%e IOPYTHX.

Ocenpw, xorza Ha yJnle GHAIO XOMOAHO, HALKM KOMHATHHE pacTeHns
HavYaly OHIO POHATH JUCTOYKH, HO 3TO OHCTPO NPEKPATHAOCE.

Coanne casamnochb,  Illocaezunit AYY CKOJBIHYJA OHIO NO BepXYyWKaM
AepeBr6B, HO W OH IIOrac, .

Heckoxpko BHIIYCKHHKOB Hameif mxoJaw vemnin GHJAO MOCTYNHTH B
HHCTHTYT, HO NepeAyYMajhyM N IIOLAR padoTarr Ha 3aBOZA,

Horoza Gwao YyCTaHOBRJIACH, HO NOTOM CHOBA& 3axoJoOnaN0,



Item:CMOTPHE in combination with the imperative of another
verb gives the order or suggestion a particular strength. 1In so
doing cMoTpE loses its original semantic meaning. Therefore,

CMOTpHTE® NPHXOAHTEO H& cofpanme is translated as *Be sure to come

to the meeting,®

Exercise: In the following text show where CMOTDH means ‘look®
and where it is merely used to strengthen the imperative of another
verb,

1) CumoTpm npamo mepex coGoif.

2) 'Cuoggz He onaszxuBall,

3) CuoTpH HpPHHECH KapTH.

4) BumMaTesnBHO CMOTPH Ha AOCKY.

5) CuoTpm npnxonn‘soapeus.

6) Cuorpu-na KapTye

7) CumorpE cayma#f Kax CJAEAYET.

8) 3zecs» croap3ko. CMOTPH He ynaaHd.

9” CMOTDH KaK KpacHBO NHII6T TOBAPHN.
10) CMOTpH IVIIM KPAacCHBO.

11) -Cuoggn KTO=-TO 3aGHI DPYIKY.

12, CMOTpE He 3alHBait Hac.
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Item: 'Let us do' something is rendered in Russian by gpaBalt
(naBanTe) in combination with the infinitive of an imperfective
verb or the first person plural of the future perfective,

Exercise: Form such constructions using #AaBall (napaiire)
in combination with the verbs given below,

Example: HrpaTs B maxmaTH, llonrpaTs B mwaxmaru,

1)
2)
3)

4)

6)

7)

8)

9)

10)

11)

12)

JapaiiTe mrpars B waxMaTH, Jasaiite noArpasx = mWaxMaTH,

CTpouTs rapax, IOCTPOHTH rapax.

Hrpars B kaprTH, CHI'PaTh B KapTH,

YUTaThL BCAYX, NOYHTATH BCJIyX.

PewaTr KpoccBOpZ, perTs KPOCCBOPA.
CaymaTs pazuo, nocaymars pazuo,

KpacuTe sa6op, noxpacmrs saGop.

FoBopuTes mo-pycxm, HOrOBOPHTH NO~DPYCKH,
Oruﬁxarb, OTAOXHYTH,

MHTP MaUMAYy, BHMHTH MAalMHY,

Kynareess B PeKe, BHKYNATBCS B pOKe,
epeBoZM™ 5Ty kHHIYy, mepeBecTH 3TY KHAIY, _

CaxaTsp AepeBbsi, IOCAAHTE AEPOBHT,
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. 1tem: When it is des;red to express not a command but merely
a wish or suggestion, Russians, instead of the imperative, use the
so-called conditional mood form, i.e., past tense of a verb plus GH.

Exercise: Transform the follow;ng sentences according to the
pattetn given below,

Moumralt Beayx. TH GH HOYHMTAJ BCJIYX.

1) Hanpum 3aMeTKY B CTOHDNa3eTY.
2) Cxozm B uyaéﬁ.
2) PacckaxuTe HaM O CBOeM IYTEWOCTBHH.
L) IHoawxneifiTe pasopBaBHyK CTPaHHLY B KHHAIe.
S) BiyYE CTHXOTBODOHHKS.
6) ToroBBCH K éonnany.
7) TorosopmTe ¢ HUM.
8) 3SammumTeck B KPYROK.
) 9) CxozmTe Ha 3&BOZ.
10) Bu3OBHTEe AOKTOPE.
11) .Hocoaeryﬁrecb CO CHenNaJNCTOM,
12) TNosuzaiica ¢ HuwM,

- 13) IpuraacuTe ero kK cede.

1ly) [omorm eMy peuMTH Sa8ZaTY.
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ltem: The verb cTomTs is widely used in expressions of the .
type 'It's worth (or not worth) seeing,' The Structure used is
the third person singular of cromrs plus the infznzt;vg of a verd
(generally perfective in positive sentences, imperfective in
negative ones),

Exercise: In the following sentences replace imperatives with
the construction presented above, Example: ‘ :

llocMoTpuTe 3TOT drasn, 9TOT ¢mABM cTOMT IOCMOTPOTE,
He eworpmure artor (112 %,$ ST OTOT ¢dmaBM He cToMT CMOTPEeTS,

1) Cxozure ma ary Bﬁcrasxy.
2) He zamaiite euy ZeHer,

3) HKynmmre ary KHHADY,

L) He noxynatire S3TY XHHTY,
S) He xozure Tyza.

6) THozywmaiiTe o060 mze,

7) He nporecTyiiTe.

8) He roBopmrTe Taumx Beieit,
9) llaiite emy HaPpazny.

10) CmmmmETe oTOT BHM,

11) He coBeryiitecs c¢ HAM,

12) Ocwmorpmre sTOT Myseii,
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At _home prepare 2 written translation of the following sentences

1)

2)

3)

4)

S

6)

7)

8)

9)

10).

11)
12)
13)
14)

15)

into idiomatic Russian,
Don't slam doors, (item 2)
A special committee is investigating the criminal activity of
the saboteurs. (item 4) '

Larin did not feel well yesterday so he may not come to work
today. ‘

“You don't have to go to that meeting, I'11l attend it myself,

We are now organizing a theatrical group, Next year we shall
organize a choir,

I am tired of your constant complaints, If you don't like

your job, look for another one, (item 6)

‘They are fed up with each other. (item 6)

The meeting is at six o'clock, rBe sure to come on time,
Push the‘doo;:.it is not locked.‘(itém.Z)

Why are you yawning? Are you sleepy? (item 2)

Wave to the driver and he'll stop the bus for you., (item 2)
This'exhibition of folk art is worth seeing,

"It is not worth while going there,

Don't annoy the guest with your questions, (item 6)

You swim well, Can you dive, too? (item 3)
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UNIT X
VERBS

ltem: The most abrupt and forceful way of conveying an order
in Russian is to use the infinitive. That is the form frequently
used in military orders, Example: OTKPHTE OroEb! ‘Fire!' It is
rarely used in everyday life situations, ' .

Exercise: In the following sentences replace the imperative
by the infinitive form and vice versa, Example:

CaywaliTe BHMMaTONBHO, - CaymaTs BHEMATEABHO.

8. 1) TIo30BAT® PPY3YMKOB M BOZOJIA3O0B.
2) Pa3arpysnTe mapoxoz.
3) HazZeHbTe BOZOJMASHHHE KOCTIOM.
L) Omycrurecs nox Bozy.
5) OrwunTe saToRyBumMii rpys.

6) IleiicTByiiTe OCTOpOXHO,

be 1) HocTpouTses B xBS mepeHrr (ranks)!
2) CTosTH CcMHpHO!
3) CumorreTs npamo mepex coGoii!
L4) Jsmars poBmO!
5) CaeamTy 3a auxanmen!
6) Cnenats nmBa mara Buepexn!
7) HATY B TakT MysHke!

8) IpozexaTs rmMHacTEIeckue YIPaxXHeHH .
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Item: Some verbs in the imperative form occur in idiomatic
expressions, Several expressions, very often used in the spoken
language, are presented, here,

Exercise: Test your tfeel' for their meaning by matching
them with their English equivalents in column 2 to which distrac-
tors have been added, Example: The meaning of the first item in
column 1 has been identified by the placement of number "1 in
the correspondipg parentheses,

"COLUMN 1 COLUMN 2

1) TlpmBeam ce6s B HNOPSAOK, ( Y. pitch dark
TOPO B DJASAR IOCTH IPUAYT.

2) B oceHHHe HOYH TEMHO, ( ) quite empty
. XOTh IJia3 BHKOJH,

3) OueHb WacTO GOZEET OAHA ( ) hit and run
' neBOYKAa W3 HANEro KJIEcCa;
TOrO W XAM Ha BTOpPO# IoOXA
B TpPOTbeM KJIacCe OCTa=

HOTCH o
( 1) at any moment

ly) Heyrmaumas Gwiaa oxoTas ( ) it looks as though
HE OZHO# YTKH He NOACTPEeJARJH.

C cyuxax nycTo, XOTh WIApPOM
TIOKAaTH,

[l
=t
[\¥]
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Item: The verb haBaTp = AaTh is used in a number of idioma-

the verdb, which’ is *to give.'

D - - -
the meaning of idiomatic ex

them connected with

the basic meaning of

Exercise: As in the preceding exercise test your ‘feel' for

Distractors have been added,

1)

2)

3)

L)

5)

6)

7)

8)

9)

10)

COLUMN 1

Ewro noxasaHo, 4YTO CBHAETONB
coJsrat, Torza OH rFaJ 3afHM¥ XO0I m
OTKAa3aJCsi OT CBOMX INOKASAHHAM.

YTo6H 3HexaTh- OTCHAA, BaM INPHAETES
LaTh 3aiHUE XOZ.

i Gowchb, YTO KyNUB STOT AOM, & Aax
Maxy: 3anJaTHa CJARIKOM AOPOIo,

3a 3Ty rpy6yn OWMOKY HAYAJIBHHAK
8N eMy AYXY.

3a naoxyw pasoTy eMy ZAaau o uanxe,
¥ OH ONATH 563 paGOTH,

JaliTe MHe CXOBO YTO BH NMepecTaHeTe
IIHUTDbe

On He pa&T IIPOXOA& HEM OAHOHA

XOPOWEeHbKON XOHIHHEe,

OH cTaJ CJIHUKOM TpeGoBaTeJbHEM,
nmopa ZaTh eMy o pyKam.

Bu mMoxeTe zaTh MHe B3aiiMu pyGaeit
aarTenecaT?

BL uMoxeTe naTh Miie czZavy ¢ aeci TH
pyoGaeit?
Ecam on Bac yaapuT, zailiTth ey czaum,

T'rropsT wro B COBETCHEOM COWM3E HENB3T
£2BaTh Ha v4aii,

Ja#l _emy BoJo, OH BC& TYT BBODX AHOM
aocTasuT.

lIo ymeHuw ArpaTs B UAXMATH OH ZacT

J000OMY B3 HaC CTO OYKOB BIOpExL.
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pressions following the same procedure,

COLUMN 2
to lend

to put in
reverse

to be fired

to pursue

to get a hat
to give chaﬁge
to join hands
to forgive

to give one's
word of honor

to hit back

to make a 'boo-
boo?

to rap over the
knuckles

to tip

to withdraw
(to retract)

to let one have
one's own way

to be way
ahead

to give thell!



Item: Perfective infinitives of verbs combined with the

?
negatave partlcle He, serve to express an action which the speaker
deems impossible to accomplish., Example:

9Ty peuxy He nepelitw BGpoZ., (HeBO3MOXHO nepefitu)

MHe He BOpHYTHhCH HA POAHHY. (HEOBO3MOXHO BOPHYTHCS )

As can be seen from the above examples the logical subject,if any,
occurs in the dative case,as in the second sentence.

Exercise: Use the above structure 1ntroduc1ng it in the
sentences giver below,

Example: 5l He MOry pemHTH ITY 3anavy. MHe He PpOUMThH 3Ty 3aAady.

1) § He MOr'y BacCHYTb.

2) Bu He MOX6T6 IMOAHCKATH Ce6e Jydmero néxomnnka.
3) MH He MOXeM IPOCHTBCS Yepe3 I'OpH.

I}) Bu He MO%XeT6 MEPOILIHNTh CYPHYW I'ODHYW PeYKY.

5) § He MOry SaGHTH POAHOH# ropoZ.

6é) Bparum He CJOMAT Hac.

7) OTen He nmepexuUBET 3ITO I'OpP6.

8) Tomapmm caoMax ce6e HOry, OH He 6yneT ¢yTOOJACTOM.
9) 5 He moOcTaHy OmJeTa Ha ITOT CHEKTaKNbe

10) Bu He noliMeTe MOMX AymeBEHX NepexXHBaHRU.

11) BH He MOXeTe NepeBecCTH 3TY cTaTho (e3 CJOBaDPT.

12) On me BHIZST U3 3TOr0 TAXKEJOI'O NOJOXKOHHS.
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verb XOTeThk is a good example,

l1tem: The Russian language favors impersonal constructions,
or, more correctly, grammatically impersonal constructions, since
the logical subject is often present (in the dative case)., The

5 xouy crze3anrs B EBpomny.
MHe xovyeTcsa c¢be3ZHTh B Espomny.

Compare two parallel sentences:

Although, strictly speaking, the act of volition is definitely

more stressed in the first sentence, these two structures are for
the most part used interchangeably,
cularly used in speaking of physical conditions., Example: Xxouercs
CII&Th,

1)
2)
3)

)

5)

6)
7)

8)

9)

10)

11)
12)

The reflexive form is parti-

Exercise: Change the following sentences into impersonal
constructions, remembering that the reflexive verb is always in
the 3rd person singular,

5l xouy noMous eumy.

5l x04y nocMOTpeTs 3TOT PrIPM.
CecTpa xoTesa yo8xaTh H3 DPOPOZ&.
1 xouy BHCKA3aTH CBOE MHEHHO,

MH OYeHL XOTeJH IIONacTh HA 3ITOT
KOHIePT.

PeGeHOR X0YeT CcnaTh.

3TOT nMucaTeJb XOYeT HANHUCATSH
poMaH 3 pycckKoi XH3HH,

Cocea XO0YeT KYIATb MO® MOTOPHYW
JOAKY o

51 X049y noAesIHThCS ¢ BAMH NPASATHONR

HOBOCTEKC,.

OH o4eHp XCYeOT OOJYYINTE NIOBHIUIEGHHEO

3apILIaTH,
il ycTan B HUYEro HE XOUY ZAeJaTh.

EpaT XxoYeT KYIHUTH aBTOMOGHJb.
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Item: Constructions similar to those presented in the preceding
exercise are also frequent with some other verbs (but not with all
by any means), Example: OH He MOxeT CHaTh., = Euy He cHmTCH.

Exercise: Read the sentences given below and change impersomnal
S ———————— . .
constructions into personal ones and vice versa, Remember that the
equivalent of Mue He padoraeTcs is f_He MOTY pesorarh and not
5S_He padoraw. . :

7) Mre He paGoTaeTcs COIOAHHA. f1 He Mory pacdoTaTk cqronns.
2) Kax BH XHBETE? Kax BaM ®HBOTCH?
3) Mne xopomo xnaércaf teccecscacessesecesessans
h)- MHe He BepHTcH, 4YTO Mol#l crapmit ccecccccssscssccssccscons

. ApYT yMepe.

S) MHe nyuaerca, 970 nyHO OpPaHnsoBarb 0000000 SRQCEECPCEOROIOGOROEROEEOSOIOTTDS
KOJIIOKTHEBHY HNPODYJAKY . :

6) Oren HO MOXO6T CIaThe . ooooooooooooooooo;oocoooo

7) HO?BMY BH He CHIAHTe noua? esessececseccssssssccsessee

8) H HO Bepnﬂ, YTO MEeHA Boabuyr é ceeesce0000s0000000OOROOGOOEECEES
IKCINOAEIIHAL

9) onpom nor’ony HAaM He CRIANTCH noMa.ooo.Qooaooo'o.oooo..ooooo
10) § AymMam, 9TO Balle PELIEHH® NPABHABLHOB,ccccecsccscccsscccoscccce

11) § He xonMCalX CTATHO; COINOAHA MHE HE ceccccsccccccccccscccncsse
OHIOTCH o

12) Ceroasa s MpocTO. He MOI'y paCoTaTh. R
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Item: Parallel structures exist also with regard to the verbs.

—m——

#HTepecoBaTy» and HHTEP 6COBATHCS o

Examples: MeHs HHTepecyeT ncropus."'Histgry interes?s me, '
Jl AHTepecyCh HCTODHGH, 'I'm interested in history,'

Exercise: Following the above pattern, change sentences given
below from one form to another. Both structures have practically
the same meaning, As shown in the examples, both constructions
are grammatically personal and the verb agrees with the subject,

1) Vuenoro HHTEPOCYKT APOBHOCTH. Yeenuit narepecyercs apen-
HOCTsIME,
2) IOmcartexas HHTOpeCYeTcs XHUIHBO [lmcaTesras muTepecyer xzani
kxouxo3roit nepeBmum, Koxxo3nolf aepemmnm.

3) @av.a aaKHTepecoBuo HOBOQ Jexamrno. .........'....‘.......Q‘.‘

u) np°¢accop aerepecoBMca arm GMB- LN 1 LR AR JE B BN BN VX S SN WY LU A I BB B WY W)
HEHM

5) cnoprcueHoB nnrepecoam nrorn ua“a. 00000000000 e ®e 0000000 . L ]

6) Ar‘ponou nnrepecyerca ceuenm m .........................
nocesa,

7) MaunrgucTa HHTOpOecyeT HOBHIi napoBoO3, $00c¢0cc000rc0s00000s0s00e

8) ﬂnpexrop ¢a6pmz nnrep&yercﬂ Bmu- .......................'.
HOHMOM ILIAaHAa,

9) 3mecs» Bce mmTepecywTOS NOMATHEORe cevvvncocscscocscoccceses
10) D3ro Baec mHTepecyer? tteeccecssscescsscncsness
11) 5 me murepecywes Texmuxoif,
12) Kakxas mxoaa XHBOIIACH Bac OCOGOHHO T

HHTepecyeT?
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Item: The verb cJezoBaTh is often linked with the adverb
Kag - Kak _cJenyeT.The meaning conveyed is that something is, was
or will be done well, -thoroughly, as it should be done,

Exercise:

above structure,

1)
2)

3)

L)

5) -

6)
7)

10)

CoBeTyn B&M XODOWO OTAOXHYTb.
PaGoTa caesaHa XOpOWO.

Bzepa MH XOpOWO 3aKyCHJH H
BHIUAH,

HuecnierTop HamEa, 4YTO Y HAC

BoE XOPpOIO,.

He GecmokoiiTecnr, BCcE 6yaeT

XOpolo .

$l X049y XOpOWO MOATOTOBHTBECSH
K OK3aMOHY,

lloeTapafiTecr XOpomo HANHCATDH
Bally KYypcOBYH DAOCOTYe.

f eue XOpOWO HE O3HAKOMRMICH C
3THMH ZHOKYMOHTAMH,

'Benm cefs B WKOJe XOpOWO,

Crapalfics y4Y4HTbCH XOpOUO.
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l1tem: Many nouns are derived from verbs. Where a direct _
object 1is not involved the noun will govern the same prepositions
and/or cases as the verb,

Example: HazeATscs Ha cnacenme.
Hapexza Ha cnacexwe,

Very often, but far from always, the derived nouns end in -eume
or -aHmue. —

Exercise: Bearing this in mind, replace verbs with nouns in .
the phrases given below. Test your recall, as well as 'feel! in
supplying the derived nouns on your own, Should the noun escape
you,look at the list at the bottom of the exercise, The verb and
the noun are marked by the same numbers,

1) AruT¥pOBATHL 3a paéopyxenne. AruTramus 3a pasopyxenme.

2) Becenosarr ¢ npodeccopom, Beceza ¢ npodeccopou,

3) BopoTscs 3a MepBeHETBO 1O I
BoJseliGoay .

L) Brawumrs B cnmcox. teececsseccesesecesccscscscsene

5) OTpHBaTBECH OT KOLXOKTHBA. “ecccccecctcrcnsscscsnscosesnns

6) bMQQB B OGH(QGTBGHHYIO paGO'ry. 0000000000000 000000000OOIGERGIES

7) mcxmuarbca xnaonnc bm. *S* GO0 00000 Qe0o0 e O ®O0OGOOGOSGIOGOEOISIOSOIISIOOOITEO
8) Bc’rpei‘n’l‘bcac ADPY3baAMHU, toQcoo0000000;0000.00.0000.0.00
9) 3a6°rnrbca o ceube. S0 000000000 000 O0OGOQGOIOGOOGOOIOGIEOIOEDNINDOS s

10) BHaKOKKThcs ¢ HOBOi TemeOﬁ. oooo.oooooooo.o.o-oooao.oooooo.o
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1)

HrpaTs B dyT6or,

LN B B 0 BN B BN BN B BE BE BE N B B BN BN BN BN BX BX BN N J

OGBHHATE B HOAHCHHNIMHEPOBAHHOCTHee e ceoecscrccccsssscaseess

12) Med4TaTh O GyAymeM.
13) JYopexaTh B HeCNpPaBeIJIUBOCTH,
1) HacxaxzaTeCcs HCKYCCTBOM,.
15)
16) Onoszary Ha YDPOK.
17) THomous cOBETOM.
18) JOCTYyNATE B HHCTHTYT.
1G) . YKJIOHATBECS OT OTBETA.
20) [IpuraacuTD -Ha WKOJNbHHHA Bewep.
. Reference:
1) arzranus
2) Gecena
3) Gopsba
}) Bravzexme
5) orpus
6) Bosjeqenne
7) Bocxuenme
8) B=mecrpeua
9) s3aGora
10) 3EaxoMcTBO
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Item: With verbs used transitively the situation is different,
- The accusative case of the direct object of the verb will be re-
Placed by the genitive case when the verb is replaced by a noun,

Example: [lpmMeHNTE HOBY® TOXBEKY o
[IpuMeEeHA® HOBOR TOXHHKK,
Exercise: Replace the verbs by corresponding nouns as in the _
precedang exercise, .

1) Bo3BpaTHTH KHHPY. BooBpamenue xumru,

2) BosuecTHTL yOHTKH. BosMemen®e  yGHTKOB.
3) Bo30o6HOBHTE pasorTy.  eeeesseersccesessncscscscasene -
4) Boemmrars HOBOe nokosemms. Ceccsecctsecascssesccccncsenese

5) R)ccraHoBKTh paapymeHHHe Poponaﬂ................0.............

6) BpyuuTs Harpazy. .............................;
7) BsmoxmuTs nopydeHue, | S
8) Hexasurs Texcr. ...........................;..
9) HaxeumTs doaeaﬁb. R
10) HapyI'uThs NOPSAOK. R R R R T L L T s
11)v OCBeTHTE yJamny, ..;............................
12) Opomars nycThHwn, B R R R TR TP PP
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13)
1)
15)

16)

17)

18)
19)
20)

21)

22)'

© 23)
24)

25)

26)

27)

28)

OcBOGOIHTS SAKJNYOHHHX,

Ornggnnrh 00034
[IOAYYHUTDH IIHCEMO,

[IpeXPaATATD WYMo,

IpEMEHHTDL HOBHE MeTOZ.
Hpohegxrs KOHTOKCT.
[lpoBecTA Geceny.:
[IpOROAXHTE Pa3roBOP.
;Paaragarb sarazry.
Pénaxrnggaafs Yy4eCHEKE.
PemuTh 3ak84ye.
CopTHpPOBATDH OBOINH.
CnacTy ToBapHua,
CopiraTe DJaroJse
JYKPENHTH I'OPOA.

YAYUHNTL Pe3yJIbTaTH,.
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29)
30)
31)

32)

1)
2)
3)
4)
5)
6)
7)
8)
9)
10)
11)
12)

13)

1) -

15)
16)

YMenuvHTL pacxozn,

YexopuTH PasBas3ky,
YCTPaHHTHL HeAOUSTH,

XpaHUTHh AOKYMEHTH,

BO3Bpame HEe

BO3MeWeHne
BO305HOBJAGHNO
BOCITHTaHHO
BOCTAHOBJIGHHRSO
Bpy4YeHne
BHIIOJMHEHHE
HCKaxeHne
H3Je4YeHne
HapylleHHe®
ocHEBlieHRe
OpoWeHHne
OCBOSOXZIOHUe
OTnpaBJIeHHE
IOJNy4eHIIe

IIPeKpalle HU e
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17) nprmenenme
18) mpomepra
19) npomenenme
20) npozoaxenme
21) pasrazxa
22) penakrupoBamme ( penaxuus)
23) pewexnnme

2l) coprEpoexa
25) cnacenue
26) cnpaxenme
27) yrpennemme
28) yxywmemme
29) ymenmmerxme
30) yexopemne
31) ycTpanemme

32) xpanemme
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At home translate the following sentences into idiomatic Russian.

1)

2)

3)

4)

. 5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

It*s a difficult text., You'll never be able to translate it.
(item 1)

It's pitch dark here, I cannot see a thing, (item 2)

I not believe that all our worries are over (use reflexive
form;.

1 could not sleep last night and I kept on thinking about
that problem tuse reflexive form),.

We had to reprimand him for tardiness . for work.

We have no food in the house, The ice-box is quite empty.
(item 2) , ~

All accusations made against him turned out to be unjustified,
Dodging the draft is punishable by law,(item 9)

Application of a new method of production yielded excellent
results,

Please acknowledge the receipt of the letter. (moarsepauTre)
The street lighting in our city must be improved.

You made the right decision, -

The continuation of this article will appear in the next
issue of the magazine,

The commission is making a check of the personnel,

The solution to this puzzle is in the Sunday issue,
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UNIT XI
VERBS - ADVERRS

1

Item: As soon as we get away from transitive verbs which re-
quire the accusative case of the direct object, we see that the
rest of the verbs mostly require the genitive, dative and instru-
mental cases, A brief review of such verbs is presented below.

Exercise: In the following text substitute Russian equivalents
for the Englash words,paying special attention to the case re-
quired. Examples:’

Tpo6oBaTh IOBiIIHOBEHHA (answer - help - attention)

TpeGOBATH NOBMHOBEHHS, TPOGOBATH OTBeTa, TpPpeGOBaThH MOMOMHA, TPOSO-
BaTh BHEMaHuA (genitive case)

Verbs requiring genitive case:

1) HaGerars: BeTpeun (arguments, former friends, hard work)
2) Jnuurses ceMps (money, work, health)

3) Jocmearpes BeTpeun (raise in pay, success, recognition)

4) Jloerrrars ueam (important position, knowledge of Russian)

£) X¥exarty yzaaum (happiness, health, happy journey)

£) Cnacarses omepaumu (unpleasant consequences, arrest, loss of

job)
7} ¥nars nmuemma (cable, bus, answer)
* msderaTe means 'to avoid. ! In the sense of 'to escape' it is
only used in connection with escaping punishment, never to denote

escape from a place of detention., In the last case
GexaTh or yGexaTs would be used,
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Verbs requiring dative case;

1)

2)
3)

)

5)

6)

7)
8)
9)
10)
11)

12)

BepuTs oTEM cBezemmsM (the doctor = our leader)

BepHTb OTHM CBEJAEGHHSIM, BOPHTHL ZOKTODY, BEpHTS HalleMy PYKOBO=-
' ZRATOJD.

JloBepaTh kaccHpy (assistant manager, lawyer)

AmroampoBaTs cxpmnazy (artist, orchestia,singer)

YAEBASTBHCH HOBOCTAM (achieveménts_of science, this article,

the question)

3apEzoBaTHh Koaxere (brother, happy people, other people's
success)

HopumuaTbes npEkas3y (discipline, laws, this decision)
HazoeaaTh 3maxoMEM (boss, wife, friends)
AscTurs ( to flatter) mawaxpemry (lady, well known author,

’ famous musician)
Bbapaxarb aexropy (opponent, author of the article,critics)
HomensnTsr poamne (onet's word, party, wife)

BpeanTs zexy (production, health, work)

I'pyoaTs (to be rude to) poamTensu (father, mother, boss)
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Verbs requiring instrumental case:

1)

2)

3)

L)

5)

6)

7)

8)

9)

10)

11)

12)

YnpasaaTs rocyzapcrsom (car - country « house)

YpaBJsSITE FOCYAAPCTBOM, YNPABJASITh SBTOMOCHJIEM, YUDABJASTBH ZOMOM.
PyrkoBoanTs umrmcTepcTBoM (party organization, enterprise)
Benate (to be in charge) ¢mmamcawmm (heavy industry, education,
security of the country)
KomanznoBaTs po&oﬁ (platoon, regiment, army, corps)

Crarp naxeHepom (scientist, dentist, pharmacist)

CunTaThCss XOPOWAM OPraHW3aTopoM (prominent specialist, out=-
standing scientist, honest man)

SaHAMaTBCA PHMHEC THRO# (Sport, mathematics, foreign languages)
3aBeZOBATH Mara’lmHOM (library, hotel)

SaHEMATBCS cnopToM (Russian language, history)

HurepecoBaTses aﬁreparypoﬁ (music, technology)

JocoBatses (admire) smaom (picture, nature)

NoassoBaThca coBeron (experience, dictionary)
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2

Item: 1t happens that the same idea may be expressed by
two verbs which are either synonyms or near synonyms but differ
in case government., Example:

YnoTpesasTh (YTO?) AHCTPYMEHTH. [Joxb3oBaThes (9eM?) HHCTPYM@HTaMH,

Exercise: Read the following text completing the phrases
by supplying the object in the appropriate case following the
procedure used for the first element in the column,

1) HMmers zom. Braaers (wem?) pomowm.

2) lloBepATH MOMOIHEKY . [loxaraTpes (Ha KOTO?)sescoccee
.... 3) IpomBoxaThr npHATEAd. CxenoBaTh 38 (KOM?) ececsses

}). Xorers mupa. CTpeMHTECH (K 2OMY?) eecccee

5) 1HBHKTB .z::pyncc‘Sy° ' | JopoxuTh (46M?) eseesescssoce

§) Pyiﬁrsca 3a mraTéx. | FaparTupoBaTh (9TO?) cececee

7) HavaTh GTPOHTOABCTBO. preTynaTs (K Y6MY?) ececccee

8) VYmoperBOBaTH B ¢BOeM TpeGoBaHMH. HacTamBaTh (Ha 96M?) ceececee

'9) BazeTs KAPTHHY. CuoTpeTh (HA YTO?) cesescose
10) -anib pycckuit a3HK, ' BaHuMaThesS (46M?) ececceccceo
/ 11) IIpuMHATH OPELJAOXEHHe, ' CoraacHTheS (HA YTO?)eessseco
12) JIGHTH MYBHKY. Yaaexafscs (26M?) eeeevcvces
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Item: Let us consider two Russian sentences:

MockBa ~ cTosmna CCCP, - Mockpa sBRsSeTCS cTOMMUeit cccp,

In the first sentence the copula (present tense of the verb 'to
be') is omitted and the English translation of both sentences is
identical - ‘'Moscow is the capital of the Soviet Union.' The
construction with gBAA6TCH iS not a collequial one but is quite
common in literary and scientific texts. It is, therefore, worth-
while to be familiar with it, The main reason for mistakes with
this particular construction is that students are not sure

which elements of the sentence to put in the instrumental case
required by the verb ABJAASTCA, The answer is the description
part and never the object described. . Example:

1t is perfectly correct to say?

Croamue## CUA sapisercs Baurgarros,

but Croanna CUIA aBaseres Bammur ronoMm : _
would be absolutely wrong, Proper nouns, therefore, do not take
the instrumental case in such constructions,

Exercise: In the following sentences replace constructions

with #4BISeTCS with constructions involving the verb OHTE in zero
form, Example:

3TO pelieHde IBASETCH AJAS MOHST 3TO pelleHNe AJAsL MOHS goasiras
GOMBIIO# HEOXHAAHHOCTHIO. Heoxnnannocggf

1) OBepecT sBaAseTes camoii BHCOKO# ropoll Ha Semuom mape,

2) ©OTa xuWra aBJAseTCH B HacTosmee BpeMsa Coanilioil pezrocTHL,.

3) PryTes (mercury) asaseres OLHAM ¥3 3JEMEHTOB B Tadarne MerneneesBa.,
L) Huxoraes smersercs KEPYIIHHM CHeLKaJNHCTOM IO arounog ¢r3ure,
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5) .

6)

7)

8)

9)

10)-

g

Kro sBaseTcs pynosonnreneu Bamernro pr;xa.

30J0TO H copelpo ABIAALTCSH nparopgnnunn ue:aaaaun.

Cayx6a aBAsseTCS IAS nexs‘enanﬁrsennuu'zcroqanxou JOXOZa. .
[aaBHEM NPEIMETOM ero 3a60T SBJASeTCS 3A0pPOBbe 6rc XeHH,

Jiyna SBASETCS CHYTHEKOM 3eMJaH,

Camolfi xpynmo#f miaHeToX B Hamell cosHeYHOY CHCTOME SABIALETCA
Onuarep.

11) JwGEMHM HAOHTKOM DYCCKHX sBJAseTcs dall, a He Kode.

I. 12)

13)

)

15)

YaiikoBekHH gBAsETCS OAHMM A3 KpynHellmx pyccxHHX KOMIIO3HTOPOB.

PYTOOX ABASTETCS CAMHM NOUYASPDHHM BRAOM cnopTa B CoBeTCKOM
Cox3ze,

OpoTuBoxozourk# kpeiticep "Mockma" sBaAseTcs OZHEM H3 HOBeiumx

cynos Coserckoro ¢zmora.

B HacToswee® BpeMs RHXeHep HBAHOB SABASGTCS MOHM IIDSIMEM
HaYaXHHKOM .
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Item: Reversing the procedure used in the preceding exercise
we can always replace constructions with the verb 'to be! (omitted
or not) with constructions using fgBasercsd.

) Exercise: Replace constructions presented below with those
involving aBJaseTCH.

Exampile:
T'oxvapoB - us3BecTHHH pycckuit l'orvapoB SBISETCS HIBOCTHHM
NUCaTeAb, PYCCKHM nHCAaTeJEM.

1) HedTs - ocroBHOe GoraTeTBo AsepGaiinxana.

2) Jlepeso, HedTL, YroJam, ras = OCHOBHOE CHpP®E Z19 IPOR3BOZCTBA
TKaQHe! M3 MCKYCCTBEHHOI'O BOJOKHA,. _

3) HKanpoH - CHHTOTHYOCKOE BOJOKHO.

u)\ CnnTep - Beawvaillas naaneTa Haweii coamewHOU CHCTOMH,
5) Kuumra apyr ¥ nomommmk YeJIOBOKA o

6) Coun - xypéprxnﬁ I'OpPOA Ha YepHOMODPCKOM HOGEpexbe.
‘7) Anvas - zparousHuwi wameHs.

8) Boara - camas Goawbwas pera B EBpomeilickoll wacTm CoBeTckoro
Cows3a,
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9) KmeB G6ma crouuueil apesHed PycH.

10) [IlraTuia - OYeHb NOHHHI MeTaxLI,.

11)‘ KTo Temeps npexceraTeab IIpesuanyua Bepxosxoro Coserta (GCCP?

12) o mpoimoro roza POroOxXHH GHA HallUM HAYALBHUKOM.

Note:

We have just seen examples of how the present tense of the
verb OHTH is usually dispensed with in modern Russian, 1t is
worth mentioning, however, that the 3rd persons singular and
‘plural ecTh and CyTh are-still being used, It is enough to puint
out the construction

¥ Merss ecTh MallMHAa,

The plural form is sometimes found in scientific texts.
- Example: :

JbBH, THPPH ¥ NaHTeDH CYTh XHUHHEe XHUBOTHHe.




items arranged in pairs,
which are of a more formal nature, Example:

Item: The vocabulary used in communication changes with
the increasing formality of speech, In the exercise presented

below you will find utterances basica
but differing in degrees of formality and therefore characteristic
of different styles of speech,

Exercise: Read the following text and sort out the lexical

3aiiTn x npuarewn, HanecTr BUSHT npmaTeJwn.
EEE——

The first item is undoubtedly less formal than the second,

1)

2)

3)

L)

5)
6)
7]
8)

9)

10)

Jo3APaBATL BHIYCKHUKOB WKOJH, [lprHec TR mosapaBsenwme.,

ChesaThp yGOpRY TIOMOLLO H1S ngars KOMHATY .

HHTepecoBaThes OXOTOH, [IposBaSITE MHTEpPEC X dusure,

Bupaswrs GIaroAapHOCTE COTPYAHUKAM Mysesa, lloSaaronap4Tsk

CeCTDy 39 BHHMAHHE,

Iomnmars TekeT. OTzasaTh ceGe oTYET B IIPONC XOASTUIOM ¢

[lo6ennts Bpara. OzepxaTs nodeny Han BparoM,

CoOpocHuTs yIuTeass. 3azaThs BOIIPOC YYHTEJ,

Joc THPHYTH NPOKJIOHHONO BO3pacTa., CTaTh OTEPKKOM.

[peAnovuTaTs TeaTp CHOPTy. OKasSHBATE HPELNOYTEHAE TOAaTpY.

OTpemo uTUpOBaTH UKOAY. I[IDOMSBOCTH DEOMOHT WKOJH, -
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11y expressing the same idea

Decide which of them are colloquial and



twhich?' or

6

Item: Adjectives modify nouns and answer the question

'what?' kaxoff?

With verbs a corresponding function

is performed by adverbs answering the question 'how?' Kak?

Example:

Fopsusra (xaxasi?) 6JAAroAapHOCTE.

-

Exercise: In the text below replace 'adjective-noun'! combina-

Fopsseo (xak?) GAaroA8pPHTH.

tions with corresponding ones involving adverbs and verbs,

'1)

2)

3)

L)

5)

6)

7

8)

9) .

10)
141)
12)
13)
14)

AKTUBHas GopbOa.
Cxesasa sanmura,

Y:10pHass HacTOWYHROCTE,

- BAyM4YuBO6 YTOHHS,

PanocTHOE HAaCTpOGHWE,
Cepsevnass pasZoCThe.
Crnokoiinas Geceza.

RxaronpuaTroe BJIAHAHRG,
T'opsiues Boapaxeﬂue

[lpaBUAIbHO® BOCTIUTAHHAS

Xopomee mneHue
YacTOe :10BTOPEHWNS

Cmean## mocTymnox

CpouyHOe pelreHKe
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1tem: The process studied in the

7

reversed, Example:

the

1)
2)
3)
L)
5)
6)
7)
8)
9)
10)
11)
12)
13)
1)
15)

Taxeao paunrTs.

Exercise:
column,

BeceJao CMEITBCH,
HrTepecHO pacckaswBaTH,
[IppBeTaANBO npUEMMATE,
Tl'oprxo naaxars.
Apyxecku GecezoBaTs,
lopayo enopurs.
HecnpaBesauBo ynperarTs.
OHOPIHYHO ATrMTHDPOBATH.
HeoxmaaiiHo BeTpeTHTLCH,
Cayqailno ynacrts,
JlnGe3HO npurJIacuUTh.
A3apTHO HrpaTsh.

[TocTosHHO aacornrbcé.

CTporo npoBepsaTh.

'pomMro kpuuzaTsh,

135

preceding item may be

Taxenass pawua,

Follow this pattern applied to the first item of

Bec8auit cuxex,
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8

Item: In some constructions involving adverbs, the latter can be
replaced by adjectives without change of meaning, Example:

IIporyxxa JAeTOM. JleTHAS NPOryJAxa.

Of'course, such a substitution is not always possible,

Exercise: Follow the above pattern in introducing changes in

the following text.

1) ZexypcTBO HOYBM, HouHO® HexypcTBO.
2) Pa3sroBop IO COKPOTY. eesecsesssessssescssscsceo
3) [IiyremecTBHe BecHOl. cecccccseiesesccesssiacans
L) Toesaxa 3a rpaumny. esesececssssscnsessssssnses
5) PaGoTa zoMa. A ceecesesesssssssssccssncne
6) ﬁaﬁ YTDPOM, ' .q;......................,
" 7) [Imeps» vapyxy. cecesscsssessesssssssscscns
8) Hrpu smmoi, | ceccescssssssssesessesesess
9) lBerH aeroﬁ.  teesesesessscsccscecscsnns
_.10)"mapa B HpJO. ceeccscsccsessssscsacsesce
11) HKouHaTa PAmOM. cecesescescccsscsessrssses
12) XusHL BMecTe. A



Item:

——p—— . . - .
opposites indicating reversal of motion,
OTTyZAa

Test your recalle. Give the opposite of the adverbs

Exercise:
below.

1)

2)

3)

)

6)

7)

8)

9)

10)

9

Adverbs expressing direction of motion us:

Tyzna -

cioxa

Hanpaso

HaJieBo

BHHK3

BBSpX -

BHYTDPB

BAaxn»

BOOK

cnepeznn

Bnepéa

137

Example:

oTclna

cnpapa

.....‘....'....'

1ally have



10

‘Item: A few more adverbs describing movement or location
appear below,

-

Exercise: Replace adverbs underlined in the text with their

antonyms,

1)
2)

3)

L)

5) .

6)
7)
&)

9)

10)

1)

12)

me'peﬁn POPOX,

Kyas BH maETe?

IlBeph OTKPHBAGTCS H3HYTDH.
MH pemman HATH BIOEPeZX.
Ka6uHeTH nouemanTcsi HABEPXY.
§§gnan nouaaaxuéb TaHKH,
Hx xBapTEpa BHHIY.

OHE eZYT NOSaAM HAC.
CaeBa mocaHIIaACS IYMe
Jupr naST BBEpPX.

-Bemu 376CH.

Jlarepp HaxozuTCS BAAJAH OT
o3zepa,

llosaanr ropox.
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the
ine

1)
2)
3)
)
5).
6)
7)
8)
9)
10)
11)
12)
13)

1)

Item:

11

Learning antonyms of words you already know is one of.

most effective ways of extending your vocabulary,

Exercise: Replace underlined adverbs with their anto

the structure of the sentence

MoaxywaTs nmesma OTOBOD}I!.

bHCTpo maTm.

I'poMxo rosopmTs.
PaGorars gu¥M.
PyasTs YTpoM,.
OxoTuTrhecst smMmoit,
Hammmcars wmeToO,
Bcerzna yaméarscs,
YacTo GoaeTs,

Hesrats BeCE IO=-HOBOMY .
[loCuBaTys Besze.

9TO CAYUMIOCH AEBHO,

Torza s Gua c41acTJaAUB,

[lolizemTe Tyza BmecrTe,
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if necessary,

He noayuars nmcex HHOTRYZA,
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adverbial phrases frequentl
A few of such expressions,

12

styles, are presented here,

Exercise:

. Item: Together with other categories of words, adverbs and
y form part of idiomatic expressions,
widely used in Russian colloquial

Test your 'feel' in matching Russian sentences

1isted in column 1 with the English equivalents of such idiomatic

expressions appearing in .colu
in the parentheses provided,

1)

2)

3)

i)
5)
6)

7)

Yarress oOH Tar cede,

Or Ben8T cels M3 DPyK BOH

OAOXO.

My npoGHpaJHch MO KpAaw
orpara; ToBapuil MO# ITOCKOJb=

SHYJCA ¥ noJieTeJ BBEDPX TopMall-=

- KaM| Ha 10 OBpPAaT'A.

CAHaKO, OH He yud(ecsl ¥ BHIE3
OTTYZa K&K HM B YeM He OHBaJO.

YyTr CBOT BHILIA Ha pasoTy
MOJOAGKD o

OGen NpUroTOBAJIHM Ha CKOPY®
PYXY.

Or pa6oTaeT HEBHMMATOJBHO;
BC& ZlesaeT KOEe-KaK,

140

« D
(1)
« )
C
¢ )
« )
« )
«

mn 2 by placing corresponding numbers
Distractors have been added,

bright and ear1y§
at day break

S0=S0

hastily

light went out

tumbled head over
heels

as if nothing were the
matter

couldn't have been
worse ‘

negligently



13

Item: Instead of repeating a word occurring in two consecutive
sentences, it is often advisable to replace the second one by an
appropriate adverb, This results in a better style in speaking
and writing, Example:

MH cuzeau B cany. B caay Gmro Mu crzexu B canz. Tam GmI0
TIPOXJEAaZHO o , ITPOXASAHO o

Exercise: In the following sentences replace underlined nouns -
with appropriate adverbs. ' ’

1) Korza uH mpEIME B CTOMOBYD, B ¢TOAOBOM yxe OmX nozar odez.

2) iHa nepemene CTAPIMOKJIACC HUKR COCHDPAPTCS B Ropraope. M43 ROpMAODa
OCHYHO CJAHIIATCS WYTKE K CMEX.

3) & Bowea B capaii, B capae GCHJIO TEMHO,
i) Cerozua xu manpaBasemes B napk. B napx uaeT Bcs mxoxa,
5) Hapoa Toanuncs y spaHma nmpka. Hs UMPpKA AOHOCHJIACH MYSHKA,

6) HumemnmM JeToM IIHOREPE e3/ArAM B J1arepb. B Jarepe oum 3saropean
1 OXpenam, ‘

7) 5 nonyumn nmcuMO m3 MockBH. B MockBe xuBET aolt 6paT.

8) Moi# apyr npmexax ¢ Ypana. Ha Ypase or paGoTax Ha MamHNO=
CTPOHTSJNBLHOM 38BOA6.

11



14

At home translate the following sentences into idiomatic Russian.

-

1) 1 don't envy you,

2) He came to the station to wish us a happy journey,

3) This boy is often rude to his parents;

4) 1 don't like being on night duty.

5) Englishmen are very fond of their morning tea,
6) This desk has a secret drawer.

_7)' They went inside the house,

&) 1t is obvious. that our boss has no confidence in his
assistants, -

. 9) He keeps away from the other students,
10) The building of our Institute can be seen from far away,.
11) He is in the habit of flattering everybody.

12) t'How are you?' = 'So-so! (item 12)

13) The dress was made in a slipshod manner, (item 12)

14) Kiev is the capital of the Ukrainian Soviet Socialist
Republic, (use structure with aBasercs)

_15) The Moon is a satellite of the earth,(use the same structure)

L2



UNIT XI1I
PREPOSITIONS
1

ltem: 'he prepositions B and Ha which indicate location
and goal of motion are some of the most active in the language,
They appear to be somewhat arbitrary in their distribution, By
and large B refers to physical places, whereas Ha is used when a
place is identified through an activity that is taking place there,
Example: Harm® B ropoa, Hartm Ha aexnun,

In practice, however there are deviations from this rule, It is,
therefore, useful to exercise one's ability in using them
correctly,

Exercise: Read the Russian sentences,inserting the missing
=a2grcl1>¢e
-preposations,

1) Xoanrs .¥2... xexmun, 11) Yumrsea ..., mxoxe.

2) PaGoOTATH cecess hadpuxe, - 12) HanpaBRATHCH eeee nicrnnm.
3) VYYATBCH ceeeee HARCTHTYTE. 13) IIOGHBATEL eceess CTYARH,

l}) MoGHBATE eeese. KOHLEpTE. 14) BHOTYNATD ¢eses COGpammE,
5) CXOARTE eeese TOATD. 15) OHOBAATE eeeses YPOK.

6) Cnars ...... Barome, 16) CHOWHTH ..eees. 3acezanue,
7) TIODACTE ceseee CHOKTAKIB, 17) BORATD eeseee NMOUTY,

8) CHEGTH eeeseo. TpaMBae. 18) COGHPATHCH coveee KAYG.

9) EXATB eeeeee. BeaOCUmOZE. 19) EX8Tb eeeees 38BOA.

10) HaXoOZMTBCS eeeees COBEDE, 20) IIPHOHTD eceeee cTaHmAw,

3



)

2)

73)
s

L)

€)

1G)

11)

17)

1)

-
rikd
¢S

;)

N

’ ’ ltem: The use of B or Ha with place names is fairly unpredic-
table as will be seen from the following exercise,

-

Exercise: Supply the missing prepositions,

’ 1
Cne oun? ...18.,. KaBrase.
" " .
eesesece LAXuBrasho,
n 11
sceceee Kpuvy.
" ”" ’
sessees HPLMCKOY NOAYOCTPOBE,
n 1 ’
! esssece JEDANHE,
] n . s prpren s
csessae JELaLHCHOL 0]
" n .
eeoosesee NCTPOBO Baiiravy,
1" 1 .
evevese LUTADYU,
" " - ,
voesoeve /AABLNBY :¥CTL,V0O,
" " .
esvevsecn Jpaﬂn.
" " . ..
cvevees LDALIIOK Lunzn,
ssveoven --‘_-'Jz‘l'l_.'lro'i'.(l'-f ."._.'ﬁ: e
34 " -
vwveowve LR ik,
1] "
sveveee TLLAHG,
" n

ceoesssess CHRUBK ,T:NOCTHE,



Item:
of the moti
changes involving the use of new
positions,

3

Examples
Boiitm B zom,

[lpuexaTr Ha Yxpansny.

As already seen from previous exercises the ‘reversalt
on described in the sentences leads to structural
prefixes in verbs and new pre-

Buiite #m3 noMmy.
YexaTs ¢ VrpamHH,

Exercise: Change sentences below as suggested in the above

examples,

8. 1) TONOXHTH KHUPH B SHHK,
2) [lpuexaTr B KpuM.
3) [puiitk B TeaTp.
L) TNpuGexars B xOMHATY.
5) HreTeTs B OKEO,
6) BroasTH B meas,
7) BuecTu xockxy B waace.
8) BBo3UTH MamMHE B CTpaKEY.
9) BmecTr moceTurcxeli B Myseii.
10) BraumTs suxm B capaii,
11) BIOXHTbL KHUPM B CYMKY.,
12) BHecTn ZmBaR B KOMHATY,

45
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be 1) |
2)

3)

4)

5)

"

7)

9) .

- 10)

1)

12)

NMpuiith Ha ypOK.

MMpuexaTh Ha 3aBOX.

. lpureTeTsr Ha WI',

lIlpre3xaTh HA CTaAHOH,

[IprBE3TH XJAONOK Ha baCPHKY .
[IpEXOARTE EFa& JACGKIAHA,

Hpnaéarn 669pynonanne HA Ypda.
Hpnnécrn KEMIH B HIKOJAY,

IlpmBec TR Qaabuuxa x.noxropy.
filprexarTh Ha KYDODT.

[IpmBOCTE WKOABHHKOB B My3sil.

sze;xarb gomoH.
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4

ltem: Prepositions oxoao and y both mean 'near' and 'by? (¥
on the whole tends to express a greater degree of nearness), Their
usage, however, is different, Y used with persons, means not
‘near somebody' but 'at somebody's place,' Therefore both pre-
positions may be used with inanimate nouns to express nearness,
whereas, with animate nouns, only OkoOJI0 will be used in that
sense,

Exercise: Fill in the spaces left blank,choosing the appro-
priate prepositions to express nearness,

1) Croars y (oxoao) oxua, 13) CTOATH ceeee. CTPOXKE.
2) CrosaTs owoa0 cTyzeHTa, 1) " cecese CTPOJOTHHKA,
3) " eeesee BOAH, 15) " cescee OANHH,
L) " ececse MODH, 16) " essese BROCOTHOrO
SAAHRA,,
J) " evecoco JOAKH
17) " seeeee MAARIHBOHODA,
6) " escees JAOROYHHKE, .
18) " ceeeee MARHOTADHS,
7) " eeescece INIPHCTAHH, |
19) " ' seseeee XOKTODA,
8) " seccoe MOCTHKA, :
20) " eceocee NOCETHTOAS,
9) " °c0eceo Mopﬂxéo
' 21) " seeoesee TPAMBAS,
10) " essesee CTARIINHU,
22). " seseee BOAHTONS,
1) . " eecoeo TMAPOBO3A,
23) " sseees BBTOGYCE,
12) " eeccoo XOAOBHO-
JOPOXHAKE , 2i) " eceeeses KOHTPOJEDA,

147



v Item: The prepos;t;on oz may mean several things, as
. be seen from the following examples:

qeuonan IOA KpOBATHL. under the bed
Exy nox naThAGCAT JOT, he'll soon be fifty
10):1° xaayr nox MockBoit, near Moscow

Exerczse° Translate the sentences given below,

1)
2)
3)
L)
5)
6)

7)
8)
9)

10) -

11)
12)
13)
— )
15)

3anacKa nOZ KHArOH,

Komrra mnog CTYJAOM.

Ero ceunss xuBeT nox Mocksoii.
Jlaunna noA aCaXypoMe.

JleTH nMOA HaBeCOM,

MTpOHLANM J6TOM S OTAHXS&A B HHOHODPCKROM Jarepe IOA
JIeEMHIpaAOM .

llon Knenou PacrIoNOXeHH KpacHBHe AaYHHO MeCcTa,.
Ewy nogx. mecrbnecsr.

Sacynyrb ‘TaseTy noxa xypuax.

JiweTpa nOA NMOTOJKOM,

CecTpa GHiaa B caHaTOpHE nmox Tyxo#.

TloanauTs noa wocT.

Mol oTen yYacTBOBaJa B 60six moAa Kypexom,
S5TH Bew# XpamHATCA Yy MEHS MOA 3aMKOM.

OHa BCeeJO ITOXA ero BAHAHHEM,
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6

Item: The preposition Y is currently used after a number of
verbs which all, in one form or another ,have to do with taking
something from somebody, The most frequently used verbs of that
catcgory are GpaTh/B3sTh, OTHEMaTh/OTHATH, ( to take away Y,
IPOCUTH/NONPOCHTS , MOKYNaTh/KYyNUTh, KPACTH/YEDACTSH, saHaAMaThH/3a-
BATBL, Example: . : .

i kynua y Hero kmmry,
This construction, however, is only used with animate nouns,
Cf. '

A KYynRA KHEPY B MarasuHe.

Exercise: In the following sentences insert the structure

called for by the text,

1) 4 Baax amxu (from my brother) y moero 6para.

2) B TpamBae kapmammmx yrpax (from my father) Gymaxumx,
3) Mo#i wemozam yxpaaum (at the R/R depot).

L) Maxpwmuxr oTHaaw mavrr ffram my son),

5) ¥eHa kyumza 3To masBTO (at the department store),

6) Om nompocua (from me) nmars pyGaeil, HO y MeHS He GrEO mp®E cede
AeHer,

7) Hoaroma nasan om samsa (from a friend) cro pPyGae#t m zo cux
IIOp MX He BeDHYJ,

8) CoBeryw Bam samsTe nensrm (from a bank),

9) (From whom) BN xynmam Bam aBTOMOGHID .

10) Om 4acTo GepsT (from me) xumrm IS YTEeHHS,

11) {1 Boax sToT xypHaa (at the library),

12) 1 3ansx Jaomary u rpasam (from my neighbor),

13) HemsBecTHHit Bop yxpaa (from Ivanov) 6mHORJAL m ¢oToanunapar.
14) & xynma sroT cacBaps (from a student),

15) M noxymaeM xmmrum (at our bookstore),.
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Item: The preposition 2a is fairly versatile in meaning

as will be seen from the fonllowing exercise.

Exercise: HKcad and translate the following sentences,

1) eTva CTOMT 33 ZABEDPBLM.

Z) Fa%0TaTb ta LPYTz.
%) OXOTHHK CTOHT T8 HAGDPOEOM.

4) CreasTh yUpazHeHWe® T8 %ac.

5) Pera gg_ayvoi.

6) BunaBaTh ceSa (to pretend to be) sa IHUTOKA.
7) lpuZta g_>uxy}ry Lo liadanla ¥oHUepTa,

%)  BuyMATBCH dACATH F3 MAULKHKE 34 Mecau.

7)  Ta vATY BL LJEATS TOAGCOBATARY

10) IZopora npaxoﬁxr 22 JacHM.

11) LwWlGazzZTs LatoTy S8 HeLGLH L CLUFA.

; ) 12)  llnunzTe 3m HZM MAIAHT.

15f



Item: The multiplicity of meanings expressed by the pfepo;

sition 38 is made evident in the following text where its differ=
ent functions are directly presented,

1)

2)

3)

L)

5)

6)

7)

8)

9)

10)

11)

12)

Exercise: Read and translate the following Russian text,
Curerr 2a croxsom. IlpaTaTses 88 cTogoM,
orosopurs 3a oGezom, CxozmuTey 33 ofezon,
CrosaTs 3a wxapom., IlocaaTs 32 mwxadom,
Cne3ZMTH 3a yumrexew. Harm caenom 3a yumresex,
PasrosapuBars gglqaen. Céerars B xyxmo 3a waen,
llomrmre 3a cexpeTavem. Ow y wae srecs &8 cexpseTapd,
B ovepesu s croaxa sa mum. I rosocopax 8a Hero,

lpuexaTs ma BOKsax 3a wac Ao oTxozxa noesza. Mre yzaxocs
KOHYHATDh BCE 3a uac,

Oz mozxozmam x xacce oAMH Sa Apyrum. OHE wacTo pasorapT
OAMH 3a APYToro,

3a aouom y MOHS MaxeHpREY caz, S yxé BHEc 3agaTox (down
payment) sa znom,

1 nopyumacs (vouched) sa mero., Temeps olepesr 3a HHM,

Hazo cxoawTs B mkony sa zeTsmm. Mos maTh CMOTDHUT 338 ZeThMH,
Xorjga Hac HeT,
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l1tem: The prepositions 3& (in the sense of 'behind,' 'beyond')
and nogl'under' have as their opposites the compound prepo-~
sitions m3-3a (*from behind') and E3=-mox(*from under'? Example:

3a népeaou. - Ha-3a zepeBa.
llon mxad. =  Ha-noz mxada.

Exercise: Change the following Russian phrases according to
the pattern shown above, . -

1) 3a nom. ~ Hs=-3a goma.
2) TDon eTyx. | ...;.............
3) [oxa mocT. cesccssscsssccses
L) 3a xpecaso, tecceesscccanenee
5) 3a kycrT. cossccesccsscssns
6) Ton nuBaH, recesecscsscesece
7) 3a sumxk, cecccccecescscseas
8). llon mxad. | ...;..............
9) 3a yrox gmoua, ceessvscscccsssse
i . 10) 3a capaii, © esessecssssccsvsce
11) Tox cTox. cecessssssssssses
12) 3a aec. : cesssvesssscsescse
13) TIlox ®poBaTh. Ceeeecnseneennoes
1) 3a eTor ceHa, cecescssssansanes

- ( haystack )

15) non RaMeHh. ) L2 BN K B BE BT BE BE BN N 2R 2N 2K N N I J
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Note:
case is used,

ltem:

10

The preposition.gg_also has many uses, as shown in
the examples given below. Im all of them oo requires the dative
case of the noun, ,

MaTr mo kopuzopy,
CnenmanrusmpoBaThes (specialize.hﬂ 0 GHOJAOIHHU,
leficTBoBaTs mo (according to) nxamy,

laTs mo naraxy., (distribute nickels - one to each)

XOAUTH NO MarasuHam. (go shopping)

If the distribution is by more than one unit, the accusative
Example:.

ZaTes no TP¥ xoneiirnm.

Exercise: Using the patterns listed above, make sentences

out o
a, HUarm:
be XoaurTs:

AOCKAa
3eMmast
i1€COK
TpaBa
KaMHK

ZOPOXKa

CONBHUIIH
KAYGH
My3eit
BHC TaBKH

yupexaenus

the elements given below,

AaTm no pocxke,

. O.o.o..o...c..o...‘...

.....Q.Q..C........l..
..000...0......-..0-0.
0.0......00...0...0...

0'.0..0.00.0.‘0....0..

XoZHTE no COXBHALIAM .

.-.0.0.0.00-00000-0000000
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¢, CHOUHAIH3APOBATECSS XHUMHS Cnenuasu3upOBATHCS IO XUVHH,

de

Co

JlelicTBOBaTL: npPHKa3

larn:

@anxa ® o 606060600 5000000000000
uareuama .o.oooo..oooo.c;cooooc
Temorexmna 3 ® ® 0 0060 0000000000000

umxoson‘enne ® 60 0PSO GO OSOGOSISOLIESEOSIOESTOIPOTES

Je#icTBOBATH NO NpEKA3y.

PACHODSIEEHNE  cocovvsocsoscsncanssns

yras

9 00 e 000 00 SEO 0O POOS e

npuxaaame ® & ® 6 0 50 06 OGO OO s SO SOSe

HUCTPYK

3agaHuA

RapaHgaw
pPYGan
TeTpasn

JHCT SyMarg

¢

Im ® ® 6 0000008080909 000890000

JaTy mo rapanzary.

® ® © 0% 9000500060060 00800000
® ® 08 0000480000950 00000¢s0s000

® 8 5 00600000060 0080808008000 00
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ltem: The preposition OO is also used to show the regular
recurrence of an event or of an activity, Example:

51 6u1 B TeaTpe B cyf660Ty. - BCerza xoxy B TeaTp o cyosooTam,

Exercise:
following the

Apply this structure in the following sentences
pattern set for the first item in the column,

1)

2)

1

L)

5)

6)

A 6ur samaT yrpou.
i Bcerpa 3amaT no Yrpau.

Buepa BOI6PDOM MH HI'PaA B KA DTH.

My wacTo mrpaem =B KADTH cecococonsccsoncass

Toomro#t HORBw StrO MRAvzorva,

3mecs Bcerza GHBaGT OPOXJAAAHO ceseccccsoces

B OATHALY B ®WIyCe Gwa Bewep,

&qepa B My6e odmno Gnamr SS90 000 OBP OGS

B cpeny s« 6wr y apyra.

ﬂOGHqu GHBamyHero ...0...............“

B BOCKpeceHbe MH BCE ©3ARAA Ha nasx,

M OGHYHO e3zuM Ha TMNAK eeosscoesccscnscsss

155



12
ltem: The preposition u#3 is often used to show the material
out of which something is made, Example:

Xeses3Hass KpHIS&. Kpuma H3 xeJxe3a.

Exercise a. Change the following constructions ﬁsing the
=Xercise
preposition us,

i)‘ llepc TIHO® MAATHE, LraTre K3 WEPCTH.

2) llexxoBul NAaTOR, cecceseccosccssncncsssoae

3) MpaMmopHas XOXORHE. .7.............;.....,..

l}) CrexxasrHaa Ba3a, cecevsesesssesescsacssnne

5) daphpopoBan uvamedKa,. e

) 6) 3Boaoroit Gpacaer. tececssssescsasssssecene
7) Menmas MOXeTa. ' R R LRLEERERY
8) Koxanaa nepyaTKa, cicoscsesssensannosns e
| 9) Byuaxmaa caadeTKa. cacscevesssssessessoncsen
10) HeilxoHOBHe WyARH, S
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Exercise b. Now replace constructions with #3 with an

ad jectaive,
1) HKpmila u3 mexesa, Xesesnass wpmma,
2) TaxcTyx w3 maxa, R
3) BRasa ms xpycraas. T
) Yyaxn ns mepeTH, cecececcesescrceccses
5) Bpomsr us cepatpa, *esccectcrcccctscacns
6) TMaxsTo us xoxa, *eeceesessecasasenene

7) CrarysTka us DAPPOLRe eceetreesscancrscssnee

8) Crakau us crewmna, S R T,
9) /:5..0!1.“3 Aepena, 0‘000..0.0..00...000-0
10) 3a6°p Ka RaMl;H. ......oo.............
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Item: Prepos:tlons enter into many constructions which are
currently used both in colloquial and literary styles. Some of

them are presented here,

Exercise: Test your command of Russian lexical items by
matching the Russian phrases in column 1 with their English equiva-
lents in column 2, The first item in column 1 has been identified
by placing 'l' in the corresponding parentheses in column 2.

Distractors have been added.

COLUMN 1
1) [pomoavaTh H3 YBSXEHHS.

2) He corsacHThCS K3 NpPHHINNG,

3) OTkasaTscs OT NOMONHA M3
PODAOCCTH.

1) TouMowr U3 COXANOHMUS.

5) ZJoGurEaTbcs 4ero HUGYAL H3
KO ch'rK .

6) TepenyraTs anpec 0O HEOCTO=
POXHOCTH,

7) He sameTnThr TOBapWmna IO
PacCesHHOCTH.

8) - Caexats npocu¥r (error,
miscalculation) no HeONHT-
HOCTH.

9) BaZpPOrHYTH OT OGHAH,

10) BCKPMKHYTH OT BOCTOPIS.

158

COLUMN 2

.out of pride

through inexperience
out of respect

out of borédom

out 6f pity

through absent-

mind edness

as a matter of
principle

out of self

interest

out of 1luck

through recklessness

from rapture

deeply offended



14

1tem: In certain fairly frequent situations the preposition
oI serves to express causality, Example: ' ‘

ConuHi OT ycTaxocTu.

sleepy from fatigue

Exercise: Build up constructions of the above type using the
elements listed below, . . R

1)

3)

L)

5)

6)

7)

8)

9)

10)

11)

12)

Yeraau# - paGoTa
CraGuif - §oas
3ea€nHii - 3aBHCTSH
Moxpuit - noxas
WieaHHY « cTpax
Kpacuuit - cTuz
Xynoii - GoaesHb
Jpoxauah - uenyr
lopaunii = coxnue

Tomuit - roaog -

OGesymepunit - rope

Ycraﬁuﬁ OT padoTH.

A
tsecscesececrcccnsaccsoss
Ceccccescscssscscssccssee
seecssececticiciecininans
eeccccsccsessrsecscscsnns
¢sceccrcccacessecnsccsass
cvecccesecsssreccscsensne
R

@0 0800000000000 0s00ven

Boxvxol! - nepeyromnenme Steeessesessesrnsscennsnae
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ltem: The prepositions OT and A28 are commonly used in con=
nection with medicines and drugs. Or is used when speaking of
a medicine intended to fight an illness, s is reserved for
prescriptions used to restore and preserve health, Example:

JlexapcTBO QT Kamis, but JlekapeTBO AAs yKpenJaeHMs HOPBHOH CHCTEMH.

Exercise: In column 1 are listed various types of medicine
In column 2 are ailments and treatments to which medications are
applicable, Using elements from both of them build sentences
according to the pattern indicated below,

COLUMNI1 COLUMN 2
1) JiexapcTBO - de OOmOE YKpEIieHVe OpIraHmsMa
(nas1 o6mero yrpemseHMNs OpraHMsMa)
- ‘ b. rpunn |
- ¢. AapTpUT
- d. o6xeryexne paGoOTH cepAla
2) MuxcTypa. - A, OGOJ» B ¥OAYAKe
(1iquid medication) (oz Gonu B xexyaxe)
- be yueHmNeHWe fOAM B ecycTaBax
3) Kanum - a, GoJp B ropie
(drops) (oT Goau B ropue)
- be ycnoxoesus HepBOB
L}) Ta6aerkm - a, 3yGHas G6OJb
(or sy6HOii Goam)
- be rosoBHas Goap
- Ce. AapTpur
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COLUMN 1 COLUMN 2

5) Inmoan - 2e¢ rpyAHas xala
(pills) (o rpyanol#t xaou)
- be Hacmopk

- Ce MANOKPOBHO

6) TMopourkn - a, TOJOBHaT 6OJAb
powder) ) (oT roJxoBmo#t Goum)
- be HeBpaxrms
- Ce GOCCOHHENA
7) Masp - 4, DPYKH H JHUO
(ointment) (pas suua m pyx)

- be oxonr

- Ce pailleHHe BOJOC

8) CpeacTBo - 2. wMyxm
(oT Myx)
- be Hacmopr

- Ce PEBMaTH3M
- de. TyGepkyass

- €. pax
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Item: It is interesting to note the structures used in the
Russian language when speaking of the source of letters or other
communications that are:-received, If the source is a person, the
preposition 0T is used, If the source indicated is a physical
place, then the prepositions #3 or ¢ are called for, Examples:

S noaywuax mHEBMO OT 6paTa H3 MockBH, Where institutions are
concerned H3 is the favorite, w1th OT remaining possible in certain

contexts, Examp1e°

fl NOAYYRX OHCHMO u3 l'opcosera - 'from one of the offices'-but,
Sl noxysma GaaroZapHOCTH oT lopcopera -‘'as a body of people’

Exercise: Supply the necessary preposzt1ons and corresponding
cases of nouns,

anbuo - 6par : Mucsmo or 3para.
" - BraauBOCTOXR Ceeececcereccccssssnces
o - Jaxsmmii BocTox ..
" = ZAUPOKTOD CAHKA =  ceccecscsscscscccscnccs
" - S5aH® csscescssecncscecsscss e
- " - JYxpauna R R R R STy
" - Kpmu ""';f"""°""""'

" - @palﬂm.ﬁ ® %0 00600000 cess00es0000e
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n

"

n

1

Kasras

roako# ropo#

ponusEa

ABOXDPOLHAS  COCTPA
dmErHECIOKTOD
MzruceTepeTBO OGoponu
Murmerp O6opomu
fasaﬁcnne OcTpoBa
CTapuit Apyn

IIeTpos

ArHa Hukosaesng
Herpoma

MocxkBa
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Item: The preposition 9T is also used to identify dates of
letters or documents, %xample:

IImcrmo 0T 10-ro HOAGDS. NocTanoBnenue paitkoMa OT 5 mapTa.

Exercise: Coﬁplete the following sentences by supplying the

dates in Russian,

NoarBepxaan (acknowledge)noaywenme Bamero rmciMa of 3 January,

secececescesscscsncccsccee . " 15 December
tecceseccctcsascecccacaces " 9 April
#0ccecrcsccesccscocsccccnce " 28 February
sececscccceccccscccccscanan " 10 May

A R _ 11 23 June
®eecccsescssccscscccscccan ' n 11 July
®scccesrrscccssssscncsccsase n 17 August
®ecccscoscsccceccsssrscccne 1 30 October
R R R R n 31 March
cesccccscecettaccccecacane 1 23 September

-

+ 2 November

@0 06000000000000c0000000000e
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At home translate the following sentences into idiomatic Russian,

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

After ten days in Moscow we are planning to proceed to the
Ukraine and to the Crimea, "

We are sending new machinery and equipment for the plant that -
is being built in the Urals,

Try to get me a window Seat on the plane,
1 bave received a letter from a friend from Leningrad,
1'11 wait for you at the entrance,

Please acknowledge the receipt of my letter of January 10th,

.(item 17)

Do you have any woolen socks in your store?

I keep these things under lock and key, (item 5)

He passed this song off as ﬁis composition, (item 7)

One by one they came up to the speaker, (item 8)

Wwe just got up from the table (dinner table),

In the evening I usually come home very tiréd from work,
My son intends to specialize in biologye.

1 want to ask the doctor to give me something for headaches.
1 cannot agree to it on principle, (item 13)
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UNIT XIIl
PREPOSITIONS -~ PARTICLES
1

Item: The preposition BI is used to express the following
shades of meanings
1, A xynma XHEI'Y 4J9 ToBapHilaé. action beneficial or harmful
KypuTh BpeAHO AJS 3£0POBBSe to somebody or something
2, MH OCTAHOBHJNCH AJAsT OTAHX8e. purpose of action
3. [locyna pag moJoka, use

-Exercise: Read the follow:.ng sentences and determine which
of the above three meanings is expressed in each of them by the
preposition Axs. The first sentence has been identified by placing
number '1' in n the parentheses provided,

1) DToT mucaTesh NHWET KHATH ZAs ZeTeil, (1>
_ 2) $§ npuexax Ha T AAS paéorn‘ HaZ KHEroi, ( )
3) /faBalire Haltiew BarOR AT KYPAUMX. | «( )
L) 5 aTo meaan G718 CBOOro YAOBOJBCTBHA. ( )
5) Tpagun (decanter) yx_a BOZKH. - « )
6) 1 xymmn 5TE UBeTH Aas cBoeit xeuH, | « )

7) § coBeTyn BaM BHIMCATH DPYCCKY IPadeTy AJs |
' NPaKTHKY B YTOHHH, «( )

8) -OTOT yueGHNK CHeNMAABHEO COCTABMAEH AA1 CTYAGHTOB=
HHOCTpaHIeB, ' ( )

9) JoxTop mponmMcaJ MHe HOBOE JEKApCTBO AJS YKPOILIEHHS

BesTeNbHOCTH CepAla. «( )
10) Kpyxka aJxs nuBa. « )
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1)
2)
. 3)
L)

5)

6)

7)

8)

9)

10)

2

1tem: For preposition npz the following current meanings may

be listed;

1. KouxexTuBmsamms cenpcroro - time
xo3aificTBa wHavanacs npu CTanauHe.

2. ggg 3aBO/le 6CTh NGTCKHU caz, place; attached to

3. llpx® xenaHuMu, BH MOPJM GH BH- causality: if you want,
TONHAETD HODMY o then,,, _ .

4, On cxasax 3ToO OpDH MHe,' in my presence

Exercise: Determine which of the above four meanings is

expressed in the sentences listed below.

¥ #Hee Gmua KOMHATA HDH WKOJE,

lIpeapsiBUTE Gnaernlggg Bxoze.

fl 3TO roTOB HNOBTOPHTH IIPE CEMAGTEJSIX.

[leTrep6ypr cTaa c¢roxamueii Poccnn_ggg‘ﬂerpe Baannou,

Ipn BceoGmeil moazepxke 3TO mpeasoxerme yaacTes
OCYUECTBUTD, :

OH cocToan mpu wraGe Bocrmoi Apunu,
Y MeHA HeZOCTaATOYHO ZAeHer npr cete,
PasBenyanne Cranpus npor3ouo npu Xpymese,

pp xopolleM 3SHAKUX MATEMATHKH, 3TOT OK3AMOH HOTPYLHO
BHAODXATbH, .

IpH MHe BO ryiaBe STOI'O YYPEXAEHHS CTOSI apyroi
YS8JO0BOK.,

167

(2)
( )
( )
( )
( )
( )
( )
« )

)
€ )



Item: The preposition npr enters into a good many idiomatic
expressions, some of which are presented here,

Exercise: Test your 'feel' for the Russian language by match-
ing the idiomatic expressions in column 1 with their English equi-

valents in column 2, Distractors have been added,

The first item

in the column has been identified by placing number *1' in the

corresponding parentheses,

. COLUMN 1

1) [Ilpm 49ém xe s TyT?

2) Ona GHaa IODH_CM6PTH.
3) O= ocraxca He npH I¥M.

l4) ~ CnpocmTe ero o6 aTom DpH

cJyuae,

5) § ernsaan 3TO NpA _mepBOi

.BOBMOXHOCTH o

6) ¥ mens B woMyaTe AHEM Tax
TeuBO, YTO NPUXOAKUTCS YHUTATH

JIpY JAMO 6.

168
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COLUMN 2

left out in the cold
it's impossible
when you get a chance

what have I got to do

~with it?

using lamp light
the first chance I get
near death

how do you do it?



ltem: Added to pronouns and adverbs, the particles TO and
HUOYAD create shades of meaning which usually present some diffi-
culties for foreign students, They both invalve a degree of un-
certainty; however, with EHOyZb the degree of uncertainty is much
higher than with TO , The following examples will help to demon-
strate the difference, -

Kro-aubysnr sBommar umme CEerogHs Did anyone (at all) phone me

IO TeXepoHy? today?
Ja, xTO-TO SBOHHMJI, HO He Somebody did call but did not
Ha3BaJ CBOEr'0 HMEeEH, identify himself,

The man who asked the original question had no idea whether any
calls were made or not and the whole matter remains in the realm of
supposition. The answer is that Someone did phone, and the only
problem is that his exact identity remains unknown,

A practical rule, well known to students, is not foolproof but
works in most cases: use IO in statements in present and past
tenses; use EMOyZ® in connection with imperatives and future tenses
of verbs.,
Exercise: In the following sentences insert IC or EHHOYAR
as required by context, :
1) "ME=e HyXHa IPDaKTHKa B YTeHWH, JaiiTe MHEO KaXKYO=sceceo oo PYCCRYD
KHADY, BCE DaBHO Kaxyn.," - "V nuac B KJIy6e MaJo KHUT Ha HHOCTpaH-
HEX #3HKaX. BOH TaM Ha moake erogT KaKH®=cee0000 PYCCKHE KHUIH,

BepxTe Jw6ywo, "

2) "Bam msBecTHO 4T0~ecscesco O CBHCTYyHOBE?"= "3#an Toarko, wTO om
TONOPE XEBET I'Zl0~eeeeveoso IO KneBom, a zpyrwx cmezemuit me

nien, "

3) "DruM xeTom g 0693aTeJbHO XOYY IIOeXaTh KYyZ8~ee00eeeey XOTS H He

PEUMI elle KyZAa HMeHHO, llocTapawes mosywmrs IYTEBKY B Kakoi-
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seess ZOM OTZHXZ Ha UYepHOMODPCHOM NOGepexne,

) "Hro-..... saxozmr = Moe -orcyrerBme?" - “"Raxozmx KEKOH =y 000,

TOXUIOY TOBAPHMN B OCTAaBHI Bay BoOT 3TO TUCEMO,"

5) "W Bac ecTh KaKHO®=~eo0oe IIAHN HA CerOgHAmMHEH Beuep?" - "XKena

®xOET cerogusa BedepoM KaKIX=40e0e CBOEX CTapHX BHAKOMHX 43

Jerwurpaza, "

6) "Mue yxacmo xowercs YCTPOHTBECS YYUTENEM B B3TY WKOIY." - "A By
OHAGT® KOI'O=eeseo TaM?"- "Her, smwnmo g mwxoro He B3Haw, HO y
MOHS ©CTb NpUSITeJb, KOTODHH XOpOomo 3HaeT KOT'O=c000e U3

yuuTenei, "

7) "Ize Pmros?" -"0Ox KyZa=cees JIOT TIOMIACA TOMY HasaZ, HO He
ckasarx xyza." - “"Craxure, wro eMYy BBOHHJY B3 G6aHRa IO KaROMy~

seess CPOYHOMY Zeary.!

8) "Ham AUDEKTOD ¥XO BHAET YTOme0eeo O CAYYHEOHCS ¢ BaMW HOIPHASIT-
HOoeTm?" - "Jla, x COXANLEHND, KTO~.c.e. H3 CJIYKAUMX YXO YCIIOU eMy

paccrasarn, "

9) "A mywmau, ITo yBumxy CypkoBa y Bac cerogus," - "Ia, o 6mur mpm-

DJISNeH, HO IOYeMY=oo00o He IpEmet,"

10) "C mammm zapyrom Koseii OPOABXOZHUT UTO=o0e00 OUSHD CTpaHHOE, S

Aaxe xogy IocoBeTOBATE eMy HOBHﬂaTBCH, He Tepss BPpeMeHH, C

HEAKHM=~e+oes ONHTHHM Bpagem, "
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5

Item: The following excerpts from Lermontov's story *Taman"
provide a good example of tlie concentrated use of the particle To
coupled with pronouns, The author landed in a smuggler's den and
during the night became aware of some strange activities that were
going on there, They did actually take place but, in the dark, he
was not able to understand what exactly it all meant, .

Exercise:.Read the following text observing the part played
in the narrative by the lexical items underlined in each sentence,
1) Om Maxmyx pyxon, ¥ Bce TPOe NPHHAAHCH BHTACKHBATE YTO=-TO H3
JOAKH. 2) BAPYP YTO-TO NOXOXEe HA MNeCHN nopas3nzo Mo#f cayx, .

3) 4§ npmBeTas m B3NJASHYJ B OKHO? KTO=TO BTODHYHO NPOGExaX uguo‘
Hero u Ccxpwicd bor smHaeT KyZa., U4) [lox ummxo#f om mEe xarof-To
ysea. 5) Haxowen oH OCTAaHOBWJICS, GYATO NPHCAYIEBAACH K TOMYy-TO,
IprEces Ha aeuﬁm H IOJOXWZ BO3Je CeCa y3ed. 6) Brapyr 9T0O=%0 WyMHO
yuakao B BOAY; A XBATh 32 HOSC = NHCTOJETA HeT, 7) JiyHa yxe Ka-
Thrace m0 HeGY, M MHE IIOKa3aJO0Ch, YTO KTO=TO B G66A0M CHZOA HA
Gepery., 8) Om uTo-TO mosoxma caemomy B PYKY, npoMoxB®B: "Ha, xymu
cede npsHMKoB" (gingerbread) 9) Caeno# Be& cmaea Ha depery, m

BOT MHe NMOCJHIANOCH ITO=TO NOXOXee Ha puAaHMe (sobbing); cxemoi

MaJbYHK TOYHO nJaaxesa, AOJXT'O, AOJADIO,
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I1tem: The functions performed by the negative particle He
are known well enough not to be enumerated here, It is interesting,
however, to show how a seemingly negative construction can turn out

to be strongly affirmative,

Example: S _corsaceH ¢ BaMm merely

registers agreement, whereas He Mmory He corJacuTics C BaMH means
that your case is so_strong that 1 just have to agree with you.

Exercise: Transform the following sentences in accordance with
the pattern presented above,

1)
2)

3)

7)
. 8)
9)

10)

51 nomor emy.
1 couyBCTBY®O €ro Iopie.
A nprBeTrcTBY 3TO Haqnnaﬁne.
On aBmJaCSH Ha codpaﬁne.
Mx noexaan'k Ponnuu.
MK pouM Ha CHOEKTAKAb,
OHZ nNpuSHAJIR CBOH OIMGKHU,
A naxn emy oinycx.
"~ 51 BO3SPA3UAI eMY.

q maXem O BalleM yXOZe CO CJHYXGH,
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ltem: A combination of Heyero with the infinitive form

of an imperfective verb

imperative.

Example:

p He BpuTe - Hewuero BpaTh.

is very near in meaning to a negative

Don't lie, no use lying.

This structure is fairly frequently used in colloquial Russian

but in some cases doesn't sound too polite and is therefore to be’

used in informal exchanges only,

Exercise: Change the following sentences as suggested above,

1)

2)

3)

L)

5)

6)

7)

8)

9)

10)

He ympsnvbpTecy!
He oTkasuBallTecx!

He crkpomMmuaiire!
(don't be modest)

He oTkaanmsalitTe!
He JeHuUTeOCE!

He Gesnexbawuaiire!
(don't be idle)

He TpaTsTe Bpems Ha
IYCTSIKA ]

He xaayliTecs!

He Baaaalitre B yumuue!
(den't get despondent)

He cxpuTEmuatitTe!
(don't be secretive)
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Item: When absence is stressed, Russians say Ero HeT TaM
instead of Om He TaM... The latter structure requ;res completion

OE He TaM, & B ADYI'oM MecCTe.

Exercise: In the following sentences change *presence' into
tabsence' bearing in mind that in the past tense HeT becomes HE
6ma0 and in the future He OyzeT.

1) Bpas B GoapHENe, : ' Bpaug HeT B GOJXBHHLG.

2) mpTaBmacce. ’.C0.'...0...0'......'.....
3) RHHPK dmam@y. ) .l....C.O.......Q........OOOO
u) T&Tpaﬁb oma Ha crojxe. 0.IOOQ..‘.............QC......

_ | . _ S
5) JYuutear GyZeT B GHOAROTOKE, eeevssscecsscccscsceesscssscns
6) O6pIBAGHMe GHIO Ha CTeHe, esecsessscseccsecscsscsscsescse
7) Ctya oxoso OxHa. ceccssescesscssssscssesensees
¢
8) i{aprua Ha creHe. .Q........'Q...._Q...Q~..O....

9) [podeccop GYAET B JNAGOPATOPHHe ccccccccccccsscocasssrssccccs

10) OH Gm Ha CJWGG. . .6...0......O...‘....“.'...
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Item: The particle Za is a carrier of many meanings, some of
which make it function as a conjunction, Some of them, the most
frequently met with, are listed below,

1. Bu ropopure no-pycexu? Ja, rosopo, (ves)

2. 06 oToM sHaeM TOxBKO BH Za s. (and)

3. OH u3 Moaoamx A8 paHHui, (but)

4. Jla 3apaBeTByeT Apyx6a HapoZoB. (long 1live)

5. Za 3yZAeT Tak, (let it be so)

6, H 5aBTpa yeszaw. [a? A 1 me smar, (is that so?)

Zla nomormre xe ey, (do help - strong request)

-~
[ ]

Exercise: In the following sentences identify the function
of I8 ain each, and then place corresponding numbers in the
parcntheses provided, The first item in the column has been so

identified,
1) Kro Tyza mo#izer? - Bu za . (2)
2) Ilpuraacmx 6u s Bac saiiru, B8 YyXe MO3AHO, )

3) Bu ero shaere?- ZJa, ovens xopomo. ( )

4) Tenepr 6m BrxumrTs CTaraH ropavero yam,za ¢ ( )
JAAMOHYHKOM ,

5) [la 3apaBCTBYHT BOOpYREHRHe CHAN Hameilf erpamm, ( )

6) lZa SAPaBCTBYeT COJHLE, L& CKPOSTCS THMA, ( )
Tiywrxuxn)

7) Bu sHaete HOBOCTB? IleTpoB xeHmICST, - ( )

Ja? A a He 3mau,

8) Maxvumrka raynmii, za k¥ Tomy xe caMoyBepexmxuii, « )
9) Za oTseuaiite xe Ha mo# Bompoc | « )
10) [a samoswmus am TH, HakoHen? : I
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Item: Being a carrier of so many different meanings, the
part;cle 4a is frequently:-a component part of many expre5510ns,
some of them idiomatic,

Exercise: Test your recall and ‘feel' by matching expressions
listed in column 1 with their English equivalents in column 2, to
which distractors have been added. The first item has been 1den-
tofied by placing number 'l' in the appropriate parentheses,

COLUMN 1 COLUMN 2
1) JleH®r Za HCYB = CYTKH IOpPOYb, ( ) she keeps right on
crying
"2) A oHa nxa4eT, Za # TOJABKO, ( ) by the way
3) Jia Hy ero! Heuero ¢ HuM ( ) well done!
cBsisHBaTHC, ‘
4) Ax za, 9y™ GHAC He 3aGHAS ( ) leave him alone

S Kynua Ajas Bac GHJeT,
5) Ja naoHE TH Ha 3TO /160, B ¢ ) forget about it!

6) - Bax xdrna HROYADb Za S5a-
LIATST. ( ) you'll get paid some
day

(1) another day gone
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11
At home translate the following sentences into idiomatic Russian.

1) For whom are these flowers?

2) For what do you need that bottle?

3) Bring me something to eat, 1'm very hungry,

4) He discovered some kind of new drug for head colds,

5) I do hope something will come of it,

6) He couldn't help knowing about what had happened, (item 6)
7) 1 won't be home tomorrow night,

8) It has been established that smoking is bad for the health,
9) Tell me, did anyone see him?

10) There is something missing here,

11) I can't help agreeing with you.T (item 6)

12) There was nobody in the room when 1 came in,

13) No use complaining, It's your own fault., (item 7)

14) There is no point in putting it off, Let's go and see
him at once, (item 7)

15) Only you and I know about it, (item 9)
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UNIT X1V

PARTICLES, PARENTHETICAL WORDS, SENTENCE STRUCTURE
1

ltem: There are several words in Russian(ae, ZecxaTr and
MoJ ) that are used in rendering indirect speech, a message, etc.
They may be translated as ‘he said!' or 'they said.,* They also may
not be translated at all,without in any way changing the meaning
of the sentence, Often classed as colloquialisms they often find
their way into literature,

Exercise: Read the following sentences and translate them
into Englash,
1) B paGoTe ume oTkasanu, KBamduxanmm - Ze He XxBaTaeT,

2) Orex QABrM He cOIJIACHJICS Ha Hally c¢BaAbGy. O06a - Je eme
CJIHIKOM MOJO/AH o

3) 'Hs xoaxosa IlleTpa He OTHycTUIM; nycxail - Ze eme roamk TYT
nopasoTaerT,

It} Horaa npumesewr aomoili, mepeszait, YTO, A6CKaThb, AJOKCAHAD

VBaHOBHY BCOM LULIET TIPHBOT.

5) TIpo Eero roBopsAT, YTO C HUM, AECKATH B KAPTH HI'PATH HE DPEKOMOH=-
AYOTCH o

6) Bece HazewTca Ha Wero, OH, AeckaTb, MacTep HA BCE DYKH.

7) Mec~o moayumn oH, a He . Ox, MOJ, OUHTHeEe,

8) Eumy nmpurposuam apecTOM ,HO OH HE HCIYTaJCS. Pyxn, MoJa, xopoTku!

G) A DH cmpalMBarM Yy HeEro, OTKYZA, MOJM, ¥y BAaC TaKHe GOLbUME LEEbLIH.

10) OH oTkasajca OoTBewaTh Ha BONIPOCH. SHaTh, MOJ, HHYENO HEe B3Hab.
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2

ltem: The word SKOGH is used when the information passed
on by the speaker is mere hearsay and he does not vouch for what
he is saying, It is usually translated into English by ‘'allegedly’
or 'he is supposed to be,' etc. Example: :

Oy sxo6H sHaeT 10 S3HKOR,

Exercise: Introduce the word SKOGH into the following senten-
tences thereby giving them the meaning described abeve.

1) Dromy uesosBexy 160 JaerT. OTOMY YeJOBORY SKOGH 160 JeT.
2) CaBHH pmrparm Kaaeunﬂe ...........'.....C...l....‘..
AGHRIY, .
3) OH Bma}m‘mijca MaTeMaTm. .........................'.._.
4) 3roT Bpaw oTxpmr cpescTsO cecseeccsctccncsesrcactsccsennn
OT paxa,
B 5) Benepa pozunacek m3 MOpexoii esecstseccesstcsrstscesenans
: JIeHH, )

6) Mexay Amepuxoii u EBPOIIO# CYOCT= +ovevveerencoccoconacaness
BOBaJ KOHTHHEHT ATJIAHTHAA.

7) OTo zepeBo mocaxeHo MeTpox L
BasuxuM,

8) B sroffi rocTHHALEe OCTAHARIH- e cceesesesceccscesecncsssenes
BaJicsi Hamouacox,

9) BTO caMoe PachKoe oaepoB ......................"..‘...
MHADE,

10) BTO BepHoe cpeucTEO or .........‘......"......‘.....
HaCMOPKA,
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3 -
item: The particle JE is used in questions not so much in
the spoken as in the written language, This particle is placed

immediately after the word which constitutes the main point of
the question, The critical word is  usually placed first in

the interrogative sentences, Example:

Bx ero -3xaere? - 3HaeTe JU BH 6ro?

Exercise: Change the following interrogative sentences by
introducing the particle JH.

1) Bu 3HAKOMH € arnﬁ Bonpocou?_ JHEGKOMH J¥ BH ¢ 3THUM BOIPOCOM?
2) Jlo ropoza nanexo? e eeeeneeeeeerseecnecaanaaans
3) Bu cJAHIaJAR 3TY HOBOCTB? cecccccscscesesscecsssesosnane
L4} ¥ Bac ecTr pyccrHe KHHDPH? ................'.....'..........

5) mnoﬂqun OTBeT Ha Te‘neppmy? ® 8 5 00 0 0 ¢ 0 0 0O 00O OO OSSN e s e

6) B.-I,v 6yAeTe noua ceponpﬂ Beqepo}‘? ® & 8 & 06 060 0 000 0O OO OO S OO P OSSO LN

7) Bu He 3aezeTe 3a MHOH He 3BaelZeTe JH* BH 38 MHOM
. ceroJius RedYenoM? ceroZins BeYepoMm?
8) Bu He xoTuTe TOHTH ¢ HaM# HA mecesessscecsesecescssscascans
3 -KOHIIepT?
9) Bu He sHaeTe, rze celizac seessescsesssssssecesrsesensosns

-HaXOAATCH 3aBeAYWKA?
10) § mory Bam 3a/aTh OAWH BoOmpoc?
11) Bu 3HAKOMH C JTHM annapaToM?

12) Bu He XOTaTe cTakaH BHHA? teecescseesscessenessesesesens

* This construction with Heé is actually not negative at all
and means 'Would you mind,...' 'Would it be possible for
you eced’ ’
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likely_ ' 'I doubt it!
~ Speaker's doubt about some

l1tem: The particle BpaA au is usually translated 'it is une

and,

Bam BpAA JV yHacTess 3TO
cAeJsaTh,

Exercise: In the following

as may well be guessed, expresses the
thing ever taking place,

Example:

You would hardly be able to
dO it. ° ’

: sentences change categorical
negation to expression of doubt,

As seen from the example given

above, BPAZA Ju mostly comes directly in front of the word with
which it 1s logically connected: '

1)

L)

5)
6)

7)

8)
9)

10)

11)

12)

O He corsacuTcs nerTs Ha
Haileii BevYepHNKe,

3TO He Tax,

By He nailmeTre Takxcm B Taxoil
no3AxHit waec,

OH He 3HaeT Bce NMOAPOGHOCTH
leqa,

NBaHOB BaM He INOMOXeT.
CoGpanne He COCTOUTCS.

Bu He maiinere B 3TOM Mara~ |
SHHO HYXKHYH BaM KHHDI'Y,

S He noliny Ha HTOT KONLepT,
OF HUYero He BH/eJ.

Ha oTo#f JeKUWW BH He YCJHIHe
Te® HUYero WHTepecHOIo,

On HmvYero He 3wWaerT.

JTOT CJ0B&pbH HHKOMY He HYXOH,
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5

Item: The normal word order in a Russian sentence is
practically the same as in English: subject, predicate, object,
Modifiers,if they are ad:jectives, usually precede the word they

modify, Example:

UsBecTHHl upodeccop umraer JOKLIHHA CTYZASOHTAaM,
modifier subject predicate direct object indirect object

The difference between the two languages lies in the fact that
Russian is a highly inflected language and the inflection shows
the role performed by a word in a given sentence, In English
this function is largely left to word order, Word order in
Russian sentences is, therefore, more flexible,

Exercise: Form Russian sentences using elements supplied for
each o? them and adding appropriate linking words, Example:

BpaT, KOHYaTh/KOHYATH, BIV3, FpaT xomuma BTY3 B 1968 roay =
1968, paGoTaTh, aBTOMOGHIb, paGoTaeT Ha aBTOMOGHJABHOM 3aBOZe

saBos, 'opwkuil, pexa Bouara, B l'opproM Ha pere Bouare,

1) H; BYepa, nponaBarb/hponarn, MauvHa, NSTHCOT, PYOab.

2) VYumTeas, NONPABAATH/INONPABHTH, ONKGKH, YYOHHKH, NOAYEDKEBATH/
' NIOXYepPKHYTH, KpacH:ll Kaparzam,

3) Mu, esaurs/exaTs, MocrBa, TallKeHT, 3, CYTKH,

4) 9§, mmuero, smaTs, 3TO Nexno,

.....I.........‘............"...00..‘.......,....‘.....'...l

5) Ceroans, yTpo, IOYTANBOH, IIPMHOCHTH/IPHHECTH, MH, IIHCBHMO,
Apyr, Ypaux,

........'...........'..........'.........l....'.'.............
6) Poros, coSupaThes/co6paThesi, XeHHTHCH, BAOBa, 3, A6TH,

.............I.........‘....O..............Q....‘...O......0..
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7)

8)

11)

12)

13)

L)

15)

A, HyEHO, MOKyNaThH/KYyNUTH, NarsTo (3EMA), mepIATKH (roxa),2,
GpDORE,

o..to.o0.-.n0.00.0......coo0..0.0.0.o.o..000..0-.-..00.......

5, CTPOHTH/MOCTPOHTH, CEOM DyKH, rapax, 2, MaumHa,paAOM,MmoH
LOM, .

......l'...'.C................O.........'....................

Biepa, Beuep, AOXAB, A, HUKYZA&, XOAHTH/HATH.

.'...........l....'.....0....................I...............

On, roBopurs/cxasars, YTO-TO,HeMmenmmi asHK, s HMYero, NOHMMATH/
IIOHSITh,

........................C.‘......'......'....................

f, poxaTs/ypoHHTH, GyTHAKA, nazars/ynacTs, nox, pasémsarses/
Pa3GuThCSH

.O......O.'0..‘............Q...OQQ..Q.............‘..'.'.....

HBaHOL )y HBJAATDCH PYKOBOAUTENb, HAll JUTOPaTYPHHHE Kpyxox,

0o.o-o.loco'o..oo.QO.'...‘.I.'O...O...-00....'.0.'..0.0..0...

Crounua, Beaopycckas CCCP, aBaaATBCA, MHEHCK,

.I..Q...O.l..!...'.....'...........Q.'...'.Ol.................

Xera, s, xoTeThest, exaTs/moexars, EBpoma, Gyxyum# roz.

l.O..'...'."'...-'...'..'........l.".................Q......

TnaBuuit, sazava, mama OpraHu3alusa, ABAITHCS, NOMOMB, XKEPTBH,
BO#tHC .

on.a.oo0.00‘.0.'00'0.000..'.00.0.otolo.l..........o.'......‘.0



Item: The subject in Russian is expressed by several categories
of words, Example: : .

Bpat paGoTaeT Ea 3aBoie. noun

q yqyc£ 3 YHHBODPCUTETE, pronoun
CuTHI roJOAHOTO HEe IOHHMAaeT. - adjective
- CeMepo O/HOTO HE XAYT. numeral
[yJaTh NMOJE3HO AJAS 3AODPOBBSI. infinitive

Subject may also be expressed by combinations of *numeral-noun.’

CTo paGouyx 3a6acCTOBaJAH, MHOTO PadoY#X essvcceo

Exercise: !n the following sentences change the part of speech
expressing the subject according to instructions, Example:

3HaHHe HHOCTPAHHHX SA3HKOB - 3HATb HHOCTPaAHHHE S3HKA

HAOCXOALVMO B Halle BPOMA,. HeoOXOJUMO B HAIIG BPOMS.
noun replaced with
infinitive

a, noun - infinitive

R!Ee}me Bpen){omanoposm. ® 0 6 9 9 0 9 O O O PO O e O OO 0O S OO O e
UTeHHEe KHUD = MOE JwlHMoe tecsessecesessensscsnssnseces
BaHATHUE . :

b. infinitive - noun

.HI'EB.TEBKapTH-onHO KB caMm( .......‘..0.......!....00..
PacIpoCTPaHEHHHX pasBaedYeHuii,

3a60THTHCS! O COMbEO = CBAUOHHES st ececsescsesessvesacsesnecsccnse
O00si3aHHOCTH OTIHa,
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Ce

de

€.

e

h,

noun-ad jective

Hepesosrna "lpaBau" nocsAuena
OYepe IHOR CecCHH BepXOBHONO
Cosera,

KouMuaTa rze Mu oenanm, camas
CBeTJass KOMHATS B ZOMe,

ac jective~noun

CTapHe He cIpaBiadAnTCSI ¢ a3ToM
paéoroii,

Pa0BO}i nocTynma B apuun Beero
HOeZAeJo HA3&M,

noun - pronoun

YesoBOK OHAOT YTO OH cMepTeH,
everyone)

CeMbst elle :He 3HAGT 06 ITOM,
(fiobody in the famity)

pronoun = noun

KTo=-TO yxpas y mensa maasTo,
4TO-TO TaReJ0e ymaxo B

cocezHeil KoMHaTe,
(heavy object)

noun - numeral

H 6yxraarte H ero IOMOWHAK (zABOe)

PadoTasr® Ha1 IOJNOBEM OTYIETOM,

"Y8proBa mrxuna" MHOPMME cumTaeTes

HOCYACTAWBHM YHCJIOM, (13)

numeral - noun

12 MeceleB - ITepHOA OGDPALIOHHT 3eMAU

Boxpyr Coaxua,

CeMb aHe#t mpoumry ouexs GHCTPO.

&
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7

Item: The Russian language abounds in so-called impersonal
constructions, i.e. constructions where there is no grammatical
subject in the required form (nominative case for declinable
words). One of the most typical cases is that involving natural
phenomena, Let us consider the following example:

BeTep caoman 6ep&3ye. ( birch tree
The same thing is currently rendered in Russian as follows:
BeTpoM cJaomano Gepe3y.
This seems to imply that some elemental force had broken the tree
using the wind as an instrument, This particular construction is
often used with regard to natural phenomena, It is never used
. when the action is performed by people or animals,

Note: Do not confuse this construction with bassive constructions
involving passive particles which may be used with all kinds of
subjects.

Exercise: Change the following sentences, introducing the
impersonal construction described above.

1) Bopa pasuwia Geper. Bozo#l pasumzo Geper.
2) Cnep aanopolm (powder) '........Q.'O....l..........
naas3a. ) _
3) Hae#t (frost) mnocepeGpux cecesssessssessesssscsssnssas
. TpPaBYe.
h) Hmb noxpma ncrm Ha ........C.I.‘...............
ZOepeBbsIX.
5) Moxwmsa saxrJaa LOM,. cecsececcececcsessssasscsaces
6)' ynmee AepeBo npnnaamo ....‘...Q....‘...'......‘...
Jaecopy6a. |
7) .I‘pon oramm Mem. ‘..........OQI........{........
8) BORHO nul.iya caemﬁ BeTep. I...........................
(gust of wind)
9) Eyps cBaJauJaa Zepero, eeeesecesesessssssssessesens
10) BosxymHas BOJHa BHORJA Ceeseessseseseeccescsesasnnse

cTerJsa B AOMSE,
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impersonal constructions with th
(neuter) is never used with anim

1)
2)

3)

L)

5)

6)

7)

8)

9)

10)

Item: As has been stated in the preceding exercise the

e verb in the 3rd person singular
ate nouns,

Exercise: Read the following sentences and introduce imper=-
Sonal constructions where it is possible,

Bozma sarommaa nozBaJa,
[loxapHHe BHKAYaTH BOAY.

BosHH BHOPOCHJIM Fa Gaper
cTapoe BeCJO,

PuGaxm nmoYmHWUAR ceTh.
Ilnama oxBaTuJO BECh AOM,.

Jyd nmpoxexTopa ocJaenna
PpetioB,

OcxoJaox cHapsaza pasGma
CTeKJO,

Maspumk pastua GYyTHARY,
Monuas ySmaa mxemnmmy.

Loxap 3anuJ yJAMUIIH,
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inanimate subjects,

9

Item: The impersonal constructions presented in the two
preceding exercises should not be confused with regular passive
constructions formed with the help of past passive participles in
their short form, and which are possible with both animate and

In such constructions the direct object takes

the place of the subject, and the actor functions as an instrument
" of action, Example:

%Eggbuoxpuau HeGO.
60 MOKDPHTO TyvaMH.

active construction
passive construction

Exercise: Change the following sentences according to the
pat terE

1)

2)

3)
L)

5)
6)

7)

9)

10)

given above,

1 Hadax PacoTy.

Coxrne oszapmao (lighted)
XOMHATY o

Cropox samep BOpoOTa. -

KoMuccHss paccMoTpeJa BOIPOC,

Moxap npuBaAEKR OCuWee BHA-
MaHue,

Koxxos nproGpés aBTOMO=-
CRJAb.

Maxsp BHKPaCHJ CTGHH.
Yrnap rpoua OrJayHRSN MOHS,

OTeu nozapuax cectpe $oTO=
ammapaT,

51 xopomo ycEoHMsa TPYAHYI
TeXY . '
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10

Iltem: Passive constructions lend themselves to impersonalization,
Example:

Cuena yxpamexa nBeTamm, = CueHy yxpacuax nBeTamn,

Exercise: Change the structure of the following sentences.
according to the pattern shown above,

1) KOM.’HaTa pa3ZISJIeHa HepePOpOAROﬁ. 900000 ss00000000000000000 00
2) MROJa BHCTpOGHa OKOJO napKa. @0 0000t 0000s00000000008c00ce

3) Penncxa (radiSheS) yxe nocesina. .o-.o-o.ooo-too.ooooooo.ooo;

L) dreua panena. . T A

5) Camoxer oGerpexan. B

6) Toprdexns (briefcase) mogapesn., B S S

7) Bpems moTepsamo. N

8) linmon sazepwan. l tseccccscsesccscsnsencencnens

9) 3epuo BHITpy=mewo, Tectessececceveccecssccsns s
,  ;10) IlpoMorwass 0o6yss BHCymena. et ecscccesecessesevecnsen e
- 11) Iseps oTnepra, B

JUYeCGHUKR BHIAKHH,
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Item:

11

In the sentences of the type presented above (Hamu paccka-

3aJd 06 3TOM.) the agent is implied but not specifically mentioned,

It may be pinpointed,

which would fit the context,

Example:

CBHAGTEJH paccKalaJ® HaM o6 ITOM,

Exerc;se. In the following sentences supply the missing agent

as shown in the example cited above,

This may involve, in Ssome cases, a change in word order,

1)

2)

3)

5)

6)

8)

9) -

10)

1)
12)

B raseTax IMIIyT O HOBHX
ycnexax COBETCHKHX XHBOT-
HOBOZ OB,

Je8HOMY BOBAAPY NPHCHISHT
DHCHMA €0 BCEX KOHIOB
CoBerckoro Cowsa,

CooSmapT 06 OTAMYHOM YpOXae
Ha LOOJAHHG,

OTiia MOCHAANT B KOMAHZAU=
POBKY .

MHOI'O rOBOPAT O 3&NYCKe
HOBOI'O CHYTHHKE& 36MJH,.

Ha xoxxosruif puHOX HNpUBE3AR
MHOT'O JpPYKTOB,

BamM npmnecam nmemmo,

Ha BevepHHKe MeEHS 3aCTaBHJAH
crneThs,

HesaBHO OTKpHAM HOBYDL
KOMETY o

Hecroapro gHeX Haszsan

KoppecnoHzeHTH nmmumyT B raseTax

OCOKpax® KBapTHpPy HBaHOBHX,

MocT yXe IIOCTpPORIAU,

[IpecTynunka 3azepxaiu,
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O HOBHX YyCIeXax COBOTCKHX XHBOT-
HOBOAOB,
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At home translate the sentences gzven below into idiomatic
Russiane.

1) He came here with the alleged purpose of working on a scientific
project, (use SKOOH)

2) 1t is alleged that he is an expert on ba111st1c missiles,
(use SKOGH)

3) Do you have enough money? (use construction with ZH)

4) Wouldn't you like to come and have dinner with us tomorrow,.

5) 1t's doubtful if he'll finish the work on time (use BPHZ i),
6) 1t's doubtful if he'll get well (use BpaA J&H).

In the following sentences replace active constructions with
passive:

7) Mu HanmpaBAM Balle 38sBIGHHEe B MHHHCTOPCTBO HHOCTDAHHHX A6,
8) 4Yro Bac Tak H3yMuUIO?
9) Balle E3BHHEHH® MGHS BIOAHEe YAOBJETBODHRAO,

In the following sentences replace passive constructions with
active ones:

10) OTeu G6mx KpaiiHe B3BOJHOBAH 3THM HSBOCTHOM.

11) /[Bepr ORaa B3JOMAHA HEH3BOCTHHME INPECTYNHHKAMH H AOKYMOHTH
YKpaZeHH,

12) Bamu 6EHXO ymymeHno u3 BHAY OYeHBb BaAXHO® OGCTOSTOXBCTBO,

Translate the follow1ng sentences into English using constructions
shown in exercise 7:

13) The wind tore the roof off the barn,

14) The house was set on fire by lightning.

15) Our basement was flooded by rain,
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UNIT XV

SENTENCE STRUCTURE, DEVIATIONS FROM NORMAL
SEQUENCE OF ELEMENTS IN A SENTENCE

1
Item: . In the field of Russian impersonal sentences the
following structure is often used in questions, It is more often
used in the spoken than in the written language, Example:

Kaxyw KHHI'Yy MHe B3STH? What book am I to take?

_This structure lends itself easily to conversion into the personal
form by the introduction of mory or AoaxeH, whichever is nearest
to the meaning to be conveyed., Example:

"Kaxywo xHEPry s Mory (miam RosxeH) B3aTh?"

Exercise: In the following questions change impersonal
=XEXCADE. . -
constructions into personal ones and vice versa,

1) ¥ xoro uMEe MONPOCHTH pas= ¥ ®oro g ZOJXx6H IOIPOCHUTH
penteHns ? . paszperennt ?

2) Ha KOro OH MOXET HAAEATHCSH? Ha xoro eMy HazesaTbesi?

3) X KoMy ei#f moiitm? et eteeeeccenenenennecncncnans
) C xem Ham mMoroBopRTHL? ..;.....{.....................
5) K roMy s AoJueH O6GpaTHTHCS? ceececssescscasesseccescnsnons
6) Kaxoe CTHXOTBODEHNE OHA JOMKHE .« .eossvccccccscoscsssscconsocses

BHYYHTbL? ‘

7) Kaxyo sazauy Ham pemaTh? C e e eeeteneaenetieeseneaneanaee
8) Komy mHe nmozaTs pamnoprt? e eecesestccccseeaneaeascrnaca

9) Karoe couMHeHHe MM HANACATSH? teescssescsescsstssscscssennens

10) Ha KAKOE YHCJO MH MONKEOM BAIIIA= o o s o s e e s s oscencesescscenenens
HAPOBATEL JLCKYpCHDO?

11) KoMy s ZOJXeH cAAaTh ASHUBIH? ceessesrscssobsessesnensnsanes

12) C xeM MHe NOCOBETOBATHCS IO 3ITOMY
neay? . h ® © 6 & % & 5 ¢ 650 O O L AT O OO L I SO LN SOt Lo
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Item: The construction currently used by Russians in ever